Supporting Information

Lossen Rearrangement vs C-N Reductive Elimination enabled
by Rh(lll)-Catalyzed C—H Activation/Selective Lactone
Ring-Opening: Chemodivergent Synthesis of Quinolinones and

Dihydroisoquinolinones
Mengyao Bian,®Hamdulla Mawjuda, ®Hui Gao, Huiying Xu, Zhi Zhou" and Wei Yi"

The Fifth Affiliated Hospital, Key Laboratory of Molecular Target & Clinical Pharmacology and
the State Key Laboratory of Respiratory Disease, School of Pharmaceutical Sciences, Guangzhou
Medical University, Guangzhou, Guangdong 511436, China

" E-mail: zhouzhi@gzhmu.edu.cn and yiwei@gzhmu.edu.cn


mailto:yiwei@gzhmu.edu.cn
mailto:yiwei@gzhmu.edu.cn

Table of Contents

I € 11 1< v: 1 OO S3
Il.  Experimental Information and Characterization Data..............c.coovviiiiiviiiiininininiininn S3

I1l. X-Ray Crystallographic Data............c..oieiniiiiiiii s e e a1 020930

IV. Experimental Mechanistic StUIES. .........coviiiiiiiii e S32
V. Computational Mechanistic StUIES. ..........c..oviiiiiiiii e, S36
Vo RO CIONCES. .ttt Vryryesseeeens S95
VII. Copies of 'H, 3C and "2F NMR SPECtra.............ccocreeeereeceeeeeseeeeeesseesnecesseeeneee s eyyyy1eennn 97



I. General

NMR spectra were recorded on JEOL 400 NMR (*H 400 MHz; *C 100 MHz) in
either CDCI3, DMSO-ds or CD30D. Abbreviations for data quoted are s, singlet; brs,
broad singlet; d, doublet; t, triplet; dd, doublet of doublets; m, multiplet. The residual
solvent signals were used as references and the chemical shifts converted to the TMS
scale (04 = 7.26 ppm, d¢c = 77.16 ppm; DMSO: 6y = 2.50 ppm, 6¢c = 39.52 ppm;
CD30D: 6y = 3.31 ppm, 6c = 49.00 ppm). Mass spectra and high-resolution mass
spectra were measured on an agilent TOF-G6230B mass spectrometer and
Thermo-DFS mass spectrometer. Infrared spectra were obtained on a Nicolet 6700
FT-IR instrument. Thin-layer chromatographies were done on pre-coated silica gel 60
F254 plates (Merck). Silica gel 60H (200-300 mesh) and preparative TLC (200x200
mm, 0.2-0.25 mm in thickness) manufactured by Qingdao Haiyang Chemical Group
Co. (China) were used for general chromatography. [Cp*IrCl;],, [Cp*RhCl,], and
[Ru(p-cymene)Cl,], were purchased from Aldrich and used without further
purification. Substrates aromatic or vinylic amides®! and methyleneoxetanones™ were
synthesized according to published procedures. Other chemicals were purchased from
commercial suppliers and were dried and purified when necessary. No attempts were

made to optimize yields for substrate synthesis.

1. Experimental Information and Characterization Data

Synthesis of substituted methyleneoxetanones:

Grubb's catalyst

~ o (Il generation) 0

+

R j/:K/ DCM, reflux, 12 h %
Bn R Bn

2a

The substituted methyleneoxetanones were synthesized according to a known
procedure:>* The olefin cross partner (1.5 equiv) was added to a solution of
methyleneoxetanone 2a (1 equiv) under N, in DCM (0.4 M). Catalyst (0.05 equiv)
was added and the resultant solution was heated at reflux for 12 h. Afterwards, the

solution was cooled and concentrated, and the brown residue was purified by flash

3



chromatography on silica gel to give the desired product.

(2)-3-benzylidene-4-phenethyloxetan-2-one (2f)

0
V
Ph

This compound was obtained in 35% yield (92.4 mg) as a light yellow solid. Eluent:

PE/EA=10/1, R¢=0.5.

'H NMR (400 MHz, CDCl3): & 7.90 (dd, J = 7.3, 2.0 Hz, 2H), 7.44-7.38 (m, 3H),
7.34-7.29 (m, 2H), 7.26-7.21 (m, 3H), 6.38 (s, 1H), 4.99-4.93 (m, 1H), 2.98-2.88 (m,
1H), 2.86-2.78 (m, 1H), 2.27-2.19 (m, 2H).

3Cc NMR (100 MHz, CDCl3): 6 163.1, 140.5, 135.5, 133.7, 133.0, 130.8, 130.4,
129.0, 128.8, 128.6, 126.5, 77.5, 35.7, 31.1.

HRMS (ESI) calculated for C1gH;70, ([M+Na] *): 287.1043; found: 287.1039.

(2)-3-hexylidene-4-phenethyloxetan-2-one (29)

o}
o
7
Ph

This compound was obtained in 70% yield (180 mg) as a colorless oil. Eluent: PE/EA

=10/1, Rf= 0.5.

'H NMR (400 MHz, CDCls): & 7.30 (t, J = 7.4 Hz, 2H), 7.24-7.17 (m, 3H), 5.74 (t, J
= 8.0 Hz, 1H), 4.85 (t, J = 6.2 Hz, 1H), 2.88-2.70 (m, 2H), 2.46 (q, J = 7.5 Hz, 2H),
2.16-2.09 (m, 2H), 1.48-1.39 (m, 2H), 1.35-1.25 (m, 4H), 0.89 (t, J = 7.8 Hz, 3H).

3C NMR (100 MHz, CDCls): 8 164.1, 140.5, 137.2, 136.9, 128.7, 128.5, 126.4, 77.8,
35.6, 31.2, 31.0, 29.0, 28.6, 22.5, 14.1.

HRMS (ESI) calculated for C17H230, ([M+Na] *): 281.1512; found: 281.1508.

Optimization studies:
The mixture of N-acetoxybenzamide or N-pivaloyloxybenzamide (0.1 mmol, 1.0

equiv), methyleneoxetanone 2a (0.1 mmol, 1.0 equiv), [Cp*RhCl;], (2.5 mol %),

4



additive (1 equiv) and base (1 equiv) in the solvent (1.0 mL) was stirred in a sealed
tube at room temperature for 12 h without exclusion of air or moisture. Afterwards,
the mixture was diluted with EA, transferred to a round-bottom flask and concentrated.
The crude product was analyzed by *H-NMR with 1,3,5-trimethoxylbenzene as an

internal standard.

Table S1 Reaction Conditions Screening®

o) o [CPRAClzl, (2.5 mol %) H 5 0
dNHOR . )tOK/ base (1 equiv) @;Z/\ . NHCOZMe
solvent, rt, 12 h Bn
H Bn 0CO,Me Bn
1a 2a 3a 4aHO
'H-NMRYield (%)
Entry R Base Additive Solvent
3a 4a
1 Ac CsOAc - MeOH 27 26
2° Ac CsOAc - EtOH 36 43
3 Ac CsOAc - TFE n.d.
4 Ac CsOAc - CH4CN n.d.
5 Ac CsOAc - dioxane n.d.
6 Ac CsOAc - THF n.d.
7 Ac CsOAc - DCE n.d.
8 Ac CsOAc - HFIP n.d.
9 Ac CsOAc - ‘BUOH n.d.
10 Ac NaOAc - MeOH 46 10
11 Ac AgOAcC - MeOH 40 n.d.
12 Ac CsOAc - MeOH 44 15
13 Ac KO'Bu - MeOH 28 10
14 Ac KOPiv - MeOH 51 11
15 Ac Zn(OAc), - MeOH 36 n.d.
16 Ac Cu(OAc), - MeOH n.d. n.d.
17 Ac K,HPO, - MeOH n.d. n.d.
18 Ac KH,PO, - MeOH n.d. n.d.
19 Ac KOPiv HOACc (1 equiv) MeOH 70 18
20 Ac KOPiv 4A MS (20 mg) MeOH 46 14
21 Ac KOPiv Amberlite IRA-400 MeOH 56 16
22 Ac KOPiv Amberlite IR-120 MeOH 48 14
23 Ac KOPiv HCOOH (1 equiv) MeOH 37 10
24 Ac KOPiv CF3;COOH (1 equiv) MeOH n.d. n.d.
25 Ac KOPiv PivOH (1 equiv) MeOH 32 n.d.

26° Ac KOPiv HOAC (1 equiv) MeOH 50 11

5



27 Ac KOPiv HOAcC (1 equiv) MeOH 36 23

28° Ac KOPiv HOAC (1 equiv) MeOH <5 <5
29 Ac KOPiv Pyridine (1 equiv) MeOH <5 <5
30" Ac KOPiv CBZ-leucine (0.2) MeOH 35 15
31" Ac KOPiv PAA-1 (0.2) MeOH 37 16
32" Ac KOPiv PAA-2 (0.2) MeOH 32 15
33" Ac KOPiv PhsP (0.2) MeOH 24 7

34" Ac KOPiv Phosphine-1 (0.2) MeOH n.d. n.d.
35 Piv NaOAc - MeOH 39 55
36 Piv AgOAcC - MeOH 37 n.d.
37 Piv CsOAc - MeOH 38 51
38 Piv tBuKO - MeOH 26 41
39 Piv KOPiv - MeOH 42 54
40 Piv Zn(0OAc), - MeOH 22 32
41 Piv Cu(OAc), - MeOH n.d. n.d.
42 Piv K,HPO, - MeOH 22 53
43 Piv KH,PO, - MeOH n.d. n.d.
44 Piv KsPOy - MeOH n.d. 54
45 Piv NaOAc 4A MS (20 mg) MeOH 33 36
46 Piv NaOAc Amberlite IRA-400 MeOH 37 47
47 Piv NaOAc Amberlite IR-120 MeOH 30 37
48 Piv NaOAc HOAC (1 equiv) MeOH 35 41

0 o\_
R gzzgsgiﬂiyclohexyl ©:1<‘<N \ or FSC@POCF3
Cp*®":R=Bn _>T

O O
EtO,C CO,Et
2 ﬁ 2 oH
N :‘ CF3
Cp*E ‘>; phosphine-1

PAA2 O
®Reaction Conditions: 1 (0.1 mmol), 2a (0.1 mmol), [Cp*RhCl,], (2.5 mol %), base (1lequiv) and
additive in the solvent (0.1 M) at room temperature for 12 h under air, "H-NMR yields were
reported by using 5.6 mg of 1,3,5-trimethoxylbenzene as an internal standard. "The corresponding
ethyl ester was detected. [Cp “YRhCl,], was used as the catalyst. °[Cp ®"RhCl,], was used as the
catalyst. °[Cp RhCl,], was used as the catalyst. HOAc (1 equiv) was added as the additive. n.d.:
not detected.

General procedure A:

[CP*RhCly], (2.5 mol %)

(0] KOPiv (1 equiv) _ H 0
X NHOAC o HOACc (1 equiv) R
1 2
R + _ — R
N4 R2 ROH, tt, 12 h

1 2 3 OCO,R

The mixture of N-acetoxybenzamide 1 (0.2 mmol, 1.0 equiv), methyleneoxetanones

6



2 (0.2 mmol, 1.0 equiv), [Cp*RhCl,], (2.5 mol %), HOAc (0.2 mmol, 1.0 equiv) and
KOPiv (0.2 mmol, 1.0 equiv) in the alcoholic solvent (2.0 mL) in a sealed tube was
stirred at room temperature for 12 h without exclusion of air or moisture. Afterwards,
the solvent was removed with the reduced pressure and the crude product was purified

by preparative TLC to afford the corresponding products 3.

Characterization of products:

methyl (1-(2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate (3a)

0CO,Me

This compound was obtained in 68% yield (45.8 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.4.

'H NMR (400 MHz, DMSO-ds): & 9.40 (s, 1H), 8.21-8.18 (m, 1H), 7.51-7.48 (m,
1H), 7.45-7.39 (m, 1H), 7.34-7.26 (m, 4H), 7.24-7.18 (m, 2H), 7.00 (s, 1H), 5.15-5.09
(m, 1H), 3.67 (s, 3H), 2.89-2.69 (m, 2H), 2.35-2.23 (m, 1H), 2.18-2.05 (M, 1H).

3C NMR (100 MHz, DMSO-dg): & 163.0, 154.9, 140.8, 137.1, 135.1, 131.0, 129.5,
129.4,128.41, 128.35, 126.3, 126.0, 125.1, 124.8, 77.5, 51.9, 34.9, 30.2.

HRMS (ESI) calculated for CyH1oNNaO, ([M+Na] *): 360.1206; found: 360.1199.

1-(6-methoxy-2-ox0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
(3b)

~ % Ph

0CO,Me

This compound was obtained in 50% yield (36.7 mg) as light yellow oil. Eluent:
DCM/PE =7/1,R¢=0.3.



'H NMR (400 MHz, DMSO-dg): & 9.17 (brs, 1H), 7.89 (d, J = 2.9 Hz, 1H), 7.34-7.25
(m, 5H), 7.23-7.18 (m, 1H), 7.02 (dd, J = 8.9, 3.0 Hz, 1H), 6.94 (d, J = 1.5 Hz, 1H),
5.13 (ddd, J = 7.7, 4.3, 1.3 Hz, 1H), 3.78 (s, 3H), 3.63 (s, 3H), 2.86-2.71 (m, 2H),
2.34-2.23 (m, 1H), 2.18-2.05 (m, 1H).

3¢ NMR (100 MHz, DMSO-dg): & 163.0, 156.4, 155.3, 140.8, 135.3, 130.3, 129.5,
128.4,128.3,128.2, 127.4, 126.0, 117.7, 113.0, 77.5, 55.3, 51.8, 34.8, 30.2.

HRMS (ESI) calculated for C,1H2:NNaOs ([M+Na] *): 390.1312; found: 390.1311.

methyl (1-(6-methyl-2-o0x0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate
(3c)

ZT

0
_ Ph
0CO,Me

This compound was obtained in 63% vyield (44.2 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.4.

'H NMR (400 MHz, DMSO-dg): & 9.26 (brs, 1H), 8.01 (d, J = 1.7 Hz, 1H), 7.35-7.26
(m, 5H), 7.25-7.17 (m, 2H), 6.95 (d, J = 1.5 Hz, 1H), 5.11 (ddd, J = 7.7, 4.4, 1.4 Hz,
1H), 3.63 (s, 3H), 2.86-2.70 (M, 2H), 2.34-2.23 (m, 4H), 2.16-2.04 (m, 1H).

3C NMR (100 MHz, DMSO-dg): 6 162.9, 155.0, 140.8, 134.9, 134.7, 134.0, 131.7,
129.6, 129.5, 128.4, 128.3, 126.0, 125.2, 77.4, 51.8, 34.9, 30.2, 20.5.

HRMS (ESI) calculated for C;H1NNaO, ([(M+Na] *): 374.1363; found: 374.1360.

1-(6-ethyl-2-ox0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate (3d)

0CO,Me

This compound was obtained in 61% vyield (44.5 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.5.



'H NMR (400 MHz, DMSO-ds):  9.27 (brs, 1H), 8.08 (d, J = 1.9 Hz, 1H), 7.37-7.30
(m, 2H), 7.30-7.24 (m, 4H), 7.22-7.17 (m, 1H), 6.96 (d, J = 1.4 Hz, 1H), 5.17-5.06 (m,
1H), 3.64 (s, 3H), 2.85-2.71 (m, 2H), 2.60 (q, J = 7.6 Hz, 2H), 2.35-2.23 (m, 1H),
2.17-2.04 (m, 1H), 1.20 (t, J = 7.6 Hz, 3H).

3¢ NMR (100 MHz, DMSO-dg): 6 163.0, 155.0, 140.8, 140.3, 134.9, 134.8, 130.6,
129.7,128.4,128.3, 126.4, 126.0, 125.3, 77.4,51.8, 34.9, 30.2, 27.6, 15.3.

HRMS (ESI) calculated for C,,H2sNNaO4 ([M+Na] *): 388.1519; found: 388.1515.

1-(6-(tert-butyl)-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl

H
N__O
X@I{\/Ph
OCO,Me

This compound was obtained in 58% vyield (45.8 mg) as light yellow oil. Eluent:

carbonate (3e)

DCM/PE = 7/1, R¢ = 0.55.

'H NMR (400 MHz, DMSO-ds): & 9.30 (brs, 1H), 8.32 (d, J = 2.2 Hz, 1H), 7.44 (dd,
J =85, 2.3 Hz, 1H), 7.36 (d, J = 8.5 Hz, 1H), 7.31-7.25 (m, 4H), 7.21-7.16 (m, 1H),
6.98 (d, J = 1.1 Hz, 1H), 5.15-5.08 (m, 1H), 3.65 (s, 3H), 2.85-2.72 (m, 2H),
2.34-2.24 (m, 1H), 2.16-2.06 (m, 1H), 1.29 (s, 9H).

3C NMR (100 MHz, DMSO-dg): & 163.1, 155.0, 147.4, 140.8, 134.7, 134.6, 129.8,
128.4,128.4, 128.2, 128.14, 128.07, 126.4, 126.0, 125.9, 125.0, 77.4, 51.9, 35.0, 34.4,
31.0, 30.2.

HRMS (ESI) calculated for Co4HsNNaO, ([M+Na] *): 416.1832; found: 416.1825.

1-(6-fluoro-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
(3f)

ZT

o

0OCO,Me




This compound was obtained in 49% vyield (34.8 mg) as light yellow oil. Eluent:
DCM/PE = 7/1, R = 0.5.

'H NMR (400 MHz, DMSO-d): 6 9.37 (s, 1H), 8.03 (dd, J = 10.1, 3.0 Hz, 1H), 7.46
(dd, J = 8.9, 5.5 Hz, 1H), 7.34-7.26 (m, 5H), 7.24-7.17 (m, 1H), 6.95 (t, J = 1.4 Hz,
1H), 5.15 (ddd, J = 7.8, 4.4, 1.4 Hz, 1H), 3.65 (s, 3H), 2.85-2.71 (m, 2H), 2.35-2.26
(m, 1H), 2.20-2.06 (m, 1H).

3C NMR (100 MHz, DMSO-dg): & 162.8, 158.7 (d, J = 240.4 Hz), 155.0, 140.8,
136.5, 133.6, 128.4, 128.3, 127.5, 126.0, 117.9 (d, J = 22.6 Hz), 115.1 (d, J = 24.1
Hz), 77.7,52.0, 34.7, 30.1.

YF NMR (376 MHz, DMSO-dg): & -114.4.

HRMS (ESI) calculated for CooH1sFNNaO, ([M+Na] *): 378.1112; found: 378.1108.

1-(6-chloro-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
(39)

cl
0OCO,Me

This compound was obtained in 52% vyield (38.6 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.5.

'H NMR (400 MHz, DMSO-dg): & 9.48 (brs, 1H), 8.22 (d, J = 2.4 Hz, 1H), 7.54-7.46
(m, 2H), 7.33-7.26 (m, 4H), 7.22-7.17 (m, 1H), 6.95 (d, J = 1.5 Hz, 1H), 5.13 (ddd, J
= 7.8, 4.3, 1.4 Hz, 1H), 3.66 (s, 3H), 2.85-2.71 (m, 2H), 2.35-2.25 (s, 1H), 2.18-2.06
(m, 1H).

BC NMR (100 MHz, DMSO-dg): 6 162.8, 154.7, 140.8, 136.5, 136.0, 130.5, 128.7,
128.41, 128.35, 128.2, 128.0, 126.5, 126.0, 77.7, 52.0, 34.7, 30.1.

HRMS (ESI) calculated for CoH1gCINNaO,4 ([M+Na] *): 394.0817; found: 394.0818.

1-(6-bromo-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
(3h)

10



0OCO,Me

This compound was obtained in 56% yield (46.5 mg) as light yellow oil. Eluent:
DCM/PE =7/1, Rf=0.4.

'H NMR (400 MHz, DMSO-dg): 5 9.47 (brs, 1H), 8.36 (d, J = 2.4 Hz, 1H), 7.59 (dd,
J =87, 2.4 Hz, 1H), 7.47 (d, J = 8.7 Hz, 1H), 7.35-7.25 (m, 4H), 7.23-7.17 (m, 1H),
6.94 (d, J = 1.5 Hz, 1H), 5.13 (ddd, J = 7.8, 4.4, 1.4 Hz, 1H), 3.67 (s, 3H), 2.82-2.75
(m, 2H), 2.38-2.23 (m, 1H), 2.19-2.06 (m, 1H).

3¢ NMR (100 MHz, DMSO-dg): 6 162.9, 154.7, 140.8, 136.4, 133.4, 131.6, 128.40,
128.35, 128.0, 127.8, 126.7, 126.0, 116.7, 77.7, 52.0, 34.7, 30.2.

HRMS (ESI) calculated for CoH;sBrNNaO, ([M+Na] *): 438.0311; found: 438.0308.

methyl (1-(2-oxo-6-phenyl-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate
(3i)

ZT

(0]
Pz Ph

0CO,Me

This compound was obtained in 62% vyield (51.2 mg) as light yellow oil. Eluent:
DCM/PE =5/1, R¢=0.7.

'H NMR (400 MHz, DMSO-ds): & 9.47 (brs, 1H), 8.52 (d, J = 2.1 Hz, 1H), 7.79-7.68
(m, 3H), 7.60 (d, J = 8.5 Hz, 1H), 7.49 (t, J = 8.0 Hz, 2H), 7.37 (t, J = 7.3 Hz, 1H),
7.34-7.27 (m, 4H), 7.23-7.17 (m, 1H), 7.07 (d, J = 1.3 Hz, 1H), 5.19-5.12 (m, 1H),
3.69 (s, 3H), 2.88-2.73 (M, 2H), 2.38-2.26 (m, 1H), 2.20-2.10 (m, 1H).

¥C NMR (100 MHz, CDCl3): 6 163.2, 155.0, 140.4, 139.6, 138.6, 137.2, 134.8,
129.8, 129.2, 129.04, 129.01, 128.8, 128.7, 128.6, 128.2, 127.7, 127.1, 126.9, 126.6,
77.7,52.9, 35.6, 31.0.

HRMS (ESI) calculated for CosHsNNaO, ([M+Na] *): 436.1519; found: 436.1518.

11



1-(6-cyano-2-o0xo0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
3J)

NC
0CO,Me

This compound was obtained in 32% vyield (23.2 mg) as white solid. Eluent: DCM/PE
=8/1, Rf=0.4.

'H NMR (400 MHz, DMSO-dg): & 9.79 (brs, 1H), 8.43 (d, J = 1.6 Hz, 1H), 7.90-7.80
(m, 2H), 7.34-7.26 (m, 4H), 7.23-7.17 (m, 1H), 7.03 (d, J = 1.5 Hz, 1H), 5.15 (ddd, J
=7.7,4.4,1.2 Hz, 1H), 3.70 (s, 3H), 2.87-2.70 (m, 2H), 2.37-2.26 (m, 1H), 2.21-2.08
(m, 1H).

3C NMR (100 MHz, DMSO-dg): 5 162.8, 154.2, 141.2, 140.8, 137.5, 133.9, 133.7,
128.43, 128.38, 127.4, 126.1, 125.2, 123.8, 118.4, 106.2, 77.9, 52.3, 34.6, 30.2.
HRMS (ESI) calculated for C,1H1sN,NaO4 ([M+Na] *): 385.1159; found: 385.1153.

methyl (1-(7-methyl-2-o0x0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate
(3Kk)

0CO,Me

This compound was obtained in 51% yield (35.8 mg) as white solid. Eluent: DCM/PE
=8/1,R¢=0.7.

'H NMR (400 MHz, DMSO-dg): & 9.33 (brs, 1H), 8.12 (d, J = 8.1 Hz, 1H), 7.34-7.25
(m, 5H), 7.22-7.17 (m, 1H), 7.06 (dd, J = 8.1, 1.5 Hz, 1H), 6.95 (d, J = 1.3 Hz, 1H),
5.09 (ddd, J = 7.7, 4.3, 1.3 Hz, 1H), 3.66 (s, 3H), 2.85-2.71 (m, 2H), 2.31 (s, 3H),
2.30-2.22 (m, 1H), 2.15-2.04 (m, 1H).

B3C NMR (100 MHz, DMSO-de): & 163.1, 154.9, 141.2, 140.8, 137.1, 133.9, 129.5,
129.3, 128.41, 128.35, 126.0, 125.8, 125.5, 123.7, 77.4, 51.9, 35.0, 30.2, 21.1.

HRMS (ESI) calculated for Ca1H2NO4 ([M+H] *): 352.1543; found: 352.1533.

12



1-(7-chloro-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl carbonate
30

ZT

Cl
Z Ph

0CO,Me

This compound was obtained in 45% vyield (33.3 mg) as white solid. Eluent: DCM/PE
=8/1,R¢=0.7.

'H NMR (400 MHz, DMSO-dg): & 9.57 (brs, 1H), 8.15 (d, J = 8.6 Hz, 1H), 7.63 (d, J
= 2.2 Hz, 1H), 7.34-7.25 (m, 5H), 7.23-7.17 (m, 1H), 6.97 (d, J = 1.4 Hz, 1H), 5.12
(ddd, J = 7.8, 4.3, 1.4 Hz, 1H), 3.68 (s, 3H), 2.87-2.70 (m, 2H), 2.36-2.24 (m, 1H),
2.17-2.05 (m, 1H).

3C NMR (100 MHz, DMSO-dg): 6 162.9, 154.6, 140.8, 138.5, 135.7, 134.9, 130.9,
128.4,128.3, 128.2, 126.1, 124.5, 124.4, 123.9, 77.7, 52.1, 34.8, 30.2.

HRMS (ESI) calculated for CyH;sCINNaO, ([M+Na] *): 394.0817; found: 394.0815.

methyl (1-(8-methyl-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate
(3m)

0CO,Me

This compound was obtained in 37% vyield (26.0 mg) as light yellow oil. Eluent:
DCM/PE =7/1,R¢=0.5.

'H NMR (400 MHz, DMSO-dg): 5 9.05 (brs, 1H), 8.09 (d, J = 7.6 Hz, 1H), 7.34 (t, J
= 7.5 Hz, 2H), 7.30-7.25 (m, 4H), 7.23-7.18 (m, 1H), 6.95 (s, 1H), 5.16-5.11 (m, 1H),
3.63 (s, 3H), 2.84-2.69 (M, 2H), 2.33-2.23 (m, 1H), 2.20 (s, 3H), 2.17-2.02 (m, 1H).
BC NMR (100 MHz, DMSO-dg): 6 162.9, 155.0, 140.8, 136.2, 135.5, 135.4, 132.7,
130.3, 130.1, 128.4, 128.3, 127.1, 126.6, 126.1, 77.5, 52.0, 34.8, 30.1, 17.9.

HRMS (ESI) calculated for C21H2:NNaO4 ([M+Na] *): 374.1363; found: 374.1363.

13



1-(7-methoxy-6-methyl-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl  methyl

carbonate (3n)

0CO,Me

This compound was obtained in 31% vyield (23.6 mg) as light yellow oil. Eluent:
DCM/PE =5/1, R¢=0.4.

'H NMR (400 MHz, DMSO-dg): 6 9.36 (brs, 1H), 8.11 (s, 1H), 7.33-7.25 (m, 4H),
7.22-7.17 (m, 1H), 7.07 (s, 1H), 6.89 (d, J = 1.2 Hz, 1H), 5.10-5.02 (m, 1H), 3.80 (s,
3H), 3.65 (s, 3H), 2.85-2.71 (m, 2H), 2.31-2.22 (m, 1H), 2.12 (s, 3H), 2.11-2.00 (m,
1H).

3C NMR (100 MHz, CD;0OD): & 165.2, 161.4, 157.6, 142.2, 137.9, 133.6, 132.6,
130.1, 129.6, 129.5, 129.3, 127.2, 125.4, 78.7, 56.0, 53.0, 36.8, 31.9, 15.9.

HRMS (ESI) calculated for C2H;sNNaOs ((M+Na] *): 404.1468; found: 404.1472.

1-(6-bromo-7-chloro-2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl methyl

carbonate (30)

H
Cl N__O

0OCO,Me

This compound was obtained in 37% vyield (33.2 mg) as light yellow oil. Eluent:
DCM/PE =8/1, R¢=0.7.

'H NMR (400 MHz, DMSO-dg): & 9.62 (brs, 1H), 8.50 (s, 1H), 7.83 (s, 1H),
7.35-7.25 (m, 4H), 7.22-7.16 (m, 1H), 6.94 (d, J = 1.5 Hz, 1H), 5.13 (ddd, J = 7.8, 4.4,
1.4 Hz, 1H), 3.68 (s, 3H), 2.85-2.71 (M, 2H), 2.36-2.24 (m, 1H), 2.18-2.08 (m, 1H).
B3C NMR (100 MHz, DMSO-dq): & 162.8, 154.5, 140.7, 137.6, 137.0, 134.6, 133.7,
128.41, 128.36, 126.9, 126.1, 125.8, 125.4, 116.3, 77.8, 52.2, 34.6, 30.2.

HRMS (ESI) calculated for CyHi;BrCINNaO,; ([M+Na] *): 471.9922; found:

14



471.9925.

methyl (1-(2-oxo-1,2-dihydrobenzo[g]quinolin-3-yl)-3-phenylpropyl) carbonate

(3p)
|
S eI

0CO,Me

This compound was obtained in 34% vyield (26.4 mg) as pink solid. Eluent: DCM/PE
=8/1, Rf=0.5.

'H NMR (400 MHz, DMSO-ds): & 9.63 (brs, 1H), 8.40 (d, J = 8.7 Hz, 1H), 8.03-7.91
(m, 3H), 7.67-7.56 (m, 2H), 7.35-7.26 (M, 4H), 7.24-7.18 (m, 1H), 7.14 (s, 1H), 5.20
(ddd, J = 7.6, 4.4, 1.3 Hz, 1H), 3.69 (s, 3H), 2.87-2.73 (m, 2H), 2.40-2.27 (m, 1H),
2.24-2.09 (m, 1H).

3C NMR (100 MHz, DMSO-dg): & 162.9, 155.6, 140.8, 136.0, 134.5, 133.7, 130.3,
129.8, 128.4, 128.3, 128.1, 127.7, 127.6, 127.0, 126.9, 126.1, 125.6, 124.1, 77.6, 52.2,
34.8, 30.1.

HRMS (ESI) calculated for C4H1NNaO, ([(M+Na] *): 410.1363; found: 410.1359.

ethyl (1-(2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate (3q)

OCO,Et

This compound was obtained in 68% yield (47.8 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R = 0.4.

'H NMR (400 MHz, DMSO-dg): & 9.37 (s, 1H), 8.17 (dd, J = 7.9, 1.4 Hz, 1H),
7.49-7.45 (m, 1H), 7.44-7.38 (m, 1H), 7.33-7.26 (m, 4H), 7.25-7.18 (m, 2H), 6.98 (d,
J=1.4Hz, 1H), 5.12 (ddd, J = 7.8, 4.3, 1.4 Hz, 1H), 4.14-4.07 (m, 2H), 2.86-2.71 (m,
2H), 2.35-2.23 (M, 1H), 2.16-2.05 (m, 1H), 1.22 (t, J = 7.1 Hz, 3H).

15



3C NMR (100 MHz, DMSO-dg): & 163.0, 154.5, 140.9, 137.2, 135.0, 131.0, 129.6,
129.4, 128.5, 128.4, 126.2, 126.1, 125.0, 124.8, 77.5, 60.6, 35.0, 30.2, 14.5.
HRMS (ESI) calculated for C,1H21NNaO4 ([M+Na] *): 374.1363; found: 374.1356.

isopropyl (1-(2-oxo0-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate (3r)

OCO,'Pr

This compound was obtained in 37% vyield (27.0 mg) as light yellow oil. Eluent:
DCM/PE =7/1, Rs=0.6.

'H NMR (400 MHz, CDCly): & 8.14 (d, J = 7.1 Hz, 1H), 7.56 (d, J = 7.6 Hz, 1H),
7.39 (td, J = 7.8, 1.5 Hz, 1H), 7.35-7.30 (m, 2H), 7.26-7.20 (m, 4H), 6.52 (s, 1H),
6.44 (brs, 1H), 5.05-4.95 (m, 2H), 2.97-2.90 (m, 1H), 2.87-2.78 (m, 1H), 2.29-2.21 (m,
2H), 1.30 (d, J = 6.3 Hz, 6H).

3C NMR (100 MHz, CDCl3): 6 163.0, 154.0, 140.5, 136.8, 136.0, 131.5, 130.5,
128.8, 128.7, 128.2, 126.6, 125.8, 124.7, 77.5, 69.6, 35.6, 31.0, 22.2.

HRMS (ESI) calculated for Cy,H,3NNaO, ([M+Na] *): 388.1519; found: 388.1520.

butyl (1-(2-oxo-1,2-dihydroquinolin-3-yl)-3-phenylpropyl) carbonate (3s)

0CO,"Bu

This compound was obtained in 59% vyield (46.8 mg) as light yellow oil. Eluent:
DCM/PE =5/1, R¢=0.6.

'H NMR (400 MHz, DMSO-dg): & 9.36 (brs, 1H), 8.17 (d, J = 7.6 Hz, 1H), 7.47-7.38
(m, 2H), 7.33-7.26 (m, 4H), 7.25-7.18 (m, 2H), 6.97 (d, J = 1.1 Hz, 1H), 5.12 (ddd, J
= 5.7, 4.3, 1.0 Hz, 1H), 4.11-4.00 (m, 2H), 2.87-2.71 (m, 2H), 2.34-2.23 (m, 1H),
2.16-2.06 (M, 1H), 1.62-1.53 (m, 2H), 1.39-1.30 (m, 2H), 0.88 (t, J = 7.6 Hz, 3H).

16



Bc NMR (100 MHz, CDCly): 6 163.1, 154.6, 140.5, 136.8, 135.8, 131.5, 130.5,
128.8, 128.7, 128.3, 126.6, 126.0, 77.4, 65.8, 35.6, 31.04, 31.02, 19.2, 13.9.
HRMS (ESI) calculated for C,3H2sNNaO4 ([M+Na] *): 402.1676; found: 402.1675.

methyl (1-(2-oxo-1,2-dihydroquinolin-3-yl)-2-phenylethyl) carbonate (3t)

H
N__O

= Ph

0CO,Me

This compound was obtained in 61% vyield (39.4 mg) as light yellow oil. Eluent:
DCM/PE =7/1,R¢=0.5.

'H NMR (400 MHz, DMSO-dg): & 9.33 (brs, 1H), 8.15-8.11 (m, 1H), 7.47-7.39 (m,
2H), 7.36-7.29 (m, 4H), 7.29-7.21 (m, 2H), 5.34 (ddd, J = 7.6, 4.7, 1.5 Hz, 1H), 3.68
(s, 3H), 3.32 (dd, J = 14.4, 7.6 Hz, 1H), 3.16 (dd, J = 14.4, 7.6 Hz, 1H).

¥C NMR (100 MHz, DMSO-dg): & 162.8, 154.9, 137.1, 135.8, 134.9, 131.1, 129.8,
129.6, 129.3, 128.3, 126.7, 126.6, 125.5, 125.1, 77.8, 51.9, 38.9.

HRMS (ESI) calculated for C19H17NNaO4 ([M+Na] *): 346.1050; found: 346.1046.

methyl (1-(2-oxo-6-phenyl-1,2-dihydroquinolin-3-yl)-2-phenylethyl) carbonate
(3u)

ZT

Ph Ph
0CO,Me

This compound was obtained in 79% vyield (63.0 mg) as light yellow oil. Eluent:
DCM/PE = 10/1, R¢ = 0.55.

'H NMR (400 MHz, CDCls): 6 8.33 (s, 1H), 7.67-7.62 (m, 4H), 7.46-7.41 (m, 2H),
7.40-7.33 (m, 3H), 7.33-7.27 (m, 3H), 6.55 (s, 1H), 6.40 (s, 1H), 5.20 (td, J = 6.8, 1.2
Hz, 1H), 3.80 (s, 3H), 3.39 (dd, J = 14.0, 6.7 Hz, 1H), 3.10 (dd, J = 14.0, 6.9 Hz, 1H).

17



3C NMR (100 MHz, CDCls): § 162.9, 154.8, 139.6, 138.5, 136.9, 134.9, 134.8,
130.0, 129.7, 129.2, 129.1, 129.0, 128.9, 128.8, 128.6, 127.7, 127.6, 127.1, 77.6, 52.9,
40.2.

HRMS (ESI) calculated for CpsH,;NNaO4 ([M+Na] *): 422.1363; found: 422.1360.

cyclohexyl(2-oxo-1,2-dihydroquinolin-3-yl)methyl methyl carbonate (3v)

H
N__O
=

0OCO,Me

This compound was obtained in 54% vyield (34.2 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.5.

'H NMR (400 MHz, DMSO-dg): & 9.44 (s, 1H), 8.20-8.12 (m, 1H), 7.49-7.38 (m,
2H), 7.27-7.20 (m, 1H), 6.95 (d, J = 1.2 Hz, 1H), 4.89 (dd, J = 5.9, 1.1 Hz, 1H), 3.66
(s, 3H), 1.83-1.72 (m, 5H), 1.68-1.64 (m, 1H), 1.29-1.08 (m, 5H).

3C NMR (100 MHz, DMSO-dg): 6 163.0, 154.9, 137.0, 134.1, 130.9, 129.6, 129.4,
126.5,125.2, 124.9, 81.1, 51.9, 40.4, 27.0, 26.9, 25.7, 25.1, 25.0.

HRMS (ESI) calculated for C1gH,;NNaO, ([M+Na] *): 338.1363; found: 338.1360.

(6-chloro-2-oxo-1,2-dihydroquinolin-3-yl)(cyclohexyl)methyl methyl carbonate
(3w)

ZT
(@)

cl
0OCO,Me

This compound was obtained in 61% yield (42.6 mg) as light yellow oil. Eluent:
DCM/PE = 10/1, R = 0.55.

'H NMR (400 MHz, DMSO-d): & 9.54 (s, 1H), 8.26-8.17 (m, 1H), 7.50-7.46 (m,
2H), 6.92 (d, J = 1.4 Hz, 1H), 4.91 (dd, J = 6.0, 1.2 Hz, 1H), 3.66 (s, 3H), 1.87-1.70
(m, 5H), 1.67-1.63 (m, 1H), 1.32-1.04 (m, 5H).

18



3C NMR (100 MHz, DMSO-dg): 5 162.9, 154.8, 136.0, 135.5, 130.6, 128.8, 128.7,
128.2,127.8, 126.7, 81.4, 52.1, 40.3, 27.0, 26.8, 25.7, 25.2, 25.0.
HRMS (ESI) calculated for C1gH20CINNaO, ([M+Na] *): 372.0973; found: 372.0970.

(7-chloro-2-oxo-1,2-dihydroquinolin-3-yl)(cyclohexyl)methyl methyl carbonate
(3%)

ZT
@]

Cl

0OCO,Me

This compound was obtained in 32% vyield (22.4 mg) as light yellow oil. Eluent:
DCM/PE = 10/1, R¢=0.7.

'H NMR (400 MHz, DMSO-dg): 8 9.64 (brs, 1H), 8.14 (d, J = 8.6 Hz, 1H), 7.60 (d, J
= 2.2 Hz, 1H), 7.31 (dd, J = 8.6, 2.2 Hz, 1H), 6.99-6.90 (m, 1H), 4.89 (dd, J = 5.9, 1.1
Hz, 1H), 3.68 (s, 3H), 1.86-1.70 (M, 6H), 1.17-1.09 (m, 5H).

13C NMR (100 MHz, DMSO-dg): § 162.9, 154.7, 138.4, 134.9, 134.8, 131.0, 129.2,
128.4,124.6, 124.1, 81.4,52.2, 40.3, 27.0, 26.9, 25.7, 25.2, 25.0.
HRMS (ESI) calculated for C1gH20CINNaO, ([M+Na] *): 372.0973; found: 372.0971.

methyl (2-methyl-1-(2-oxo-1,2-dihydroquinolin-3-yl)propyl) carbonate (3y)

H
N (0]
=

0CO,Me

This compound was obtained in 50% yield (27.4 mg) as light yellow oil. Eluent:
DCM/PE =7/1, R¢=0.5.

'H NMR (400 MHz, DMSO-d): & 9.44 (s, 1H), 8.16 (dd, J = 7.9, 1.4 Hz, 1H),
7.53-7.39 (m, 2H), 7.27-7.21 (m, 1H), 6.97 (d, J = 1.5 Hz, 1H), 4.91 (dd, J = 6.2, 1.5
Hz, 1H), 3.66 (s, 3H), 2.15-2.06 (m, 1H), 1.05-1.00 (m, 6H).

19



3C NMR (100 MHz, DMSO-dg): & 163.0, 154.9, 137.1, 134.1, 131.0, 129.6, 129.4,
126.5, 125.2, 124.9, 81.9, 51.9, 31.0, 17.0, 16.8.
HRMS (ESI) calculated for C1sH17NNaO4 ([M+Na] *): 298.1050; found: 298.1048.

methyl (1-(2-oxo-1,2-dihydroquinolin-3-yl)hexyl) carbonate (3z)

H
N 0]
=

0CO,Me

This compound was obtained in 60% yield (36.4 mg) as light yellow oil. Eluent:
DCM/PE =7/1,R¢=0.5.

'H NMR (400 MHz, DMSO-dg): & 9.39 (brs, 1H), 8.18 (dd, J = 7.9, 1.4 Hz, 1H),
7.48-7.39 (m, 2H), 7.27-7.19 (m, 1H), 6.98 (d, J = 1.4 Hz, 1H), 5.11 (ddd, J = 7.6, 4.5,
1.4 Hz, 1H), 3.66 (s, 3H), 2.02-1.90 (m, 1H), 1.84-1.74 (m, 1H), 1.47-1.43 (m, 2H),
1.36-1.29 (m, 4H), 0.91-0.86 (m, 3H).

3C NMR (100 MHz, DMSO-dg): 6 163.0, 154.9, 137.1, 135.4, 130.9, 129.4, 129.2,
126.4,125.2, 124.9, 78.1, 51.9, 33.0, 31.0, 23.7, 21.9, 13.8.

HRMS (ESI) calculated for C17H,;NNaO, ([M+Na] *): 326.1363; found: 326.1356.

General procedure B:

o (0] [Cp*RhCly], (2.5 mol %)
1©ﬁkNHOPiv j/ii NaOAc (1 equiv) R X NHCO =
R m + P 5
2 R2 ROH, rt, 12 h R,
1 2

4  HO

The mixture of N-(pivaloyloxy)benzamide 1 (0.2 mmol, 1.0 equiv),
methyleneoxetanones 2 (0.2 mmol, 1.0 equiv), [Cp*RhCl,], (2.5 mol %) and NaOAc
(0.2 mmol, 1.0 equiv) in the alcoholic solvent (2.0 mL) in a sealed tube was stirred at
room temperature for 12 h without exclusion of air or moisture. Afterwards, the
solvent was removed with the reduced pressure and the crude product was purified by

preparative TLC to afford the corresponding products 4.

20



Characterization of products:
methyl 3-(1-hydroxy-3-phenylpropyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-
3-carboxylate (4a)

0
NH
CO,Me

Ph
HO

This compound was obtained in 52% vyield (35.4 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CD;0D): & 7.89 (dd, J = 7.8, 1.2 Hz, 1H), 7.46 (td, J = 7.5, 1.4
Hz, 1H), 7.32 (t, J = 7.6 Hz, 1H), 7.27-7.22 (m, 3H), 7.21-7.18 (m, 2H), 7.17-7.10 (m,
1H), 3.82-3.73 (m, 1H), 3.55 (s, 3H), 3.33 (d, J = 15.9 Hz, 1H), 3.16 (d, J = 15.9 Hz,
1H), 2.90 (dt, J = 13.9, 7.1 Hz, 1H), 2.62 (dt, J = 13.6, 8.3 Hz, 1H), 1.89-1.80 (m,
2H).

3C NMR (100 MHz, CD;0D): & 173.7, 168.1, 142.9, 138.0, 134.1, 132.9, 129.5,
129.4,129.1, 128.7, 128.6, 128.4, 128.3, 127.0, 75.6, 67.9, 53.1, 34.4, 34.2, 33.4.
HRMS (ESI) calculated for CooH22NO4 ([M+H] *): 340.1543; found: 340.1543.

methyl 3-(1-hydroxy-3-phenylpropyl)-6-methyl-1-oxo-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (4b)

[0}
NH
COzMe

Ph
HO

This compound was obtained in 49% vyield (34.6 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CDs0OD ): § 7.78 (d, J = 7.9 Hz, 1H), 7.26 (t, J = 7.6 Hz, 2H),
7.21 (d, J = 6.8 Hz, 2H), 7.18-7.14 (m, 2H), 7.09 (s, 1H), 3.77 (dd, J = 9.5, 3.3 Hz,
1H), 3.58 (s, 3H), 3.28 (d, J = 15.9 Hz, 1H), 3.13 (d, J = 15.9 Hz, 1H), 2.97-2.87 (m,
1H), 2.68-2.60 (m, 1H), 2.36 (s, 3H), 1.89-1.82 (m, 2H).

21



3Cc NMR (100 MHz, DMSO-dg): 6 172.7, 164.5, 142.3, 141.9, 136.7, 128.33, 128.29,
128.23,127.7,127.0, 125.7, 125.3, 73.8, 66.5, 52.3, 32.6, 32.3, 32.2, 21.1.
HRMS (ESI) calculated for C,1H2sNNaO4 ([M+Na] *): 376.1519; found: 376.1511.

methyl 6-fluoro-3-(1-hydroxy-3-phenylpropyl)-1-oxo0-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (4c)

[0}
NH
COZMe

Ph
HO

This compound was obtained in 30% vyield (21.4 mg) as light yellow solid. Eluent:
PE/EA=1/1, Ry = 0.3.

'H NMR (400 MHz, CD30D ): § 7.93 (dd, J = 8.5, 5.8 Hz, 1H), 7.27-7.21 (m, 2H),
7.21-7.12 (m, 3H), 7.08-7.00 (m, 2H), 3.81-3.74 (m, 1H), 3.58 (s, 3H), 3.35 (d, J =
16.1 Hz, 1H), 3.18 (d, J = 16.1 Hz, 1H), 2.90 (dt, J = 13.9, 7.1 Hz, 1H), 2.62 (dt, J =
13.6, 8.3 Hz, 1H), 1.89-1.77 (m, 2H).

3C NMR (100 MHz, CD3;0D): § 173.6, 167.1, 166.8 (d, J = 251.1 Hz), 142.9, 141.5
(d, J = 9.2 Hz), 131.5 (d, J = 9.9 Hz), 129.6, 129.4, 127.0, 125.3, 115.7 (d, J = 22.5
Hz), 115.4 (d, J = 22.2 Hz), 75.5, 67.9, 53.2, 34.4, 34.1, 33.4.

YF NMR (376 MHz, CD3;0D): § -108.00- -108.06 (m).

HRMS (ESI) calculated for CooH21FNO4 ([M+H] *): 358.1449; found: 358.1441.

methyl 6-chloro-3-(1-hydroxy-3-phenylpropyl)-1-oxo-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (4d)

O
NH
COQMe

Ph
HO

This compound was obtained in 48% vyield (35.8 mg) as light yellow solid. Eluent:
PE/EA=1/1,R¢=0.3.

22



'H NMR (400 MHz, CD;OD): § 7.85 (d, J = 8.2 Hz, 1H), 7.34-7.30 (m, 2H),
7.27-7.22 (m, 2H), 7.20-7.12 (m, 3H), 3.82-3.72 (m, 1H), 3.60 (s, 3H), 3.33 (d, J =
16.1 Hz, 1H), 3.17 (d, J = 16.1 Hz, 1H), 2.94-2.86 (m, 1H), 2.62 (dt, J = 13.6, 8.3 Hz,
1H), 1.86-1.79 (m, 2H).

3C NMR (100 MHz, CDs;OD): § 173.5, 167.0, 142.8, 140.2, 140.0, 130.2, 129.6,
129.5, 129.0, 128.6, 127.5, 127.0, 75.5, 67.8, 53.3, 34.4, 33.9, 33.4.

HRMS (ESI) calculated for CooH,;CINO4 ([M+H] *): 374.1154; found: 374.1152.

methyl 6-bromo-3-(1-hydroxy-3-phenylpropyl)-1-oxo-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (4e)

0
NH
CO,Me

Ph
HO

This compound was obtained in 35% vyield (29.2 mg) as light yellow solid. Eluent:
PE/EA=1/1, R{=0.3.

'H NMR (400 MHz, CD;OD): & 7.79 (d, J = 8.1 Hz, 1H), 7.52-7.49 (m, 2H),
7.30-7.24 (m, 2H), 7.23-7.13 (m, 3H), 3.84-3.74 (m, 1H), 3.35 (d, J = 16.2 Hz, 1H),
3.20 (d, J = 16.1 Hz, 1H), 2.92 (dt, J = 13.9, 7.1 Hz, 1H), 2.68-2.57 (m, 1H),
1.88-1.81 (m, 2H).

3C NMR (100 MHz, CD;0D): § 173.5, 167.1, 142.8, 140.3, 132.0, 131.6, 130.3,
129.6, 129.4, 128.5, 127.9, 127.0, 75.5, 67.8, 53.2, 34.4, 33.8, 33.4.
HRMS (ESI) calculated for CooHBrNO, ([M+H] *): 418.0648; found: 418.0647.

methyl 3-(1-hydroxy-3-phenylpropyl)-1-oxo0-6-phenyl-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (4f)

)

CO,Me

HO

23



This compound was obtained in 31% vyield (25.7 mg) as light yellow solid. Eluent:
PE/EA=1/1, R¢=0.4.

'H NMR (400 MHz, DMSO-dg): & 7.88 (d, J = 8.5 Hz, 1H), 7.82 (brs, 1H), 7.72-7.69
(m, 2H), 7.65-7.62 (m, 2H), 7.48 (t, J = 7.5 Hz, 2H), 7.43-7.38 (m, 1H), 7.31-7.26 (m,
2H), 7.24-7.21 (m, 2H), 7.20-7.15 (m, 1H), 5.52 (d, J = 6.6 Hz, 1H), 3.83-3.75 (m,
1H), 3.50 (s, 3H), 3.38 (d, J = 15.9 Hz, 1H), 3.19 (d, J = 15.9 Hz, 1H), 2.91-2.78 (m,
1H), 2.63-2.53 (m, 1H), 1.92-1.72 (m, 2H).

¥C NMR (100 MHz, DMSO-dg): 172.7, 167.5, 164.4, 143.7, 142.8, 141.9, 139.2,
137.5, 133.1, 129.0, 128.4, 128.3, 128.2, 128.0, 127.7, 126.9, 126.5, 126.0, 125.8,
125.2, 73.8, 66.6, 52.4, 32.7, 32.5, 32.2.

HRMS (ESI) calculated for CosH2sNO4 ([M+H] *): 416.1856; found: 416.1850.

methyl 3-(1-hydroxy-3-phenylpropyl)-7-methyl-1-oxo-1,2,3,4-tetrahydro

isoquinoline-3-carboxylate (49)

NH
COZMe

Ph
HO

This compound was obtained in 50% vyield (35.2 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CD;0D):5 7.72 (s, 1H), 7.32-7.27 (m, 1H), 7.25 (d, J = 7.4 Hz,
2H), 7.22-7.19 (m, 2H), 7.17-7.12 (m, 2H), 3.79-3.75 (m, 1H), 3.56 (s, 3H), 3.29 (d, J
= 15.8 Hz, 1H), 3.11 (d, J = 15.8 Hz, 1H), 2.91 (dt, J = 13.9, 7.4 Hz, 1H), 2.63 (dt, J =
13.6, 8.2 Hz, 1H), 2.34 (s, 3H), 1.90-1.81 (m, 2H).

3¢ NMR (100 MHz, CD3;0OD): ¢ 173.8, 168.3, 142.9, 138.3, 134.9, 134.8, 129.5,
129.4,129.0, 128.7, 128.5, 127.0, 75.7, 68.0, 53.1, 34.4, 33.9, 33.4, 21.1.

HRMS (ESI) calculated for Ca1H24NO4 ([M+H] *): 354.1700; found: 354.1698.

methyl 5-(1-hydroxy-3-phenylpropyl)-7-ox0-4,5,6,7-tetrahydrofuro[2,3-c]
pyridine-5-carboxylate (4h)

24



6]

This compound was obtained in 21% vyield (13.8 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CDCl3): 6 7.51 (d, J = 1.8 Hz, 1H), 7.32-7.16 (m, 6H), 6.59 (brs,
1H), 6.36 (d, J = 1.7 Hz, 1H), 3.81 (dd, J = 10.7, 2.2 Hz, 1H), 3.68 (s, 3H), 3.35 (dd, J
=16.5, 1.1 Hz, 1H), 3.01-2.86 (m, 2H), 2.69 (dt, J = 13.9, 8.1 Hz, 1H), 1.93-1.73 (m,
2H).

3C NMR (100 MHz, CDCls): § 172.6, 159.2, 147.1, 142.0, 141.2, 128.73, 128.68,
128.62, 126.3, 110.7, 75.2, 68.4, 53.3, 33.5, 32.4, 27.7.

HRMS (ESI) calculated for C1gH20NOs ([M+H] *): 330.1336; found: 330.1330.

methyl 5-(1-hydroxy-3-phenylpropyl)-7-0x0-4,5,6,7-tetrahydrothieno[2,3-c]
pyridine-5-carboxylate (4i)

6]

This compound was obtained in 30% yield (20.7 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.5.

'H NMR (400 MHz, CDCls): & 7.50 (d, J = 4.9 Hz, 1H), 7.28-7.23 (m, 2H),
7.21-7.15 (m, 4H), 6.89 (d, J = 4.9 Hz, 1H), 3.85 (dd, J = 10.1, 2.8 Hz, 1H), 3.64 (s,
3H), 3.45 (d, J = 16.2 Hz, 1H), 3.02-2.94 (m, 2H), 2.68 (dt, J = 13.8, 8.2 Hz, 1H),
1.96-1.79 (m, 2H).

3C NMR (100 MHz, CDCl3): & 172.6, 163.3, 142.9, 141.4, 132.5, 129.8, 128.64,
128.58, 127.1, 126.1, 75.2, 68.4, 53.2, 33.3, 32.5, 30.6.

HRMS (ESI) calculated for C1gH20NO,4S ([M+H] ¥): 346.1108; found: 346.1100.

25



methyl 3-(1-hydroxy-3-phenylpropyl)-1-ox0-2,3,4,5,6,7-hexahydro-1H-
cyclopenta[c]pyridine-3-carboxylate (4})

o
NH
| CO,Me

Ph
HO

This compound was obtained in 33% vyield (21.7 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CDCly): & 7.31-7.24 (m, 2H), 7.21-7.16 (m, 3H), 6.69 (brs, 1H),
3.74-3.69 (m, 4H), 2.95 (dt, J = 13.9, 7.0 Hz, 1H), 2.87 (d, J = 17.9 Hz, 1H), 2.65 (dt,
J=13.9, 8.2 Hz, 1H), 2.58-2.40 (m, 5H), 1.95-1.88 (m, 2H), 1.83-1.69 (m, 2H).

3C NMR (100 MHz, CDCls): 8 173.2, 166.5, 153.5, 141.4, 131.3, 128.63, 128.58,
126.2, 75.3, 67.1, 53.1, 36.6, 33.3, 32.4, 31.0, 29.6, 22.0.

HRMS (ESI) calculated for C1gH24sNO4 ([M+H] *): 330.1700; found: 330.1694.

ethyl 3-(1-hydroxy-3-phenylpropyl)-1-oxo0-1,2,3,4-tetrahydroisoquinoline-3-
carboxylate (4k)

0
NH
CO,Et

Ph
HO

This compound was obtained in 45% vyield (31.8 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.3.

'H NMR (400 MHz, CDs0D): § 7.91 (d, J = 7.7 Hz, 1H), 7.48 (td, J = 7.5, 1.3 Hz,
1H), 7.34 (t, J = 7.6 Hz, 1H), 7.29-7.24 (m, 3H), 7.23-7.13 (m, 3H), 4.06-3.97 (m,
2H), 3.81 (dd, J = 9.9, 2.9 Hz, 1H), 3.33 (d, J = 15.8 Hz, 1H), 3.20 (d, J = 15.8 Hz,
1H), 2.97-2.89 (m, 1H), 2.65 (dt, J = 13.7, 8.3 Hz, 1H), 1.97-1.81 (m, 2H), 1.09-0.97
(m, 3H).

¥C NMR (100 MHz, CD3;0OD): ¢ 173.2, 168.3, 142.9, 138.0, 134.0, 129.5, 1294,
129.0, 128.9, 128.4, 128.3, 127.0, 75.4, 67.9, 62.8, 34.5, 34.4, 33.4, 14.3.

HRMS (ESI) calculated for Ca1H24NO4 ([M+H] *): 354.1700; found: 354.1699.

26



isopropyl 3-(1-hydroxy-3-phenylpropyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-3-
carboxylate (4l)

0
NH
CO,Pr

Ph
HO

This compound was obtained in 22% vyield (16.1 mg) as white solid. Eluent: PE/EA=
1/1, R¢=0.4.

'H NMR (400 MHz, CD;0D): § 7.91 (dd, J = 7.8, 1.1 Hz, 1H), 7.48 (td, J = 7.5, 1.4
Hz, 1H), 7.35 (t, J = 7.6 Hz, 1H), 7.30-7.25 (m, 3H), 7.22 (dd, J = 8.1, 1.4 Hz, 2H),
7.19-7.14 (m, 1H), 4.85-4.80 (m, 1H), 3.81 (dd, J = 10.7, 2.1 Hz, 1H), 3.29 (d, J =
15.7 Hz, 1H), 3.23 (d, J = 15.7 Hz, 1H), 2.97-2.89 (m, 1H), 2.66 (dt, J = 13.7, 8.3 Hz,
1H), 1.98-1.80 (m, 2H), 1.05 (d, J = 6.2 Hz, 3H), 1.00 (d, J = 6.3 Hz, 3H).

3C NMR (100 MHz, CD;0D): & 172.8, 168.5, 142.9, 138.1, 134.0, 129.6, 129.5,
129.0, 128.4, 128.3, 127.0, 75.2, 70.8, 67.9, 34.9, 34.4, 33.4, 21.74, 21.69.

HRMS (ESI) calculated for C;H2sNO4 ([M+H] *): 368.1856; found: 368.1854.

butyl 3-(1-hydroxy-3-phenylpropyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-3-

carboxylate (4m)

]

NH
COQ”BU
Ph

HO

This compound was obtained in 49% vyield (37.3 mg) as light yellow solid. Eluent:
PE/EA=1/1, R¢=0.6.

'H NMR (400 MHz, CD;0D): § 7.95-7.89 (m, 1H), 7.48 (td, J = 7.5, 1.3 Hz, 1H),
7.34 (t, J = 7.6 Hz, 1H), 7.29-7.24 (m, 3H), 7.23-7.13 (m, 3H), 4.00-3.95 (m, 2H),
3.81 (dd, J = 10.0, 2.8 Hz, 1H), 3.37-3.31 (m, 1H), 3.21 (d, J = 15.8 Hz, 1H),
2.96-2.89 (m, 1H), 2.65 (dt, J = 13.6, 8.3 Hz, 1H), 1.99-1.79 (m, 2H), 1.42-1.35 (m,
2H), 1.20-1.10 (m, 2H), 0.78 (t, J = 7.4 Hz, 3H).

27



3¢ NMR (100 MHz, CD3;0D): 6 173.4, 168.3, 142.9, 138.0, 134.0, 129.5, 129.4,
129.1, 128.9, 128.5, 128.3, 127.0, 75.4, 68.0, 66.5, 34.6, 34.5, 33.5, 31.6, 19.9, 13.9.
HRMS (ESI) calculated for Co3H2sNO4 ([M+H] *): 382.2013; found: 382.2009.

methyl 3-(1-hydroxy-2-phenylethyl)-1-oxo0-1,2,3,4-tetrahydroisoquinoline-
3-carboxylate (4n)

0]

NH
COZMe
Ph

HO

This compound was obtained in 57% vyield (37.0 mg) as light yellow solid. Eluent:
PE/EA=1/1,R¢=0.4.

'H NMR (400 MHz, DMSO-dg): § 8.09 (s, 1H), 7.84 (dd, J = 8.0, 1.3 Hz, 1H), 7.49
(td, J = 7.5, 1.4 Hz, 1H), 7.37-7.26 (m, 6H), 7.22-7.16 (m, 1H), 5.36 (d, J = 7.2 Hz,
1H), 3.97 (ddd, J = 10.5, 7.2, 1.8 Hz, 1H), 3.52 (s, 3H), 3.40-3.34 (m, 1H), 3.32-3.24
(m, 1H), 2.88 (d, J = 12.3 Hz, 1H), 2.71 (dd, J = 13.7, 10.7 Hz, 1H).

3C NMR (100 MHz, DMSO-dg): & 172.7, 164.6, 139.6, 137.1, 132.4, 129.6, 128.0,
127.93, 127.89, 127.0, 126.9, 126.0, 75.3, 66.6, 52.4, 37.2, 31.8.
HRMS (ESI) calculated for C1gHoNO4 ([M+H] *): 326.1387; found: 326.1386.

methyl 3-(1-hydroxy-2-methylpropyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-3-

carboxylate (40)

o)

This compound was obtained in 23% vyield (13.4 mg) as light yellow solid. Eluent:
PE/EA=1/1, R¢=0.3.

28



'H NMR (400 MHz, CD;0D): & 7.91 (dd, J = 7.7, 1.1 Hz, 1H), 7.50 (td, J = 7.5, 1.4
Hz, 1H), 7.35 (t, J = 7.7 Hz, 1H), 7.30 (d, J = 7.4 Hz, 1H), 3.68 (d, J = 5.4 Hz, 1H),
3.59 (s, 3H), 3.40 (s, 2H), 2.01-1.91 (m, 1H), 1.03-1.00 (m, 6H).

13C NMR (100 MHz, CD;OD): & 174.2, 168.1, 138.5, 134.1, 129.0, 128.7, 128.4,
128.2, 80.0, 67.6, 53.1, 35.1, 31.3, 21.7, 18.7.

HRMS (ESI) calculated for C15sHoNO4 ([M+H] *): 278.1387; found: 278.1388.

methyl  3-(1-hydroxyhexyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-3-carboxylate
(4p)

e}

NH
CO,Me

HO

This compound was obtained in 44% yield (26.8 mg) as light yellow solid. Eluent:
PE/EA=1/1, Rf = 0.45.

'H NMR (400 MHz, CD;OD): § 7.92 (dd, J = 7.8, 1.1 Hz, 1H), 7.49 (td, J = 7.5, 1.4
Hz, 1H), 7.37-7.32 (m, 1H), 7.31-7.27 (m, 1H), 3.80 (dd, J = 9.7, 2.8 Hz, 1H), 3.60 (s,
3H), 3.38 (d, J = 15.9 Hz, 1H), 3.24 (d, J = 15.9 Hz, 1H), 1.67-1.47 (m, 3H),
1.38-1.29 (m, 5H), 0.94-0.88 (m, 3H).

13C NMR (100 MHz, CD;OD): § 173.8, 168.0, 138.2, 134.1, 129.1, 128.7, 128.5,
128.3, 76.4, 67.9, 53.1, 34.1, 32.7, 32.3, 27.2, 23.7, 14.4.
HRMS (ESI) calculated for C17H24NO4 ([M+H] *): 306.1700; found: 306.1697.

methyl 3-(cyclohexyl(hydroxy)methyl)-1-oxo-1,2,3,4-tetrahydroisoquinoline-3-
carboxylate (4q)

29



This compound was obtained in 24% yield (16.0 mg) as light yellow solid. Eluent:
PE/EA=1/1, R¢=0.4.

'H NMR (400 MHz, CDsOD):8 7.89 (d, J = 7.6 Hz, 1H), 7.48 (td, J = 7.5, 1.1 Hz,
1H), 7.33 (t, J = 7.5 Hz, 1H), 7.28 (d, J = 7.6 Hz, 1H), 3.65 (d, J = 5.3 Hz, 1H), 3.57
(s, 3H), 3.37 (s, 2H), 1.91-1.86 (m, 1H), 1.79-1.72 (m, 2H), 1.70-1.62 (m, 3H),
1.33-1.22 (m, 3H), 1.21-1.13 (m, 2H).

3¢ NMR (100 MHz, CD3;0OD): 6 174.3, 168.0, 138.5, 134.1, 129.0, 128.7, 128.4,
128.2, 79.5, 67.5,53.0,41.4, 34.9, 32.4, 29.7, 27.5, 27.3, 27 .2.

HRMS (ESI) calculated for C1gH24NO4 ([M+H] *): 318.1700; found: 318.1698.

Scale-up synthesis of 3i: The mixture of N-acetoxybenzamide 1i (2.0 mmol, 1.0
equiv), methyleneoxetanone 2a (2.0 mmol, 1.0 equiv), [Cp*RhCl,], (2.5 mol %),
HOACc (2.0 mmol, 1.0 equiv) and KOPiv (2.0 mmol, 1.0 equiv) in MeOH (20 mL) in a
sealed tube was stirred at room temperature for 12 h without exclusion of air or
moisture. Afterwards, the solvent was removed with the reduced pressure and the
crude product was purified by column chromatography to afford the corresponding

products 3i in 61% isolated yield (0.503 g).
H

H
N O N (0]
NaOH agq.
_Z =
Ph Bn MeOH, rt Ph Bn

OCO,M
3i 2Me 7, 95% O

The mixture of 3i (0.5 mmol) and 50% NaOH aqueous solution (3 mL) in MeOH (5

mL) was stirred at room temperature for 24 h without exclusion of air or moisture.
Afterwards, it was neutralized by diluted HCI ag. and extracted with EtOAc (10x3
mL), the organic phase was combined and dried over Na,SO,4. The resulted mixture
was filtered and concentrated to give the corresponding product 7 in 95% isolated
yield (0.169 g) as white solid (Rf = 0.3, PE/EA = 1/1).
'H NMR (400 MHz, DMSO-dg):8 11.83 (s, 1H), 8.05-8.01 (m, 2H), 7.79 (dd, J = 8.5,
2.0 Hz, 1H), 7.74-7.68 (m, 2H), 7.47 (t, J = 7.7 Hz, 2H), 7.42-7.31 (m, 2H), 7.28-7.19
(m, 4H), 7.15 (t, J = 7.1 Hz, 1H), 5.32 (d, J = 4.8 Hz, 1H), 4.77 (dd, J = 7.6, 3.8 Hz,
1H), 2.80-2.65 (m, 2H), 2.17-2.04 (m, 1H), 1.88-1.69 (m, 1H).

30



3¢ NMR (100 MHz, DMSO-dg): 6 161.1, 142.2, 139.5, 137.7, 137.2, 134.2, 133.7,
129.0, 128.3, 128.23, 128.15, 127.1, 126.5, 125.6, 125.4, 119.7, 115.4, 66.7, 37.9,
31.5.

HRMS (ESI) calculated for Co4H2,NO, ([M+H] *): 356.1645; found: 356.1640.

I11.X-Ray Crystallographic Data

Experimental: The sample was dissolved in appropriate amount of acetone to
furnish a saturated solution. Afterwards, the mixture was allowed to stand at room
temperature to form the crystals. Single crystal was picked and coated in paratone oil
carefully, attached to a glass silk which was inserted in a stainless steel stick, then
quickly transfered to the Agilent Gemini S Ultra CCD Diffractometer with the
Enhance X-ray Source of Cu radiation (A = 1.54178 A) using the ®-¢ scan technique.
All of the structures were solved by direct methods and refined by full-matrix least
squares against F? using the SHELXL programs. Hydrogen atoms were placed in
geometrically calculated positions and included in the refinement process using riding
model with isotropic thermal parameters: Uiso(H) = 1.2 Ueq(-CH). The
crystallographic data have already been deposited at the Cambridge Crystallographic
Data Centre (CCDC numbers: 2042748), which can be acquired from
www.ccdc.cam.ac.uk/data_request/cif.

The ellipsoid contour percent probability level is 50% for the image of the

&4@ Ph/@i)?/vph
OH
CCDC 2042748

Table S2. Crystal data and structure refinement for 7
Identification code exp_4407

structure.

ZT
o

Empirical formula CyH51NO,

31



Formula weight
Temperature/K

Crystal system

Space group

alA

b/A

c/A

a/°

pr°

/e

Volume/A®

z

Peaicg/cm®

w/mm™*

F(000)

Crystal size/mm?®
Radiation

20 range for data collection/°
Index ranges

Reflections collected
Independent reflections
Data/restraints/parameters
Goodness-of-fit on F?
Final R indexes [[>=2c (I)]
Final R indexes [all data]

Largest diff. peak/hole / e A’

355.42

240.00(10)

monoclinic

P2,/n

5.6308(2)

13.4525(5)

25.2525(10)

90

94.702(3)

90

1906.40(13)

4

1.238

0.619

752.0

0.12 <0.11 <0.10

CuKa (L= 1.54184)

7.452 t0 133.17
-5<h<6,-15<k<16,-28<1<29
6048

3342 [Rint = 0.0229, Rigma = 0.0327]
3342/0/245

1811

R; =0.1207, wR, = 0.3885
R; =0.1378, wR, = 0.4264

1.55/-0.57

IVV. Experimental Mechanistic Studies

Deuterium labeling experiment:

32



[CP*RhClylp (2.5 mol %)  HiD O

KOPiv (1 equiv)
NHOAc HOACc (1 equiv) NHOAc
H CD3OD, rt, 12 h H/D

1a 86% D, 20% recovery

la (0.1 mmol, 1.0 equiv) was dissolved in CD3zOD (1.0 mL) in the presence of

[Cp*RhCI]2 (2.5 mol %), HOAc (0.1mmol, 1 equiv) and CsOAc (0.1 mmol, 1 equiv).

The mixture was stirred at room temperature for 12 h. Afterwards, the mixture was

diluted with EtOAc and transferred to a round bottom flask. Silica gel was added to

the flask and volatiles were evaporated under reduced pressure. After purification by

flash column chromatography, 1a was recovered and the deuterium incorporation was

analyzed by 'H-NMR. Approximate 86% deuteration was incorporated at the ortho

position of the DG (the doublet at 6 7.82: 0.28H).

—9.502
836
815
602
565
493
484
475
465
266
265
262

2.308
2.306
2.304

=5 ~
HD O
NHOAc
H/D
[
|
B} i l
- N f
8 888 8
cl (=il kel

—-0.000

T T T T T T T T T T T T T T T T T
10.0 9.5 9.0 85 8.0 7.5 7.0 6.5 6.0 55 5.0 4.5 4.0 3.5 3.0 25 20 15 1.0
1 (ppm)

D O
[CP*RhCl,], (2.5 mol %) Bﬂ\oj\o

0 0 KOPiv (1 equiv)
NHOAc /j_K/\ HOAc (1 equiv) N
CD30D, rt, 12 h
h N“0 “Ph

1a 2a 3a, 52%

33

T
0.0



The mixture of N-acetoxybenzamide l1la (0.1 mmol, 1.0 equiv),

methyleneoxetanone 2a (0.1 mmol, 1.0 equiv), [Cp*RhCl;], (2.5 mol %), HOAc (0.1

mmol, 1.0 equiv) and KOPiv (0.1 mmol, 1.0 equiv) in MeOH (1.0 mL) was stirred at

room temperature for 12 h without exclusion of air or moisture. Afterwards, the

solvent was removed under reduce pressure, and the resulted mixture was purified by

preparative TLC to afford the corresponding product 3a. The deuterium incorporation

was analyzed by 'H-NMR.

9.378
8.187

)
<
<

Y67
8.163
7
7
7
7
7
7
7
7
7
7
7
7
7
7
6.
3
5
5,
5
5
5
5
5
2
2
2
2
2
2
2
2
2
2
2.
2
2.
2
2
-2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

D o
100% 0—=05_ JI_

D” "0” "0
=

N
H

———

0961 ——-r
1.00= S—

ol ) oy e
2358 & § 8%
).0 9‘.5 910 8.‘5 810 715 710 615 61() 515 5.0 4‘.5 410 3.‘5 3.‘0 2.‘5 2.‘0 1 .‘5 1 .‘() 015 0.‘0
1 (ppm)
General procedure for estimation of the KIE:
[Cp*RNCIy];
O (2.5 mol %) H o
0 - : X
" ONHOAc , N-0 _KOPiv (1 equiv)_ y p, 1t
Hs/Ds P HOAc (1 equiv) NG Ph
H MeOH, rt, 10 min
1a/1a-d; 2a Ph K, /Kp=4.0 3a/3a-d, OCO,Me

An equimolar mixture of 1a (0.1 mmol, 1.0 equiv) and 1a-d5 (0.1 mmol, 1.0 equiv)

was allowed to react with 2a (0.1 mmol, 1.0 equiv) in MeOH (1.0 mL) in the presence

of [Cp*RhCl;], (2.5 mol %), KOPiv (0.1 mmol, 1.0 equiv) and HOAc (0.1 mmol, 1.0

equiv). The reaction was stopped after 10 min, and the product was isolated by

34



preparative TLC and analyzed by 'H-NMR spectroscopy (DMSO, 400 MHz). The
double doublet at &: 8.17 (0.80H) were used for calculation and an average value of

kn/kp = 4.0 was obtained.

F8.184
/~8.181

8.164

\8.161

151615 16 16 166 W8 LI R N R N N o S N

L

=}
D
o

1.00= =
-
[
[
|
1
|
|
F
[
|
.
—
{
'

: : T T T : . : . T T T :
9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 45 4.0 3.5 3.0 25 2.0 16 1.0 0.5 0.0
1 (ppm)

Another two parallel KIE experiments were performed by treating 1 equiv of 1a or
1 equiv of 1a-d5 with 1.0 equiv of 2a separately under the standard conditions for 10
min. Afterwards, the solvent was removed under reduce pressure, and the resulted
mixture was purified by preparative TLC to afford the corresponding product 3a. The
isolated yields were determined as 36% and 11%, respectively. Thus the KIE was

determined to be ku/kp = 3.3.

Control experiment:

o [Cp*RhCly], (2.5 mol %) H
N

N=C=0 o KOPiv (1 equiv) YOMG
+ MeOH, rt, 12 h /©/ I
Br Bn Br

5 2a 6, 81%

The mixture of aryl isocyanate 5 (0.1 mmol, 1.0 equiv), methyleneoxetanone 2a
(0.1 mmol, 1.0 equiv), [Cp*RhCl]; (2.5 mol %) and KOPiv (0.1 mmol, 1.0 equiv) in

MeOH (1.0 mL) was stirred at room temperature for 12 h without exclusion of air or
35



moisture. Afterwards, the solvent was removed under reduce pressure, and the
resulted mixture was purified by preparative TLC to afford the product 6 in 81%
isolated yield (18.5 mg). The product 6 was a known compound and all the

characterized data was in agreement with that reported.

OH o OH
CO,H CO,Me
NR conditions H conditions = NR
AorB H AorB

Condition A: The mixture of N-acetoxybenzamide la (0.1 mmol, 1.0 equiv),
2-carboxyl allylic alcohol (0.1 mmol, 1.0 equiv) or its ester form (0.1 mmol, 1.0
equiv), [Cp*RhCl;]; (2.5 mol %), HOAc (0.1 mmol, 1.0 equiv) and KOPiv (0.1 mmol,
1.0 equiv) in MeOH (1.0 mL) was stirred at room temperature for 12 h without
exclusion of air or moisture.

Condition B: The mixture of N-(pivaloyloxy)benzamide (0.1 mmol, 1.0 equiv),
2-carboxyl allylic alcohol (0.1 mmol, 1.0 equiv) or its ester form (0.1 mmol, 1.0
equiv), [Cp*RhCl;]; (2.5 mol %), and NaOAc (0.1 mmol, 1.0 equiv) in MeOH (1.0
mL) was stirred at room temperature for 12 h without exclusion of air or moisture.

Afterwards, the reactions were monitored by TLC analysis and no reaction was

detected for any of these cases.

V. Computational Mechanistic Studies

Computational details:

The theoretical calculations were carried out by using Gaussian 09 program.>®
Geometry optimizations were performed at the level of the M11L functional®* with a
standard 6-31G(d,p) basis set (SDD*° basis set for Rh) using SMD *° solvation model
(solvent= methanol). Frequency analyses were done to obtain the thermodynamic
energy corrections and to ensure that the optimized structures were at either a

minimum or transition state.

36



ODG - OPIV AAG = (11.3-11.2) = 0.1 kcal/mol

both of reduction elimination and Rossen Rearrangement are favorable, leading to competitive products PC1 and PC2

AG SMD(Methanol)M11L/6-31G(d,p)(SDD for Rh)
kcal/mol

gyl ¥ (0] +
0 Y ,,,,,,,,,,,,,,,,,,,,,,,,
. = !
N\ /OPIV ' N o) :
Rh/cp / -Rh—CP : OMe!
° o] Ay™
Ph Ph 0 | o
10.3 : Ph ‘
TS-2¢' 11.3 PC1
R T TN path '___-_-:::---—mﬂ 2 ERRREEERhi e
/ ‘~~65 rres= T 00N YT PR
., INT-2' W ;
path | 3 (ﬁ\ £ ! !
. VN : NHo !
N OPiv_ =N /C/’Fg"; : ;
Rh—CP Rh o (RN ; opMe!
° P ez 3
Ph o Ph 0 R S -t S
354 ° i MQOH
INT-3d" oo CpPRAH(OPI)

/,O
’\(C OPiv “ \‘(SH‘*—-57'1
RA—CP" L0.2 {A‘HOAc PC1
o INTe ™ Cat,
0 OPiv 4 760
Ph 0 @/Q\‘;"Cp PC2

e}
Ph 0

Figure S1. Computed Gibbs free energy changes of the reaction pathway with

—NHOPiv ODG.

Various energy values for all of the relevant species [optimized at the level of
M11L/6-31G(d,p) (SDD for Rh) with SMD atomic radii for experimental solvent

methanol]

CH3;COOH
Zero-point correction=
Thermal correction to Energy=

0.061448 (Hartree/Particle)
0.065198

Thermal correction to Enthalpy= 0.066142
Thermal correction to Gibbs Free Energy= 0.035469

Sum of electronic and zero-point Energies= -228.962477
Sum of electronic and thermal Energies= -228.958727
Sum of electronic and thermal Enthalpies= -228.957783
Sum of electronic and thermal Free Energies= -228.988456

MeOH
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
37

0.050885 (Hartree/Particle)
0.054228
0.055173
0.028141



Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

Cp*RhH(OAC)
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

Cp*Rh(OAC);
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

Cp*RhH(OPiv)
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

Cp*RhOACc(OPIiv)
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

38

-115.637362
-115.634019

-115.633074

-115.660106

0.276683 (Hartree/Particle)
0.295753
0.296697
0.230408
-729.556720
-729.537650
-729.536705
-729.602995

0.320622 (Hartree/Particle)
0.344585
0.345530
0.267731
-957.383982
-957.360018
-957.359074
-957.436873

0.359710 (Hartree/Particle)
0.382713
0.383657
0.308803
-847.395363
-847.372360
-847.371416
-847.446270

0.403325 (Hartree/Particle)
0.431271

0.432215

0.345671

-1075.223751
-1075.195805
-1075.194861
-1075.281405



PC1
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

PC2
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-1
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-1
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-2
Zero-point correction=
Thermal correction to Energy=

39

0.351745 (Hartree/Particle)
0.373259

0.374203

0.299348

-1128.629073
-1128.607560
-1128.606616
-1128.681470

0.373755 (Hartree/Particle)
0.396170

0.397114

0.319925

-1129.811034
-1129.788619
-1129.787675
-1129.864865

0.577464 (Hartree/Particle)
0.615285

0.616229

0.506875

-1742.462209
-1742.424388
-1742.423444
-1742.532798

0.573725 (Hartree/Particle)
0.611798

0.612743

0.503419

-1742.446433
-1742.408360
-1742.407415
-1742.516739

0.574471 (Hartree/Particle)
0.613288



Thermal correction to Enthalpy=

Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-2a
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-2b
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-2c
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-2d
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=

40

0.614232
0.503149
-1742.450694
-1742.411877
-1742.410933
-1742.522016

0.569044 (Hartree/Particle)
0.607957

0.608901

0.497808

-1742.398974
-1742.360061
-1742.359117
-1742.470210

0.571078 (Hartree/Particle)
0.609927

0.610871

0.500234

-1742.416211
-1742.377362
-1742.376418
-1742.487055

0.574122 (Hartree/Particle)
0.612401

0.613345

0.502158

-1742.441930
-1742.403651
-1742.402707
-1742.513894

0.571617 (Hartree/Particle)
0.610564
0.611508
0.499615
-1742.444320
-1742.405373



Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-3a
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-3b
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-3c
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-3d
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

41

-1742.404429
-1742.516323

0.575627 (Hartree/Particle)
0.614974

0.615919

0.502201

-1742.527491
-1742.488144
-1742.487200
-1742.600917

0.571565 (Hartree/Particle)
0.611421

0.612365

0.498563

-1742.427960
-1742.388104
-1742.387160
-1742.500962

0.577684 (Hartree/Particle)
0.615860

0.616804

0.507035

-1742.559153
-1742.520977
-1742.520033
-1742.629802

0.574732 (Hartree/Particle)
0.613860

0.614804

0.503116

-1742.516340
-1742.477212
-1742.476268
-1742.587956



INT-4b
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-3
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-5
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-4
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-6
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=

42

0.572764 (Hartree/Particle)
0.612298

0.613242

0.499427

-1742.460056
-1742.420522
-1742.419578
-1742.533393

0.571797 (Hartree/Particle)
0.610159

0.611103

0.502002

-1742.370400
-1742.332039
-1742.331095
-1742.440196

0.575936 (Hartree/Particle)
0.614007

0.614951

0.505597

-1742.432871
-1742.394800
-1742.393856
-1742.503210

0.572334 (Hartree/Particle)
0.610182

0.611126

0.502353

-1742.425470
-1742.387622
-1742.386678
-1742.495452

0.573604 (Hartree/Particle)
0.611640
0.612584



Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-5
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-7
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

INT-1’
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=
Sum of electronic and thermal Free Energies=

TS-1°
Zero-point correction=
Thermal correction to Energy=
Thermal correction to Enthalpy=
Thermal correction to Gibbs Free Energy=
Sum of electronic and zero-point Energies=
Sum of electronic and thermal Energies=
Sum of electronic and thermal Enthalpies=

43

0.502746
-1742.429083
-1742.391047
-1742.390103
-1742.499941

0.571731 (Hartree/Particle)
0.609480

0.610424

0.502143

-1742.408007
-1742.370258
-1742.369314
-1742.477595

0.576690 (Hartree/Particle)
0.614819

0.615763

0.506144

-1742.435820
-1742.397691
-1742.396747
-1742.506366

0.659647 (Hartree/Particle)
0.701484

0.702428

0.586037

-1860.302988
-1860.261151
-1860.260207
-1860.376598

0.657184 (Hartree/Particle)
0.698885
0.699829
0.583967
-1860.287005
-1860.245304
-1860.244360



Sum of electronic and thermal Free Energies= -1860.360222

INT-2’
Zero-point correction= 0.657818 (Hartree/Particle)
Thermal correction to Energy= 0.700299
Thermal correction to Enthalpy= 0.701243
Thermal correction to Gibbs Free Energy= 0.583031
Sum of electronic and zero-point Energies= -1860.291489
Sum of electronic and thermal Energies= -1860.249008
Sum of electronic and thermal Enthalpies= -1860.248064
Sum of electronic and thermal Free Energies= -1860.366276
TS-2¢
Zero-point correction= 0.656467 (Hartree/Particle)
Thermal correction to Energy= 0.698732
Thermal correction to Enthalpy= 0.699676
Thermal correction to Gibbs Free Energy= 0.580501
Sum of electronic and zero-point Energies= -1860.282553
Sum of electronic and thermal Energies= -1860.240288
Sum of electronic and thermal Enthalpies= -1860.239344
Sum of electronic and thermal Free Energies= -1860.358519
TS-2d’
Zero-point correction= 0.655428 (Hartree/Particle)
Thermal correction to Energy= 0.697901
Thermal correction to Enthalpy= 0.698846
Thermal correction to Gibbs Free Energy= 0.580824
Sum of electronic and zero-point Energies= -1860.284216
Sum of electronic and thermal Energies= -1860.241743
Sum of electronic and thermal Enthalpies= -1860.240798
Sum of electronic and thermal Free Energies= -1860.358820
INT-3¢’
Zero-point correction= 0.660738 (Hartree/Particle)
Thermal correction to Energy= 0.702921
Thermal correction to Enthalpy= 0.703865
Thermal correction to Gibbs Free Energy= 0.585892
Sum of electronic and zero-point Energies= -1860.397757
Sum of electronic and thermal Energies= -1860.355575
Sum of electronic and thermal Enthalpies= -1860.354631
Sum of electronic and thermal Free Energies= -1860.472604
INT-3d’

Zero-point correction= 0.657455 (Hartree/Particle)

44



Thermal correction to Energy= 0.700483
Thermal correction to Enthalpy= 0.701427
Thermal correction to Gibbs Free Energy= 0.581863

Sum of electronic and zero-point Energies= -1860.357468
Sum of electronic and thermal Energies= -1860.314440
Sum of electronic and thermal Enthalpies= -1860.313495
Sum of electronic and thermal Free Energies= -1860.433060

Cartesian coordinates for all of the species [optimized at the level of

M11L/6-31G(d,p) (SDD for Rh) with SMD atomic radii for experimental solvent

methanol]:

CH3;COOH
C -0.09628600 0.11466100  -0.00008500
@) -0.65414700 1.17901400 -0.00000600
@) -0.74483600  -1.03294700 0.00000500
H -1.68953800 -0.84167900 0.00002100
C 1.37096000  -0.09007400 0.00004400
H 1.67073600 -0.67324100 0.88165400
H 1.67088100 -0.67329100 -0.88148200
H 1.89174400 0.87215500 0.00006200

MeOH
C -0.64547300 0.01856900  -0.00006500
H -1.02566900 0.54846000 0.89499200
H -1.08297800  -0.99120800 -0.00004100
H -1.02572300 0.54979600  -0.89441400
0] 0.73666600  -0.12203500 -0.00013600
H 1.11388600 0.75782300 0.00094000

Cp*RhH(OAC)
C -2.09096600 0.24372800  -0.22726500
C -1.66612000  -1.05337000 0.11957600
C -0.60433100  -0.90020200 1.07576100
C -0.51258900 0.50953500 1.42769600
C -1.40322800 1.20752600 0.62542900
Rh 0.00467900  -0.00205000  -0.72475200
C -1.63299100 2.66217300 0.55611800
H -2.64148100 2.92036800 0.92158400
H -0.90898400 3.22941700 1.15567000
H -1.57492000 3.03400400  -0.47938600
C -3.14175200 0.60830600  -1.19497400

45



I TITOOOIOIIITIOIIIOIIIOIIIT

Cp*Rh(OAC),
Rh

TTOOOOIITIITOOQOOOOOOO

-4.08164600
-2.86390600
-3.36158600
-2.21227200
-3.02538800
-2.62599400
-1.44748000
0.06445600
-0.55037000
0.21207200
1.04498400
0.45985800
0.18473100
1.46836700
0.53030500
2.85043800
0.35308200
2.93610900
1.96357600
4.26460800
5.08086000
4.46754700
4.25244900

0.05029200
1.36611700
1.16707600
1.61135700
2.16494200
1.99306700
-1.45037900
-0.76832700
-1.27129700
-2.45974600
-3.41120400
-2.63305100
-2.15862600
-1.73729300
-2.42679300
-2.14001700
-3.65931400
-4.04452000
-3.40636800

0.85772800
1.49581500
-0.20797500
-2.33716100
-2.68590500
-2.25301800
-3.12594600
-1.99356000
-2.30409100
-2.88085900
-1.68953900
1.04195200
0.75698700
0.63297700
2.13704900
-1.15788300
-1.16449500
-0.06029900
0.60052600
0.62753400
0.00546500
0.87507800
1.58108400

0.21250800
-0.85823100
-1.63983000
-0.87623200

0.35354300

0.38309100

2.21457000

1.95294900

1.51804500

3.29691300

2.88524300

3.69849200

4.09999500
-0.56616800
-1.25760100
-1.46098400
-1.87311500
-1.29738800
-2.87990800

46

-0.67266900
-1.78392400
-1.89619400
-0.36786800
0.29136700
-1.38221800
-0.38626300
1.80410000
2.66779700
1.17289200
2.19513700
2.39973500
3.42907700
2.22191700
2.36525800
0.15144800
-1.74739300
-0.38432600
-0.86312800
-0.51703700
-0.12916600
-1.56912100
0.03124500

-0.10050600
1.22564500
0.06028300

-1.06592300

-0.56995700
0.83304100

-0.01608600

-1.03699500
1.00838800

-0.03987900

-0.40829700
0.96570900

-0.72373000

-0.78028100

0.03556100

1.20850800
-0.55844300
-1.40998900
-0.92649400



I TITOIITITOIIIOIIIOIIIOI

Cp*RhH(OPiv)

TTOIIIOIIIOIIITOIZLOOOOO

-4.44351000
2.73349400
3.74817300
2.13677200
2.80779000
2.40419200
3.36246400
2.53712500
1.66696000
1.61428900
1.55686800
2.54083900
0.77155900
0.56532900

-0.15695200
1.35039100
0.05139900
1.03208700
0.38364700
1.95237300
0.52592900

-2.75461100
-2.25621700
-1.23119100
-1.25683200
-2.16386800
-0.62722700
-2.48441200
-3.53207600
-1.84340300
-2.38073900
-3.82875200
-4.80014700
-3.64595800
-3.94131800
-2.70868800
-3.50519000
-3.11706900
-1.89487300
-0.47771400
-1.02093700
-0.33124000

-1.98945100
1.41393400
1.13067100
1.56507000
2.37509900
1.44601900
1.18798000
2.41289600
1.58251400

-1.32905100

-0.48654200

-1.88327100

-2.00257900

-2.98302400

-3.04970700

-3.73085900

-3.27352900

-1.21493300

-2.09793700

-1.43162600

-0.38507600

0.10704300
-1.05303900
-0.62635900

0.82767200

1.27183700
-0.11532000

2.65814400

2.90075100

3.39303400

2.80995500

0.18245100

0.40314500

0.98327500
-0.75982800
-2.44427800
-2.69626200
-2.60105500
-3.16777100
-1.48306800
-1.57453100
-2.49761800

47

0.20101500
-1.41844900
-1.74420600
-2.33003300
-0.89408900
1.76832100
2.24986800
1.26538200
2.57296900
-2.46860500
-3.17180900
-2.69678200
-2.67940700
-0.02611400
-0.85415000
-0.22617200
0.89819300
2.61513500
2.67586800
3.18333800
3.13145200

-0.30803600
0.31619800
1.23007000

1.29221400
0.34464100
-0.71372400
-0.03945500
0.20704300
0.46469500

-1.12603800

-1.31702300

-0.84034100

-2.04939400

-1.87075100
0.10962300
0.83061900

-0.89817400
0.25642400
2.16382400
3.12146400
1.76862300



T TITOIITITOIIITIOOOOIOIIIOX

Cp*RhOAC(OPIV)
Rh

TTOOO0OOO0OIIITIOOO0OOOOOOO

0.51324600
-0.36616100
-0.62209900

0.68655100
-0.41869200

2.09995600
-0.30837100

2.27790600

1.38086600

3.66635500

4.02097200

3.30027800

5.01859300

4.04805900

3.60246700

3.30401800

4.59003600

2.88390500

4.70268500

4.75705500

5.70143700

4.48593100

0.66593000
1.55848700
1.20712700
1.91574000
2.76351400
2.53861300
-0.26824000
0.25068700
-0.14024500
-1.05007000
-2.09499000
-1.04587300
-0.67763600
-1.32235200
-2.12837700
-1.82358600
-3.57748900
3.67078700
4.58278900
3.20582700

-1.06233300
1.62025300
1.48060400
1.30706900
2.69546300

-1.63984300

-1.43797100

-0.47474100
0.31894000
0.16806300
0.86665000
1.66088100
1.33185500
0.16098500
1.18701800
0.71780800
1.65306100
1.99269000

-0.88457100

-1.65672300

-0.42484700

-1.39343800

0.25710900
-1.38735100
-1.82099900
-1.01590900
-0.11274700
-0.33663500

2.56376100

2.13780500

1.87390900

3.81996400

3.58093900

4.28179900

4.52651900

0.04459400
-0.39125700
-0.72441200
-0.46632200

0.87205800

0.37257100

1.36454100

48

2.39196300
2.16013000
3.22392300
2.05026900
1.94327600
0.03613600
-1.50921800
-0.29330700
-0.71445100
-0.17697500
-1.47530000
-1.72206800
-1.40223900
-2.32226600
0.94861200
1.90232200
1.10582500
0.72735800
0.14507900
-0.63872200
0.23088200
1.09684100

-0.04500000
1.02699300
-0.28199600
-1.21922500
-0.47791500
0.89522000
0.08812900
-0.97220900
1.12617400
0.09992600
-0.15585900
1.09454600
-0.65175700
-0.52631500
0.35418000
1.49104000
-0.13904400
-1.09245500
-1.45998500
-1.95934700



I TITOIIITOIIIOIIIOIIIOIIIOIIIIODI

OOOIOIOIOIOOZR

1

3.98116400
3.16054000
3.94441300
3.62692200
2.42676100
1.87749800
1.96063100
2.72192500
0.95257900
0.21466800
-0.33948200
0.71771800
-0.51450900
1.12150500
0.23296600
1.92688200
0.89156100
-3.62703600
-3.01073900
-3.26815500
-4.66178700
-4.47587800
-4.46046400
-5.51827900
-4.17581900
-4.01461300
-5.06309900
-3.94906500
-3.39579800

3.53488000
3.92075200
5.26846800
6.02951100
5.61883800
6.67786500
4.64637500
4.94393000
3.31648300
2.53814200
2.92614600
2.25415800
2.01507400

1.65248000
0.35789600
-0.27540100
1.30822300
0.56529800
-1.12644500
-0.14229500
-1.73711100
-1.60062600
-2.85698500
-2.60087400
-3.82075500
-3.00955200
-1.96398800
-2.59863700
-2.58601600
-1.18330000
-1.38454800
-1.00238900
-2.39849400
-1.48388500
-1.00135700
-0.35850600
-1.05653600
-2.01337700
0.93304800
0.92973800
1.63138800
1.33609100

0.68147100
-0.60826300
-0.95693300
-0.18016400
-2.27419500
-2.54567900
-3.26268200
-4.30362500
-2.92094200
-3.68191000
-1.59109300

1.12807900

2.31210500

49

-0.38586400
2.03600800
2.48452600
1.74648400
2.82881300

-2.68813000

-3.17182900

-3.05060300
-3.04263800
-0.62314300
-1.53831800

-0.80543100

0.18446300
2.31112100
2.20242300
2.73781600
3.05114300

-1.34704100
-2.17551900
-1.09815100
-1.71604900

0.95227000

1.84622100
0.59709100
1.26674900
-0.53498700

-0.87788300
0.31718900

-1.35223000

-0.28310500
-0.09966500
-0.06203900
-0.17973300

0.12432900
0.15341600
0.27529400
0.42255100
0.23848100
0.35451100
0.05115200
-0.34767500
-0.54018800



TOIIIOIIITIOIOIOOOOIIIIOIIOOOOOIOON

o
OIOIOIOIOOZQO

2

1.56860300

1.22863700

0.79743100
-0.43319400
-0.24981200
-0.27529400
-0.16415500
-1.26552500
-0.28580300
-2.63913800
-1.13767400
-1.17172700
-2.76585900
-2.70771100
-3.73226700
-4.37514800
-4.09803700
-5.35847400
-4.09971200
-5.07974600
-3.60330300
-5.71396300
-5.85716900
-5.35721500
-6.49301000
-0.97637300
-0.00261500
-1.70561600
-1.32677100
-0.85793200

4.25222900

-1.85223600
-3.53456600
-4.85591100
-5.58648300
-5.22976200
-6.26746000
-4.28050600
-4.57137000
-2.96422000
-2.21871600
-2.57456600

-1.17753300
0.11731400
-1.94772000
2.84806200
3.63420300
1.56530400
0.64503000
-0.36404800
1.20791700
0.26353200
-1.12945600
-0.88832600
1.02409200
0.79829100
-0.74984600
-0.99708300
-1.50445500
-1.96776900
-0.40901300
-2.47557400
-1.31833800
-2.71089600
-2.14363700
-3.05462600
-3.47555100
4.54138300
5.03874500
4.99158200
4.63919200
3.15414900
1.38932800

-1.17056000
0.34952100
0.57738900

-0.22655600
1.79904500
1.97790600
2.79984500
3.76971000
2.57884700
3.37105400
1.35258800

50

0.00944400
-0.17952300
0.13046200
0.66863000
1.55380900
0.86497200
-0.24289600
-0.10381200
-1.18334600
-0.22250900
-0.88971800
0.86563300
0.56811000
-1.18785400
-0.12480200
1.08297100
-1.23540500
1.17914400
1.96627000
-1.14362500
-2.19621000
0.06586700
2.13740500
-2.03002100
0.13961900
-0.76093800
-0.64563400
-0.07278500
-1.79386600
-0.52995000
-0.40074800

-1.13520400
-0.39318200
-0.02902100
-0.15952000
0.49241200
0.78637000
0.64091400
1.05532400
0.27614500
0.39996100
-0.24139100



TTOIIIOIIIOIOIOOOOIIIITIOIOOOOOIIOOON

INT-1

pzd

OITIOIOO

-3.16774700
-3.99845900
-1.16932500
-0.85007800
-0.47268700
-1.02910200
-0.79930800
-0.41373400
0.58282700
0.49795900
1.71655300
0.43387100
2.97494100
1.58085300
1.83413400
3.10052100
2.85035800
4.19148800
4.94305400
4.57138300
6.04450600
4.65878700
5.67207700
3.99081800
6.41282000
6.62697300
5.95850700
7.28535200
-1.10884800
-0.07259200
-1.47223600
-1.74555500
-1.18155300
-1.58152000
0.81088700

2.24688600
1.30642100
1.62490000
2.66920700
0.65763600
0.92688300
-0.65422300

-0.95823600
-1.77659500
1.07680000
-0.38970600
1.70302900
1.32868400
-0.69603400
0.07648300
-2.16876400
-0.78293500
-0.20387900
-0.40320700
-0.43367800
0.87787600
-0.66410200
-1.51565700
0.03622300
0.11524000
-0.66846600
1.43976500
-0.14617200
-1.71546900
1.96594800
2.06935200
1.17396200
-0.78058700
3.00874200
1.58723200
-2.28877300
-2.23319500
-3.32014300
-1.63335800
-1.92469600
-2.11581900
-2.54564900

0.60813600
2.70780400
3.95692400
4.28444500
4.76182100
5.73697100
4.31939900

51

-0.97618800
-1.32875300
-0.65614900
-0.46964500
-0.08111900
-1.72354900
1.02540800
1.85824700
-1.24517900
-1.11763200
-0.44240900
-2.15742500
-1.25492900
-0.26610000
0.55918200
-1.43395700
-2.24750500
-0.58492600
0.28436800
-0.77674000
0.94114500
0.44345100
-0.12245300
-1.46155900
0.73982600
1.61653500
-0.29116900
1.25452600
2.64910900
3.01209300
2.70077100
3.25983100
1.28399000
-1.38335300
-0.39076900

-1.22919700
-0.83056900
-0.30890600
-0.34561700
0.26033200
0.67587200
0.29845600



h

OTO0O0O00OOIITIOIIIOIIIOIIIOIIIOIIIOOOOCOTOOOOOOIO™I

-1.43451600
-0.98633000
-2.03684000
-0.02821400
2.43004600
2.85110400
1.68347100
0.56260000
0.99979000
1.39022700
2.44220400
3.41745300
-0.47940700
-0.38135100
0.22653700
0.56100600
-0.84967200
0.35395600
3.25624500
3.50071300
2.72384600
4.20592600
4.21373900
4.68836300
4.87083700
4.20250400
1.69231800
1.82664800
2.51801900
0.74910900
-0.77184500
-0.70928700
-1.14789300
-1.52513000
3.34368000
0.10168900
-1.52405800
-0.45314800
0.02819500
-1.40449500
-1.58475400
-2.95780400
-1.42865600
-4.02761700

4.94340000
3.09913200
2.78419200
2.27302200
-1.61868400
-0.28043100
0.53028100
-0.32807100
-1.66264800
-0.55765500
1.91321800
2.44682600
1.05085800
-0.30838200
-2.91329300
-3.46870200
-2.72833800
-3.58814000
-2.81221100
-3.31516800
-3.54898800
-2.56809300
0.24553400
0.54856400
-0.49953800
1.13574800
1.97777800
2.14339100
2.49304900
2.46417000
0.15014600
0.56913400
0.95837600
-0.64835500
-0.08222900
0.98448400
1.23518000
-1.44172300
-1.78327100
-2.12509900
-1.00074500
-0.42137400
-1.38132700
-1.35296700

52

0.74480600
-0.26575500
-0.29404600
-0.84666300

1.87404700

1.89017800

2.12162200

2.29753100

2.08931100

0.24088000
-1.37782100

-1.89821300
-1.58781300
-0.93255100

2.24611000

3.13890900

2.36695800

1.38512600

1.62002000

2.57088400

0.99998000

1.12346200

1.66748400

2.61599200

1.19707800

1.01751400

2.39095500

3.47483000

1.88167000

2.10314300

2.71741100

3.73602500

2.06842800

2.74507400
-1.83432500

-2.52415000
-1.90685900
-1.87380700
-2.91574000
-1.19823400
-0.27927600
-0.40952600

0.74124500

0.12388200



T TITOOOIIITIOIOIOOOOIIIIT

OOOOOOIOIOIOIOOZ;')

OO0Oo00x

1
[

=

-2.98141500
-3.16602700
-3.99616300
-3.78797400
-5.39627600
-6.20925800
-5.86876300
-7.46067300
-5.85129700
-7.11900600
-5.24092400
-7.91983900
-8.08823800
-7.47607600
-8.90996800

3.15961400

2.23679400

4.15970700

4.52681900

3.66847500

4.99174800

-2.45122000
-2.01366600
-2.98221500
-3.96633600
-2.70128800
-3.46544300
-1.43458800
-1.18955300
-0.48373500

0.51331700
-0.74507100
-2.19104600
-2.61391200
-1.44121000
-0.30190800
-0.75029300
-1.27424500
-2.49458400
-3.00792500

0.41528600

0.29137500

0.53572300
-0.17205500
-2.30129800
-1.60605800
-0.76116500
-0.97877400

0.06404000
-0.39240200
-1.62899000

0.65208100

0.24128000

0.42558200
-0.58044200

1.29264400

0.88610600
-1.36689000

-1.88885700
-2.13240200
-2.96403800
-2.56918500
-1.50233000

0.45025000
2.63665600
3.61974300
3.49638500
4.73041800
5.49585500
4.86478600
5.73828000
3.89103100
4.00573200
2.73970600
-2.25775300
-0.98593600
-0.21734300
-1.07625000
-2.30502100
-0.70199600
1.51146300
1.72851600
1.79450900
0.40503000

53

0.14782700
-1.46695300
-0.44198100

1.17417700

0.04728600
-1.05982500

1.06304600
-1.14902600
-1.86679000

0.97793300

1.94466800
-0.12984800
-2.02581100

1.79048900
-0.19674000
-1.79487100
-1.18562700
-2.55471900
-1.94008200
-3.43586200
-2.88512900

0.67833400
0.54740500
0.32538900
0.78828600
-0.43579100
-0.59524200
-0.98916500
-1.60015300
-0.77618200
-1.21720700
-0.02854200
-1.61979900
-2.03780500
-2.37087200
-2.25222900
-1.73329400
-0.23487900
1.44281800
2.52365900
0.09823300
0.64489700



I TOITOITIOOOOIIIIOIOOO0OO0OOIIOIIIOIIIOIIIOIIITIOIITITO

0.06208800
-0.08868100
1.13703200
-0.22353800
-3.01449800
-3.03419500
-2.60519600
-4.05303300
-3.98793000
-4.32825300
-4.70380000
-4.04531800
-1.46112600
-1.68109200
-2.23755600
-0.49580900
1.07270800
1.19616700
1.30615400
1.83242500
-2.98483400
1.18575300
0.86202100
0.29538300
-0.31905900
1.36796900
1.55271200
2.89949500
1.43166100
4.01482800
2.91131900
3.06402200
4.00703200
3.80910100
5.35655600
6.14162500
5.82879500
7.36661300
5.78360500
7.05303500
5.22175900
7.82666900
7.97325400
7.41107600

-3.49470100
-4.27850200
-3.27092100
-3.93658300
-3.37728000
-4.20308000
-3.79607000
-3.07780900
-0.45582300
-0.35859000
-1.10011300
0.54942200
1.13084100
1.05991800
1.77185500
1.64656000
-0.74758700
-0.98461400
0.32013300
-1.32752500
-1.09709400
2.34341600
1.71457200
0.19310000
0.53168100
-0.61432300
-0.46391700
0.11209000
-1.46364900
-0.88652000
0.44042600
1.01836700
-1.19832100
-1.79546100
-0.34008800
0.31200000
-0.42944000
0.85584900
0.38773400
0.11233700
-0.94472000
0.75759000
1.36006700
0.02496700

54

-1.41551800
-2.17697100
-1.38253200
-0.44774800
-1.12621000
-1.85719500
-0.19227000
-0.93455300
-2.08554600
-3.12968400
-1.55840000
-1.63789900
-2.97245700
-4.05198300
-2.52694000
-2.87167200
-2.67379800
-3.74427300
-2.55808200
-2.12988100
2.21520600
0.68200700
-0.90981700
2.12429700
3.08885000
2.13344000
0.69502100
0.38599800
0.23255500
0.62236600
-0.66958600
0.99805600
1.68199200
0.02584100
0.26163600
1.20627300
-1.04396200
0.85814000
2.23972100
-1.39610500
-1.79847100
-0.44479900
1.61683000
-2.42668000



ITTITOOOIT

INT-2

pzd

h

TOIIIOIIIOIIITIOOOOOCOTOOOOOOIOIOIIOIIOON

8.79645000
-2.02724400
-1.07479300
-1.89275600
-1.43804700
-1.21876800
-2.85940700

-2.46992700
-1.56247600
-2.09430600
-3.08519200
-1.39849800
-1.83097500
-0.14274300
0.43124500
0.39659200
1.40062300
-0.29246400
-2.34611500
-2.77469600
-1.61004400
-0.45809600
-0.91017200
-1.47428400
-2.43692400
-3.24647400
0.40716100
0.21250500
-0.11145200
-0.38423100
0.96714700
-0.30208800
-3.18703900
-3.33252500
-2.70958600
-4.18004500
-4.15581500
-4.50702300
-4.85290000
-4.22545700
-1.61550000
-1.89849200

1.18282900
-1.86457000
-1.90889900
-2.82414500
-3.76743400
-2.36873400
-3.01001700

0.92776300
3.16149300
4.44847600
4.57466900
5.53496300
6.53747500
5.33698900
6.18504800
4.06627200
3.92567000
2.94994700
-2.66850400
-1.71717900
-1.17501100
-1.86335400
-2.76784900
-0.64410100
2.09283100
2.31793800
1.62893700
0.58161000
-3.71595800
-4.75206100
-3.60375800
-3.60112000
-3.50569200
-4.49784000
-3.68012100
-3.07116500
-1.31101900
-1.80930100
-1.56955000
-0.22742600
-0.22551400
-0.75559100

55

-0.71979300
2.24840200
1.40799500
3.38784300
3.06006300
4.12990100
3.86993100

-0.19067800
-0.10409600
-0.03749300
0.40900200
-0.52111500
-0.46480000
-1.07214000
-1.45697100
-1.12470800
-1.54016900
-0.65725300
0.77715900
-1.73228100
2.35156700
-1.82783300
-0.85025500
-0.17369900
0.44199800
1.33970700
-0.79730100
0.26403500
-0.05382100
-0.31409500
-0.22502600
1.02581500
0.09405400
-0.36700200
1.07026900
0.26663500
-2.03715500
-2.95603900
-1.22941400
-2.21486600
-3.47862800
-4.40428000



T TITOOOIIITOIOIOOOOIIIIOIOOOOOIIOIIIOIXI

TS-2a

OITO0OZ2

-2.34779700
-0.62918400
0.91515900
1.01626800
1.16666500
1.66864900
-3.25765500
1.48533800
0.15051900
0.17280100
-0.45471300
1.19009100
1.39008600
2.78334900
1.18416300
3.80784000
2.83832700
3.01569900
3.76042000
3.53803100
5.19289600
6.01310400
5.67185200
7.27873200
5.64989600
6.93654100
5.03625000
7.74488300
7.91228800
7.29843700
8.74657500
-2.10096100
-1.13125900
-1.65540500
-1.02109900
-1.03904200
-2.51333300

-2.72352100
-1.72939200
-2.12685700
-3.07080900
-1.37073700

0.58230200
0.22431100
-1.71252500
-2.27013800
-0.66597800
-2.11069900
-0.96926300
1.85914000
1.19562900
0.95875000
1.66339600
0.16938400
-0.29494300
0.00775400
-1.38110400
-0.88672700
-0.11631800
1.06875700
-0.74171400
-1.94260400
-0.62330000
0.30624600
-1.26663000
0.58264700
0.82018600
-0.99376400
-2.00473600
-0.06687700
1.31350700
-1.51602500
0.14698600
-1.24910600
-1.24824600
-1.61478300
-2.51195800
-0.79512600
-1.77385600

0.75391900
3.00877500
4.34080900
4.60937700
5.30080700

56

-3.33642700
-3.65257700
-2.33731700
-3.28391500
-2.56273500
-1.64408300
2.32922500
-0.88121400
-1.78278400
1.71305500
2.44098700
2.07423800
0.70489800
0.24966400
0.68336400
0.91845500
-0.84703000
0.45739000
2.01239800
0.72831600
0.42664800
1.05676300
-0.70997300
0.56744500
1.95444700
-1.20194700
-1.21435300
-0.56384800
1.07958900
-2.09308800
-0.94840400
2.58402600
1.74433700
3.96604800
3.95072000
4.36710100
4.63026500

0.37423000
-0.09864000
-0.14405800

0.33661100
-0.78992800



h

OO0 O0OOIITOIIIOIIITOIIIOIIIOIIIIOOOOOZTOOOOOOIOIO™I

-1.71623500
-0.18716100
0.41415500
0.23044400
1.16760600
-0.52052900
-1.57945200
-2.71595900
-2.25520900
-0.81136800
-0.42481100
-1.34282500
-2.67951000
-3.54056600
0.05905900
0.30711800
0.93278000
1.09971000
1.71344600
1.09627600
-1.62956800
-1.63858400
-0.73776200
-2.52323400
-4.13500400
-4.71985300
-4.28334900
-4.56307300
-3.10402000
-3.50986600
-3.95967300
-2.55131300
0.05058700
0.03790400
-0.29624500
1.09771500
-3.25059100
0.73381700
-1.27413300
0.18863300
-0.46886900
1.24478500
1.45631100
2.81447100

6.33812800
4.94532900
5.69417900
3.62903600
3.33420300
2.66848000
-2.85631500
-2.09887400
-1.29436600
-1.48366100
-2.46581000
-0.45964400
2.04689000
2.56639900
1.31567900
0.62717100
-3.01538700
-3.85864100
-2.26952400
-3.39685500
-3.90076000
-4.88465700
-3.88440200
-3.83819700
-2.25466500
-2.56650900
-2.99989900
-1.30270700
-0.50990800
-1.17177900
-0.06616400
0.29595200
-0.90654600
-1.57170600
0.08092000
-0.82452500
-1.64992400
1.06525700
0.70751400
1.01679000
1.71789000
0.27515900
-0.23824500
0.07080100

57

-0.81807800
-1.41402300
-1.93638200
-1.38084400
-1.86457300
-0.71148600
-0.61098500
-1.11595800
-2.16673100
-2.26115200
-1.31445400
-0.33243300
0.57113500
1.31505500
-0.65882100
0.52588800
-1.14042900
-1.83124400
-1.35461900
-0.12249300
0.41180200
-0.09008900
1.05394800
1.04260200
-0.74969800
-1.63014600
0.04044800
-0.39610900
-3.08064900
-3.86413300
-2.55250300
-3.58125000
-3.30221800
-4.18263300
-3.63686400
-2.97761000
2.30958900
-1.49377000
-1.37512700
1.95764400
2.65225100
2.32001600
0.96511200
0.43008600



IITIITOO0OOIIITIOIOIOOOOIIIIOI

TS-2b

pzd

h

OCOTZOOOOOOIOIOIOIOON

1.24184600
3.90637800
2.79199000
3.01314600
3.92284100
3.65701300
5.24850200
6.09083200
5.66164300
7.31502700
5.77876600
6.88453800
5.00837100
7.71583700
7.96748500
7.19590900
8.68435000
-2.07449500
-1.14636200
-1.60718000
-0.59259200
-1.56638500
-2.30008000

-2.45125100
-2.14717500
-2.98681100
-4.05899600
-2.48801100
-3.16024700
-1.12199500
-0.69986200
-0.28622300
0.79384800
-0.76525600
-1.46778000
-2.04930600
-1.00683800
0.23866300
-0.05111600
-1.14575100
-2.84963000
-3.88207400

-1.32067000
-0.74478000
-0.14120300
1.15380200
-0.52366500
-1.81779800
-0.47749100
0.49011400
-1.15862300
0.76778900
1.03316600
-0.88410500
-1.92772000
0.08137400
1.52887800
-1.43526000
0.29726900
-1.42527200
-1.24845700
-1.32746900
-1.73017200
-0.26185600
-1.83212100

0.51628700
2.87250100
3.96204200
3.83125000
5.17045000
6.01401600
5.29887200
6.24891200
4.22783500
4.34871300
2.98868900
-2.92228800
-2.06588700
-1.25386100
-1.68159600
-2.68654400
-0.79511400
1.63895800
1.67502300

58

0.98131100
1.09027000
-0.65691600
0.53184800
2.17200400
0.99046400
0.49290200
1.02906900
-0.64753100
0.44423000
1.92878600
-1.23499500
-1.07771500
-0.69010400
0.88327900
-2.12780800
-1.15088200
2.55457900
1.70400600
3.98215300
4.10897600
4.26149300
4.66872100

-0.36792700
-0.23723100
-0.47135900
-0.29641100
-0.90322700
-1.08148600
-1.10194500
-1.44213900
-0.85991900
-1.00064000
-0.43619100
-0.89000400
-1.86276700
-2.39592400
-1.81377600
-0.86241300
-0.20933000
0.20330600
0.86691300



OIOIO0O0O0O0OO0OIIIITIOIOOO0OO0OOIIOIIIONOIIIOIIIOIIIOIIIOOON

0.28484300
0.09081400
0.89211700
0.85581600
1.92871600
0.63449100
-2.14548000
-1.97571900
-1.73643400
-3.22942400
-3.47257800
-3.68640500
-4.12409900
-3.75774100
-1.14218900
-1.02886500
-2.12649700
-0.37062100
1.56098800
1.75813200
1.61195300
2.37417300
-3.33095700
1.19504500
0.55603000
-0.35039500
-1.42436700
0.61139000
1.26725300
2.62333600
1.11157800
3.70180300
2.63087800
2.82825200
3.69015600
3.46795200
5.05141900
5.54781300
5.81465700
6.77729700
4.95726000
7.04414800
5.43709400
7.52923200

1.92932700
0.75999600
-3.46590700
-4.52968600
-3.12601200
-3.42020900
-3.96000800
-4.94479500
-4.02303900
-3.80473900
-2.00234600
-2.71356200
-2.26260200
-1.00315800
-0.26238100
-0.75653400
0.22486400
0.51847500
-1.24891700
-1.73056000
-0.16435400
-1.53764900
-1.53063400
2.47157900
1.54530500
1.07816000
1.56752300
0.82340500
-0.00715900
0.33292100
-0.93881600
-0.65255100
0.54567000
1.33410700
-0.77121900
-1.64254500
-0.20986300
-0.62241300
0.66534200
-0.17725900
-1.31721800
1.11298900
0.99625000
0.69304100

59

-0.25998700
0.66529900
-0.03986900
-0.32715800
-0.15703700
1.03069400
-0.09806500
-0.56628000
0.92169800
-0.03340900
-2.22912900
-3.04392100
-1.38336400
-2.58500400
-3.47724000
-4.45705100
-3.46810200
-3.41710800
-2.28978000
-3.26294100
-2.46795100
-1.61108700
1.79860600
0.06839100
-1.26502000
2.09367700
2.38991400
2.86691200
0.95409300
0.54397700
1.51479100
0.93664900
-0.54389700
0.97938600
2.03384400
0.50798000
0.47515900
-0.75627300
1.24045500
-1.21137600
-1.36653500
0.78840100
2.21502900
-0.43947100



I TTOOOIITTIT

TS-2¢

pzd

h

TITIOIIITOIIITIOOOO0OOITOOOOOOIOIOIOIIOO

7.15513900
7.63471500
8.50294900
-2.23678100
-1.11417900
-2.06956300
-2.98744400
-1.22186200
-1.84444000

-2.07860700
-1.96924200
-2.74613100
-3.82403600
-2.17953800
-2.80559900
-0.80881500
-0.33467300
-0.03206300

1.05047400
-0.58245900
-2.11285700
-2.63998800
-1.55062500
-0.35197800
-0.69552600
-1.36483200
-2.71603300
-3.94724600

0.36272900

0.22238000

0.21751500

0.20730900

1.25747000
-0.07917100
-2.89758900
-3.06183900
-2.37599300
-3.88339800
-4.06526200
-4.52626200
-4.62043400
-4.21416800

-0.51832200
1.79664600
1.04288700

1.56919900

-1.38883800

-1.80746900

-2.21455400

-2.47481100

-0.84282700

0.64708300
2.93820200
4.09407900
3.99904600
5.32862300
6.22422700
5.41734600
6.38696200
4.27606300
4.35599600
3.01932500
-2.58089900
-1.41067000
-0.66380100
-1.42449300
-2.58818400
-0.83483000
1.69471600
1.65992100
1.85999200
0.68920800
-3.64485200
-4.50772400
-3.29600700
-4.01973100
-3.65949900
-4.47473200
-4.09640000
-3.31247500
-1.05394000
-1.59411800
-1.33639800
0.01945200

60

-2.18013600
1.40597700
-0.79499100
2.32804100
1.73010300
3.79596400
4.23678700
4.00043300
4.27796700

0.79413200
-0.02942800
-0.09169000

0.06472900
-0.32518600
-0.36048500
-0.49875500
-0.67671300
-0.44294100

-0.59071200
-0.20862000
-1.16908300
-1.81050700
-2.32698000
-2.07890600
-1.35955400
-0.12046500

0.28092200

0.23011300
-0.29261400

0.61503500
-0.88397800
-1.57071100
-0.81278500

0.10689700
-0.54220200
-1.26789700

0.32139900
-0.20599500
-1.90403000
-2.74843400
-0.99845200
-2.08013000



T TITOOOIIITOIOIOOOOIIIIOIIOOOOOIIOIIIOIIIO

TS-2d

-1.66436000
-2.00103500
-2.40071100
-0.70718800
0.99202900
1.09319800
1.18118800
1.78660200
-3.01596600
1.38186000
0.36838700
0.27413900
-0.28229100
1.32972000
1.42795000
2.77608200
1.22562400
3.84010800
2.72652300
3.04537100
3.85843600
3.55889100
5.19286400
6.06397300
5.58978800
7.30043300
5.76492300
6.82488300
4.91465400
7.68498800
7.97524400
7.12263200
8.66344300
-1.82703700
-0.90518300
-1.31389500
-1.02225300
-2.07776700
-0.41104000

-2.39440900
-1.94432100
-2.99607900

0.57243200
0.33613400
1.27126100
1.10302100
-1.08228300
-1.43442600
-0.00013400
-1.56964100
-1.92133300
2.27019200
1.48824800
0.83305300
1.42724300
0.02179300
-0.24632600
0.15812000
-1.31864500
-0.86455700
0.28947200
1.14297100
-1.01628600
-1.83643200
-0.45355300
0.24255800
-0.71341800
0.66270800
0.45289400
-0.29509900
-1.26551600
0.39521000
1.20385200
-0.51505700
0.72313500
-1.80912500
-1.51094100
-2.01138300
-1.03306600
-2.45543400
-2.63764400

0.56162300
2.45832800
3.34332000

61

-3.12745500
-4.15079300
-2.70101300
-3.21829200
-2.56784700
-3.60867700
-2.58615300
-1.98564300
2.34628500
-0.15501000
-1.33399800
2.10576800
2.97142000
2.25910800
0.83380800
0.31695400
0.66448200
0.66449200
-0.77838300
0.74038300
1.75843000
0.21605600
0.18459400
1.01551100
-1.12318800
0.55516300
2.04898700
-1.58728400
-1.78861500
-0.74834900
1.22565100
-2.61719600
-1.11177900
2.60349000
1.77485000
3.99955600
4.41434400
4.65011100
4.00403000

0.84817000
0.80040500
0.53507600



h

O0OOITITOIIIOIIIOIIIOIIIOIIIOOOOOITOOOOOOIOIIOIOI

-4.00378700
-2.73964300
-3.55040700
-1.43965700
-1.22073600
-0.42801100
0.58104800
-0.65137500
-2.34768100
-2.75804000
-1.58625200
-0.46876800
-0.91392400
-1.30714000
-2.33289000
-2.61712200
0.51424700
0.36747100
-0.12022700
-0.36873800
0.96058300
-0.33004900
-3.17171900
-3.30531400
-2.69304000
-4.17080200
-4.11915100
-4.54954400
-4.79964600
-4.11672300
-1.60153100
-1.88808000
-2.32905600
-0.61535000
0.89010000
0.95217700
1.15738000
1.66147800
-3.05658100
1.24108200
1.01264900
0.43620100
-0.10545200
1.46984900

3.09162000
4.53801000
5.24783400
4.82380100
5.76495300
3.90793400
4.12763300
2.67534400
-1.93491400
-0.61787300
0.15954800
-0.72500700
-1.99863700
-0.59051900
1.34960600
1.52684800
1.73584200
0.27133300
-3.23772000
-3.93019100
-3.04673700
-3.77354700
-3.08816800
-3.79233800
-3.65714200
-2.78641900
-0.05927600
0.10142600
-0.72067400
0.91940000
1.57082000
1.64438400
2.17022500
2.04551100
-0.36744500
-0.45004200
0.66868900
-1.03333200
-1.49971600
2.19216100
1.82805100
-0.18619600
0.01412100
-1.02358400

62

0.87948500
-0.09227900
-0.27400700
-0.49665300
-1.00851100
-0.29720300

-0.66338900

0.31611700
-1.75765700
-2.00229200
-2.33203200

-2.38184200
-1.96451400
-0.28441400

1.84047700

2.99287100

0.36716500

0.66775500

-1.85477400
-2.67672000
-1.90155100
-0.91529800
-1.34778200
-2.18659500
-0.53445000
-1.00628500
-1.89813800
-2.90059300
-1.34533300
-1.39232300
-2.76365000
-3.82732900
-2.19433100
-2.66008500
-2.83231400
-3.93077200
-2.57751400
-2.41954400
2.08238600

1.07342700
-0.61605000

2.08607400

3.13037800

1.90171800



TITITOOOIIITIOIOIOOOOIIIIOIOON

pzd

TDOOOOOOITIOIOIOITOON

1.60241000
2.94913300
1.44314400
4.06826600
2.95011200
3.12361700
4.04940000
3.88137500
5.40819200
6.18943700
5.87960800
7.40921500
5.83120000
7.09818300
5.27621100
7.86785400
8.01187100
7.45541700
8.83303400
-2.03728100
-1.09931800
-1.78095000
-1.31920300
-1.06579300
-2.70125400

-1.98161500
-1.09765300
-1.72645400
-2.68007000
-1.18912700
-1.71198500

0.00106400

0.42962900

0.65291700

1.60947100

0.13512800
-2.59088500
-3.50431200
-2.75332900
-1.36067800
-1.28142700
-2.21213600

-0.62291200
-0.01784000
-1.52211600
-1.03547800
0.44686800
0.79986600
-1.50970100
-1.84050000
-0.42303500
0.03054900
-0.24243700
0.64466000
-0.10604100
0.37104000
-0.59904400
0.81688800
0.99076600
0.49844200
1.29837200
-2.17457100
-2.02865400
-3.26038300
-4.13805700
-2.87989800
-3.55135600

1.09603300
3.33128500
4.56938100
4.65753400
5.66330600
6.62377900
5.53134400
6.38665300
4.31451200
4.21393300
3.21005600
-3.04092400
-2.27180300
-1.50806900
-1.77515100
-2.75681300
-0.90610400

63

0.50662300
0.25855000
-0.11987000
0.34964400
-0.74488600
0.98301000
1.34698400
-0.38572000
0.10560300
1.16286900
-1.19092900
0.93290000
2.19000600
-1.42518100
-2.03459800
-0.36268700
1.77846900
-2.45187800
-0.54608000
2.02059300
1.17244200
3.02117800
2.54928700
3.76745600
3.54203600

-0.43149900
-0.31309300
-0.28483900
0.24592900
-0.93691400
-0.91612600
-1.63428800
-2.16392900
-1.65304400
-2.17671300
-0.97562100
-0.23834100
-1.03720700
-1.97111700
-1.73763300
-0.69560700
0.02067300



OZTO0O0OO0O0O0OIIITITOIOOO0OO0OOIIOIIIOIIIOIIIOIIIOIIIOOOOON

-1.83467200
-2.31167000
0.93546100
1.22685700
-0.05251900
-0.06356000
0.85501700
0.02662900
-2.95692000
-3.19209500
-2.13769600
-3.84419400
-4.96790700
-5.39140100
-5.25736600
-5.44689000
-3.29067200
-3.40320400
-4.27663200
-2.62181800
-0.23745400
-0.06856400
-0.43439900
0.70385400
-3.28434800
1.37885900
-1.53014800
1.08880500
0.60335900
1.86266400
2.05110500
3.49209000
1.54772600
4.25672600
3.53495300
3.95574500
4.19541000
3.76449900
5.68720700
6.65536400
6.07346700
7.97357500
6.36605200
7.39063600

2.17302100
2.33320300
1.98851600
1.27528800
-3.34445500
-4.43769500
-2.95810800
-3.16501700
-3.99596700
-4.98737000
-4.13359400
-3.66471900
-2.28494000
-3.18645300
-2.31548800
-1.41129900
-0.61213700
-1.15911100
-0.20923800
0.23811400
-1.23027900
-1.83245900
-0.19965700
-1.22374600
-0.41758900
1.66737800
1.20814000
1.43949800
2.17991400
0.36827900
0.06672000
0.04593000
-0.89641000
-1.10675100
-0.01811200
1.01095300
-1.03273200
-2.05621000
-1.12796400
-0.43242800
-1.79965100
-0.41099100
0.09996200
-1.78118400

64

0.31598200
1.44042500
-0.95625800
0.12831600
-0.13122500
-0.27004200
-0.61226500
0.95252500
0.82448000
0.40128700
1.54451400
1.38333700
-0.87763300
-1.35134900
0.18326200
-1.33807500
-3.01139200
-3.96226700
-2.74378900
-3.20837500
-2.52506500
-3.43383900
-2.85746400
-1.95595500
1.82477900
-1.91045200
-1.33567600
1.58689200
2.38132800
1.85930600
0.43773900
0.04703400
0.22458100
0.66431000
-1.05643200
0.32285600
1.76457900
0.38415300
0.23582400
0.95224100
-0.91935700
0.52909900
1.86602100
-1.34549800



TITTITOOOIIIOII

INT-3b

pzd

h

TOIIIOIIITOOOOOTXTOOOOOOIOIOIOIOON

5.32162800
8.34573800
8.72232000
7.67662900
9.38767900
-2.20078400
-1.13400500
-2.16459100
-1.93972100
-1.36199600
-3.12547000

-1.95099600
-2.72318600
-3.81022600
-4.72243500
-3.74597800
-4.60691300
-2.58264800
-2.51450300
-1.50108900
-0.58839000
-1.53679200
-0.39567200
-1.01252600
-0.05017100

1.16704800

0.93670200
-0.57266900
-2.94351100
-4.06466800
-0.27760000
-0.29316000

1.90989500

1.92655900

2.92912800

1.64792500
-0.97294200
-0.55929200
-0.69013400
-2.06439800
-2.35750800
-2.31146700

-2.35529600
-1.08583300
0.13766100
-2.32140700
-1.07346200
-0.22196900
-0.48271800
0.26475500
-0.57646200
1.00471700
0.70114700

0.13738700
2.41673300
3.14347400
2.60179000
4.51610600
5.07774400
5.17099600
6.25977300
4.45116000
4.98066900
3.06570600
-3.16053600
-2.53744800
-1.66121900
-1.79394400
-2.67321000
-0.94558500
0.95885400
0.47473400
2.37888200
1.20757800
-3.18662300
-4.28811900
-2.83602100
-2.89981500
-4.20520600
-5.17825400
-4.07354400
-4.26533000
-2.82491400
-3.71200900

65

-1.49256700
-0.62198400
1.10905600
-2.25346000
-0.95518700
2.42290400
1.81443300
3.81986300
4.49234400
3.94026200
4.11587200

-0.86848500
-0.70943200
-1.18663000
-1.45324800
-1.30405700
-1.67618500
-0.93474500
-1.01449800
-0.46157400
-0.16721100
-0.35049200
-0.55095700
-1.68176200
-2.26697500
-1.53172700
-0.43361100
-0.18056200
-0.57616900
-0.42718500
0.07120700
0.99643700
0.54992000
0.52333700
0.34624400
1.58086100
0.30285900
-0.01425700
1.35769600
0.22543600
-2.20040800
-2.85435000



T TITOOOIIITIOIOIOOOOIIIIOIOOOOOIIOIIIOIIIOIIT

INT-3c

-3.07004300
-2.75458800
-0.24383400
-0.05667100
-1.27259500
0.44194700
2.45624100
2.83639700
2.37259500
3.21307600
-3.18811000
0.35620000
0.30139400
-1.30536000
-2.50643800
-0.76002000
0.86988900
2.17148200
0.91520100
3.36456500
2.21984900
2.23694600
3.30780400
3.30270700
4.67520000
5.05525700
5.54443600
6.25995400
4.39533800
6.75257200
5.26914200
7.11276500
6.54083300
7.42157900
8.06594000
-2.31813900
-1.11895700
-2.55763200
-1.70923200
-2.65443000
-3.48103300

-0.90129000

-3.04661000
-1.99421800
-0.87548500
-1.50761600
-0.49856600
-0.01945500
-1.25244200
-1.90864700
-0.24943900
-1.23974200
-2.00211100
3.13729600
2.11244300
1.16881100
1.21701200
1.17602600
0.46560800
0.91581600
-0.22126000
0.25904300
0.81620600
2.01114500
0.46388400
-0.83676400
0.73742400
2.07095900
-0.13286800
2.51985200
2.77203400
0.31197600
-1.19050300
1.64206700
3.57126600
-0.39228000
1.99720800
-1.78809500
-1.41074200
-1.92379000
-2.40791700
-0.91453600
-2.48211600

0.82354300

66

-1.39504000
-2.79742300
-3.49503000
-4.37910900
-3.57482500
-3.54855100
-1.96966900
-2.77243400
-2.41072500
-1.17738300
1.15881800
0.57592500
-0.83364700
2.15103800
1.88814600
3.25884000
1.11036300
0.54491700
1.96761400
1.21026300
0.55297200
0.70749900
2.29565600
1.10788400
0.67300700
0.80384600
0.02465700
0.29256400
1.32845000
-0.48714100
-0.07058900
-0.35823800
0.40848500
-0.99129500
-0.76095900
1.97924900
1.71687300
3.45136600
3.95313900
3.88146200
3.64731600

-0.19427000



h

OIITOIIITIOIIIOIIITIOIIIOIIIOOOOCOITOOOOOOIOIIOIOIIOON

-1.61938200
-2.68211600
-3.68798400
-2.46523400
-3.30399900
-1.18026800
-1.00452800
-0.11681000
0.89814600
-0.33114600
-2.20003000
-2.57076000
-1.38720400
-0.27275500
-0.78682800
-1.47884500
-1.85413300
-2.92863600
0.76571800
0.26006100
0.04214000
0.47885100
0.88306600
-0.53474600
-3.15348200
-3.49723600
-2.70714400
-4.04910400
-3.96335900
-4.42601900
-4.57012500
-4.04125200
-1.26707900
-0.88742900
-2.22483300
-0.55119200
1.14643000
1.44345300
1.33465900
1.81313100
-2.93600700
1.61077700
1.15512900
0.20365500

3.07103400
3.92894600
3.51193900
5.28925300
5.96490400
5.79500900
6.87140500
4.94325200
5.34213500
3.57950600
-3.17509900
-2.27673000
-1.75848900
-2.29928100
-3.20152300
-1.17500200
1.60433500
1.15213700
2.60655800
1.41553900
-3.93604900
-4.83228800
-3.32071200
-4.26516700
-3.94692600
-4.84404500
-4.28577700
-3.35626500
-1.98257200
-2.87557600
-1.72351000
-1.15920200
-0.84254800
-1.39425000
-0.38714600
-0.03119400
-2.10207200
-2.80527400
-1.08658100
-2.28139200
-0.39829900
3.09344900
2.22873900
1.71026000

67

-0.78024800
-1.03128900
-1.13545500
-1.14333800
-1.33440500
-1.01523100
-1.10353200
-0.76999500
-0.66810600
-0.64568200
-0.35832400
-1.42632300
-2.00720000
-1.28749900
-0.29781500
0.08595800
-0.69471100
-1.10328000
-0.41038700
0.37826200
0.67271400
0.20193900
1.02924000
1.54696000
0.46056500
-0.08164700
1.40502700
0.70398900
-1.80379500
-2.25655700
-0.92215200
-2.52417900
-3.15678000
-4.03294400
-3.43596700
-2.95374900
-1.63776300
-2.43505600
-2.01722000
-0.78145600
1.48057800
0.10273200
-1.37754500
1.87955900



TTITOOOIIITOIOIOOOOIIIIOIOOOO

INT-3d

pzd

OO0O0O0O0O0O0OIOIOIOIOON

-0.48245800
1.28127400
1.38025500
2.77075300
1.02269900
3.70878400
2.73441500
3.16513500
3.79376100
3.26435700
5.06185300
6.11387000
5.28079000
7.35295100
5.95621200
6.51699000
4.45822600
7.55851200
8.17092900
6.67210200
8.53777700

-2.09457800

-0.95527700

-2.43098000

-3.02402600

-1.52778400

-3.04923100

-2.15316500
-1.90044800
-2.96194100
-3.95668000
-2.75510600
-3.59171500
-1.48436700
-1.30372000
-0.44335100

0.55975700
-0.61600200
-2.39552500
-2.74064300
-1.53631500
-0.45672700

2.31575600
0.98107700
0.45185300
0.54589700
-0.59381000
-0.44286500
0.35227800
1.57022400
-0.20206300
-1.45489200
-0.45046800
0.28098200
-1.15696600
0.30357000
0.84172400
-1.13781800
-1.74049000
-0.40613400
0.88154800
-1.70549400
-0.39214000
-0.44844700
-0.90467700
-0.00550300
-0.79038400
0.17188300
0.90070100

0.96770400
2.31065200
3.20658200
2.86123300
4.50728700
5.21059800
4.90439400
5.93006900
3.99876100
4.31535400
2.67752000
-1.80509400
-0.46984000
0.27668700
-0.64437700

68

2.63907100
2.17898300
0.81870900
0.28589100
0.83567700
0.95121800
0.80219900
0.40700600
2.02553100
0.89211000
0.31965700
0.85825300
-0.85916200
0.23922200
1.78693900
-1.48061200
-1.29382600
-0.93198200
0.68046100
-2.40335600
-1.41961200
2.40408100
2.13403700
3.77539500
4.26805200
4.37073100
3.74692700

0.98620000
0.60282600
0.57259500
0.87335000
0.16060000
0.13805800
-0.22448200
-0.55741000
-0.19051900
-0.49905100
0.21699200
-1.79682900
-2.00693400
-2.31812300
-2.35802200



OOOOIIIIOIOOOOOIIOIIIOIIIOIIIOIIIOIIIOOOOO@O

-0.95831200
-1.25501600
-2.68914800
-3.19024300
0.57984800
0.43489600
-0.20324200
-0.38025700
0.88055400
-0.51429700
-3.28073900
-3.40959400
-2.86498900
-4.28079300
-4.07640900
-4.46107100
-4.80992900
-4.04440600
-1.51790500
-1.76214700
-2.25920500
-0.53237900
0.92037900
1.00159000
1.21557300
1.66330400
-3.26088300
1.37530800
0.96779700
0.45238500
-0.12983600
1.48359500
1.66142100
3.02193700
1.50977800
4.12421200
3.04559500
3.19512600
4.08417100
3.93210700
5.47912600
6.20504400
6.02379200
7.44147600

-1.90968300
-0.52974400
0.72557300
0.48577700
1.77414900
0.33805800
-3.17263300
-3.80621100
-3.00596300
-3.76005400
-2.94934500
-3.57634900
-3.60436000
-2.63458500
0.14646500
0.41394900
-0.51932400
1.08342900
1.67401800
1.71184400
2.30287700
2.14675700
-0.36973200
-0.57380900
0.67894900
-1.01088100
-1.88923200
2.27346400
1.79591300
0.02169900
0.32114900
-0.83869400
-0.57464000
-0.01117300
-1.52966400
-1.03224700
0.36783000
0.86254000
-1.41197300
-1.89861400
-0.47165800
0.17424200
-0.53807200
0.73457700

69

-1.94097600
-0.30653200
2.05869700
3.06456700
0.17851000
0.59434100
-1.83641200
-2.72256600
-1.76397100
-0.95855000
-1.50342900
-2.40269700
-0.72188800
-1.17675600
-1.90313200
-2.90181700
-1.42930700
-1.32242300
-2.79787600
-3.87429600
-2.28106200
-2.67520300
-2.80961300
-3.89103800
-2.66368600
-2.31298500
1.56825800
0.77211800
-0.85750000
2.04618300
3.04817700
1.98172000
0.55557400
0.28573300
0.01365900
0.48345100
-0.75328400
0.94171700
1.52019700
-0.17660500
0.20121400
1.19678000
-1.07682100
0.92448900



TITITOOOIIITOIOOIT

INT-4b

pzd

h

I T IOIIITOOO0OOTXTOOOOOOIOIOIOIOON

5.79076200
7.26042700
5.46500800
7.97399800
7.99982400
7.67514200
8.95289300
-2.13062800
-1.06882100
-1.89856800
-1.18315400
-1.44843300
-2.83550900

-1.72707300
-0.68308900
-1.02643800
-2.06294100
-0.08327200
-0.36488700
1.22382600
1.98529800
1.56928500
2.60375400
0.63442900
-2.72866000
-2.59083600
-1.20524700
-0.49887500
-1.45538100
-1.90185400
-1.80268500
-2.95878700
1.10096400
1.33321600
-1.12476800
-0.76012000
-0.33186100
-1.99765700
-3.99325400
-4.12885600
-4.00043500
-4.86257300

0.23154200
0.02004800
-1.04799800
0.65886600
1.23391300
-0.04931900
1.09746700
-2.28172800
-1.89042800
-3.26017300
-4.03899900
-2.72660700
-3.72214300

0.89033700
3.09943400
4.45100800
4.73700600
5.40824600
6.46360500
5.01776800
5.76587700
3.68187900
3.37692900
2.70009800
-2.62987100
-2.26953100
-2.06290700
-2.24783500
-2.57507800
-0.51335700
2.19386700
2.60578900
1.27758000
0.74201200
-2.87832000
-3.91466900
-2.22042400
-2.77343000
-2.95271500
-4.04708700
-2.61489400
-2.52264900

70

2.21031800
-1.35318300
-1.87071200
-0.35231100

1.72250300
-2.36365200
-0.56776000

1.83609900
1.25761000
2.94654900
2.64847300
3.79836200
3.28154500

-1.29564200
-0.68239100
-0.62576500
-0.82513300
-0.32386000
-0.28358200
-0.07449100
0.16497000
-0.13232400
0.06542700
-0.44099800
0.13715700
-1.24957200
-1.50545300
-0.28417300
0.74287500
-0.05851600
-0.99070300
-1.10903700
-0.46078900
0.91506000
2.14658900
2.24169800
2.53183700
2.80408000
0.81343100
0.82526200
1.85858300
0.29912700



T TITOOOIIITOIOIOOOOIIIIOIOOOOOIIOIIIOIIIOIIIO

-3.63564900
-3.50900900
-4.64785000
-3.56044300
-0.62001800
-0.46831600
-1.28272700
0.35653900
0.96250600
1.29157300
1.48683600
1.28852400
-4.89008400
2.03537400
0.38927200
0.15838200
0.32467300
-1.01329100
2.53308700
3.85301000
2.53901700
4.50965800
3.80789900
4.51233600
4.54112600
3.87876000
5.88712800
6.98486500
6.09758000
8.25804800
6.83483100
7.36943600
5.24173200
8.45448000
9.11066200
7.51599900
9.46079500
-4.63830400
-3.49026700
-5.69372100
-6.09987200
-5.29000800
-6.51603900

-2.29777000
-3.20368900
-2.31628400
-1.43429400
-1.75375800
-2.68720600
-1.11376600
-1.25831500
-2.31415500
-3.32324900
-1.59749100
-2.16168300
0.11969500
1.23611500
0.63908800
0.60625800
0.43593600
0.74769300
0.39564600
0.39752300
0.02459500
-0.97688500
0.75179100
1.11211900
-1.32310300
-1.69927800
-0.96770200
-0.63994100
-1.23733600
-0.58779000
-0.42839100
-1.18593100
-1.50011200
-0.86061600
-0.33554200
-1.40725700
-0.82390900
0.28506600
0.10890100
0.68687900
-0.22527200
1.31295700
1.20579400

71

-2.28712900
-2.90391900
-1.86728700
-2.96312800
-2.81885400
-3.38580000
-3.41822600
-2.73092500
-0.13934200
-0.44396100
-0.78733900
0.89704600
-0.67677100
-1.04241300
-1.00897300
1.83017900
3.02930600
1.32794700
1.39983600
0.73859800
2.43528800
0.78675400
-0.30540600
1.27111200
1.83563700
0.23699800
0.21061400
0.99987200
-1.13733800
0.45904400
2.06525100
-1.68233700
-1.77046100
-0.88515100
1.09725800
-2.74412900
-1.31291100
0.50145500
1.05001800
1.48529700
1.95008600
2.29096300
0.97743800



TOIIITOIIIOIIIOIIITIOIIIOOOOOD

OOOOOOIOIOIOIOOZ(T)

=

w

1.53502400
2.71289000
3.89951300
4.74686900
4.01882600
4.96015500
2.93722200
3.04510200
1.73648200
0.87632900
1.56939500
0.71488200
1.91488100
1.50232800
0.06938100
-0.40727600
0.82453100
2.60459800
3.27541300
0.15021500
-0.10063600
-1.81348400
-2.08658300
-2.51747900
-2.00373700
0.65023000
0.23125100
-0.00765700
1.63510200
3.31386300
3.72665100
3.41143600
3.97125500
2.39644700
2.63581200
3.35606600
1.94752500
-0.77732200
-1.08004000
-0.25554600
-1.70448000
1.28650700
0.08339400

1.29183800
0.65879500
0.42506000
1.10001000
-0.67478700
-0.87615300
-1.55442400
-2.44402700
-1.29674800
-1.95553900
-0.17839600
-1.41006100
-1.96355400
-2.79251400
-2.70943200
-1.95707700
-0.67609200
1.66488000
2.67237100
0.46828700
1.40074600
-1.72592200
-2.33391300
-1.99497300
-0.67514100
-0.55215800
-1.11046000
0.32186200
-0.17782000
-1.79913300
-2.76216000
-1.08519300
-1.44995300
-3.58845000
-4.55744200
-3.07735700
-3.81396700
-3.43993000
-4.42727800
-3.61857700
-2.89190400
2.22838900
0.99932300

72

-0.09233700
1.73088900
2.42007300
2.25607900
3.23915000
3.75742800
3.38566700
4.01442100
2.77347300
2.95057900
1.92895700

-2.20771900
-1.58894600
-0.53627300
-0.44438500
-1.56008500
-0.12478400
0.70515500
0.52493900
1.94640500
0.82566800
-1.94778300
-2.82900100
-1.14613500
-2.22808200
-3.41174100
-4.26670200
-3.25960200
-3.72039100
-2.03670900
-2.38408900
-2.86397000
-1.22255000
0.32575100
-0.14664500
0.50896800
1.30403500

0.52324500

0.13215700

1.47498300

0.75367500

-1.10157300
2.91116500



T TITOOOIIITIOIOIOOOOIIIIOIIOOOOONOT

INT-5

pzd

OO0OOIOIOIOIIOON

-0.62361600
-0.23713600

0.30544500
-1.31168300
-1.32928100
-2.60003300
-1.15231200
-3.79283000
-2.46189300
-2.77065800
-3.94086100
-3.56955900
-5.03798800
-5.79168500
-5.44553700
-6.92156500
-5.48705000
-6.57642000
-4.86686800
-7.31762200
-7.50523900
-6.88609700
-8.21320000

2.17049500

3.09483600

1.82072200

0.74091400

2.31803500

2.19244100

0.93168800
2.22851200
3.41089500
4.36214400
3.33748200
4.24316300
2.08548800
2.05089100
0.93103400
-0.03516600
0.92797300
1.11384600
2.38763400

-0.32268800
2.87383400
3.75434200
2.96507400
1.51619500
0.89118000
1.33809000
1.28003500
-0.20642900
1.16825800
2.37264800
1.05874600
0.56598100
1.01062200
-0.58703000
0.32276600
1.92190000
-1.27697800
-0.94161400
-0.82431900
0.69049300
-2.17752300
-1.36588000
2.15678000
1.40151100
3.14279800
3.32958100
4.09537700
2.79521000

1.56984600

0.37182000
-0.13638500

0.37336000
-1.24667200
-1.66240400
-1.87169900
-2.77041300
-1.34472500
-1.79289400
-0.18888400
-1.18077500
-1.62726700

73

1.97566600
0.97226600
1.56117100
0.17246100
-0.05141500
0.42334600
-1.13072000
-0.42730000
0.40643500
1.48024900
-0.35865500
-1.48694800
-0.01722400
1.06454000
-0.67962100
1.47210300
1.59277100
-0.27572800
-1.54200100
0.80316300
2.32177600
-0.81507800
1.12180400
-2.10693300
-2.11347900
-3.15076000
-3.19393500
-2.91663500
-4.12096300

0.20989800
1.71883200
2.32023900
2.13569300
3.10020800
3.55117500
3.34506600
3.96884700
2.85416100
3.11846100
2.01758000
-2.23277800
-1.81595600



OOIITITITIOIOOO0OO0OOITITOIIIOIIIOIIIOIIIOIIIOOOOOZDOOO

=

2.17367400
0.75427500
0.09745900
1.31101100
2.20564200
3.05742100
-0.21513500
-0.30691600
-1.34837000
-1.58873800
-1.96342000
-1.69554800
0.78660800
0.28059900
0.08662200
1.67128400
3.71134300
4.20106100
3.64104000
4.40577800
3.23703400
3.52493100
4.15089400
2.92459100
0.12479800
0.03325800
0.71193200
-0.88809800
0.87504200
-0.07285000
-1.16110300
-0.73860100
-0.36718200
-1.78806900
-1.53380000
-2.70469500
-1.26208600
-3.85394900
-2.36689700
-3.03938600
-4.19492000
-3.48810700
-4.99256000
-5.93488200

-2.47080900
-2.65530400
-1.85272200
-0.53732500
1.56430200
2.39154700
0.77929100
1.69402300
-1.82264500
-2.48148900
-2.16479600
-0.81375500
-0.30613800
-0.88763100
0.49931300
0.16466000
-1.27059000
-2.14224900
-0.48863400
-0.90333100
-3.17802900
-4.11165200
-2.56895000
-3.45888100
-3.59249500
-4.60022300
-3.70496600
-3.27189700
2.64927100
1.39630900
0.23522800
3.14672000
4.08542200
3.07019200
1.66713100
0.80778000
1.60465800
0.99566300
-0.24513400
1.01821800
2.04567100
0.82585500
0.07389200
0.39122500

74

-0.69088000
-0.51303600
-1.45861100
-0.08132800
0.92820700
0.69904700
2.15932300
0.96420100
-1.76799500
-2.62380200
-0.92170700
-2.04640000
-3.38019100
-4.17088300
-3.09619800
-3.82739200
-2.37138700
-2.84133300
-3.14019900
-1.59672600
0.05124900
-0.46427700
0.13998600
1.06808800
0.43959100
-0.00244000
1.36349700
0.72886800
-0.69021300
3.06879500
2.30014000
1.18771400
1.80817300
0.37347200
0.03633900
0.36836800
-1.03408000
-0.60185500
0.35805600
1.40093500
-0.55903300
-1.63125200
-0.31253000
0.66029600



TOIITIITOOOOOX

TTITOOOIIITOIOIOON

OOOOOOIOIOIOIOOZ?)

=

SN

-5.10716400
-6.96428100
-5.86057000
-6.13630200
-4.37752500
-7.06786300
-7.69969400
-6.21431100
-7.88360300
1.68698900
2.50884200
1.35761100
2.16635500
0.42959300
1.17947800

-2.36882200
-1.22168900
-1.36076400
-2.28459200
-0.38433800
-0.53036100
0.76777400
1.54854400
0.92778000
1.83972300
-0.03857700
-2.38526700
-2.64584100
-1.43174200
-0.40963100
-1.02949400
-1.19776500
-2.42236400
-3.40195500
0.32789500
0.46715400
-0.40970300
-0.92479100
0.64987100
-0.49016000
-3.38753000
-3.59406200

-1.14461200
-0.48321500
1.35068400
-2.02175600
-1.40345700
-1.69384200
-0.21349500
-2.97275700
-2.38369600
2.55933800
1.71085600
3.65366200
3.76997300
3.39635900
4.59713000

0.92168300
2.87922100
4.24695700
4.72624100
4.98692800
6.05837500
4.36050500
4.92512200
3.00646500
2.50346800
2.25367500
-2.46432700
-2.17717200
-2.36992200
-2.68075100
-2.80214200
-0.65906200
2.23330800
2.92144900
0.84099800
0.34762400
-3.26163300
-4.16848300
-3.52161200
-2.51715200
-2.55519900
-3.61622800

75

-0.97349400
0.96327600
1.18574500
-0.67378300
-1.75132300
0.29724000
1.72760600
-1.20979800
0.53283900
-1.76295200
-1.89805100
-2.69880000
-3.42677100
-3.23156100
-2.16836900

0.15543100
-0.68726200
-0.91628700
-0.58487000
-1.55085800
-1.71312600
-1.99136500
-2.50872800
-1.77393300
-2.11383600
-1.11171300

0.23079400
-1.15821900
-1.86615100
-0.91996500

0.37016000
-0.47609900
-0.07051900

0.21101800
-0.86837500

0.45364700

1.63016200
1.98933400
1.50824900

2.43888600

1.31010700

1.53401100



TTOOOIITITIOIOIOOOOIIIIOIOOO0OO0OOIIOIIIOIIIOIIIOI®IT

-3.03477700
-4.34452500
-3.97527600
-4.63161800
-3.90568200
-4.48165000
-1.24537300
-1.37532500
-1.97311700
-0.23744700
0.98912600
1.05070900
1.40212300
1.65507800
-3.67066100
1.07883200
-0.97468200
0.43308500
-0.11996100
1.42120400
1.61841300
2.97976900
1.44477400
4.08618200
3.00456700
3.13124600
4.02087300
3.92339700
5.44051900
6.16676000
5.98255100
7.40172700
5.75254100
7.21689000
5.42378300
7.93104600
7.96085400
7.63015400
8.90821800
-4.07566000
-5.22609800
-3.09084500
-2.18665200
-2.77445200

-2.10222300
-2.09271300
-1.92869000
-1.36524900
-1.36720400
-2.88308400
-2.29593300
-3.29661600
-1.62743900
-1.95196400
-3.00852000
-4.01447600
-2.30560300
-3.00586900
0.46321200
0.46282100
0.24005200
1.08868500
2.01147700
0.35695600
-0.41873900
-0.19120600
-1.48021200
-0.77650200
-0.64126700
0.89678900
-0.35346300
-1.86564500
-0.51185800
0.61026500
-1.35250800
0.88451000
1.27998600
-1.08173900
-2.24392300
0.03883800
1.76949100
-1.75791600
0.25208900
0.57709000
0.30571000
0.95877500
0.33669300
2.00321900

76

2.25001900
1.03812700
-1.75207400
-1.07523800
-2.69428000
-1.97799600
-3.32962300
-3.77562400
-3.80917500
-3.60117800
-1.27059800
-1.71965100
-2.01050500
-0.39635300
0.45194300
-1.57871100
-1.74746600
1.72411200
2.23620900
2.28445700
1.06341700
0.48872900
1.30206100
1.34163100
-0.52226400
0.34832200
2.35981000
1.44139700
0.77102900
1.15515800
-0.19585200
0.59225000
1.91793700
-0.76125700
-0.50544200
-0.36869400
0.91167700
-1.51615900
-0.81215600
1.71609300
1.92769200
2.75055800
2.67792000
2.62558800



INT-6

T ITIOIITITOIIIOIIIOIIIOOOOOOITOOOOOOIOIOIOITOO:Z

=

-3.55590300

2.40958200
1.43246300
1.70202200
2.62949900
0.85227800
1.10059100
-0.29966800
-0.97810500
-0.59439200
-1.51502300
0.23723700
2.17694700
2.40810500
1.14100900
0.14408100
0.80169100
1.17893600
2.54126900
3.52924300
-0.27954800
-0.42420800
0.18727200
0.66343200
-0.88720800
0.32073500
3.20942900
3.36223900
2.91775900
4.18252600
3.73504100
4.45708100
3.68593200
4.15259700
0.90440700
0.82679600
1.71730700
-0.03491500
-1.28954400
-1.44703300
-1.66345600
-1.92684700

0.83752900

0.81878400
2.85971600
4.20212300
4.61976900
4.99223400
6.04134000
4.43977000
5.04203900
3.11502100
2.67658600
2.31202900
-2.60569400
-2.25084000
-2.28932700
-2.53672300
-2.78253900
-0.59894600
2.13675300
2.75734300
0.96498400
0.46725800
-3.25574500
-4.19868300
-3.45774700
-2.54742000
-2.83826500
-3.92336400
-2.44406300
-2.41092200
-2.12240600
-1.61350700
-1.55996200
-3.11761700
-2.18457200
-3.19301300
-1.66004800
-1.66156100
-2.73305800
-3.72746100
-1.99423400
-2.68556500

77

3.73466800

-0.26673900
0.59089300
0.84761400
0.44971400
1.59512500
1.77741700
2.12535500
2.73630100
1.87206500
2.27215800
1.09227900

-0.09683200
1.27700900
1.94975200
0.97369300

-0.28833800
0.55421800

-0.10771000

-0.49140600
0.81340500

-0.48532500
-1.54680900
-1.86350200

-1.44235300

-2.38137500

-1.12421000

-1.25754600

-2.11078800

-0.85058500
1.91428400
1.26051500
2.85650000
2.14445500
3.40457500
3.84562800
3.92408600

3.63407300
1.27719800
1.72894800
2.00209400
0.38313800



T ITITOOOIIITOIOIOOOOIIIIOIIOOOOOIITO

OIOIOIOIOOZJ')

1
ol

3.67392600
-1.02186200
1.54876800
-0.31391800
0.29812500
-1.33291900
-1.58925700
-2.95339700
-1.44688800
-4.05611600
-2.99070500
-3.09482600
-4.01945900
-3.86256100
-5.40768500
-6.18274700
-5.89819600
-7.41639800
-5.80929200
-7.13094900
-5.29946900
-7.89493400
-8.01438800
-7.50384500
-8.87134000
4.00508700
5.12127300
2.98693300
2.04422500
2.75862600
3.37684700

2.40454000
1.22738800
1.40812000
2.23016700
0.60807100
0.78135600
-0.39574600
-1.03038700
-0.60569700
-1.42079200
0.16733900

0.26772300
0.61371200
0.15574100
1.18053800
2.06602100
0.50098500
-0.25846000
0.01586000
-1.32509900
-0.61069200
-0.37893000
1.11022900
-0.20454100
-1.69668000
-0.38412700
0.70578900
-1.23411700
0.93842800
1.38326100
-1.00529300
-2.10046100
0.08296300
1.79870500
-1.68910000
0.26297500
0.18402800
-0.18954000
0.50982500
-0.02063300
1.58418700
0.23010600

0.98914000
2.93899000
4.29702000
4.80742300
4.98294700
6.04639300
4.30450900
4.82444100
2.96578600
2.43648400
2.25913700

78

-0.56755500
1.54519800
1.85432800

-1.77318200

-2.28004200

-2.33894800

-1.11772100
-0.57179300
-1.34987100
-1.39943200
0.46091500
-0.48897300
-2.42580800
-1.48410500
-0.80684700
-1.18738800
0.17940800
-0.60281300
-1.96413400

0.76590700

0.48650000
0.37577200

-0.91921800

1.53482900
0.83540800

-1.85613900

-2.09047700

-2.87602500

-2.67551300
-2.86588100
-3.86040400

-0.34877200
0.45069800
0.70804400
0.20023400
1.59712600
1.78176200

2.26818900
2.99167900
2.00985000
2.51475800
1.08566000



h

T ITIITOIOOOO0OOIIOIIITOIIIOIIIOIIIOIIIOOOOOCOITOCOOOO

2.34918600
2.60182300
1.37606700
0.35442600
0.98581000
1.23292300
2.30303300
3.10635600
-0.25486500
-0.44362300
0.33592900
0.68968200
-0.75700600
0.56868600
3.37009700
3.63078900
3.01534200
4.30450200
3.94465300
4.59699800
3.89809000
4.44978500
1.17274900
1.17311800
1.96230600
0.20899400
-1.06372600
-1.18684300
-1.43178100
-1.72820000
3.69876500
-0.95360600
2.15707100
-0.41038100
0.14011000
-1.38566000
-1.58729500
-2.95456600
-1.40480000
-4.05268700
-2.98330700
-3.11361500
-4.00079200
-3.86912700

-2.63245400
-2.03011000
-1.98604100
-2.42335500
-2.90027600
-0.57513400
2.33974000
3.02529400
0.88334900
0.38834700
-3.57039300
-4.61185300
-3.61420500
-3.08257200
-2.96980900
-4.04086000
-2.79546700
-2.40975800
-1.71228700
-1.26365500
-1.01467400
-2.62756100
-1.59044300
-2.47531600
-0.91571300
-1.08126000
-2.61228400
-3.55350800
-1.80341100
-2.67337500
0.59508800
0.48715400
0.56950500
1.08231500
1.99147700
0.32135800
-0.40536500
-0.15602400
-1.47717200
-0.79996900
-0.54171400
0.93710900
-0.42172300
-1.88925800

79

0.10389500
1.39294400
2.10610300
1.21008800
0.00036200
0.42315400
-0.38102900
-0.99004600
0.81026000
-0.50093500
-1.14509100
-1.23311900
-1.04518200
-2.10655600
-0.90749200
-0.84514500
-1.93598500
-0.76527000
1.92513700
1.16172200
2.77285100
2.27931000
3.51605600
4.17641400
3.87575300
3.66668300
1.58419200
2.14723700
2.23305500
0.71061200
-0.71123900
1.56342000
1.04033500
-1.79609200
-2.33833500
-2.33994900
-1.08852200
-0.53651200
-1.28005700
-1.35696800
0.49975800
-0.46392800
-2.39351900
-1.40892800



TITITOOOIIITIOIOIOOOON

INT-7

pzd

h

I T ITOO0O0O00O0OITOOOOOOIOIOIOIOON

-5.40859100
-6.14542100
-5.94056700
-7.38069700
-5.73930600
-7.17548400
-5.37259200
-7.90013500
-7.94799600
-7.58058100
-8.87761500
3.85466700
4.96983200
2.67255900
1.84770100
2.30344600
2.95714600

2.57154800
1.19603400
1.38930500
2.16744900
0.66249400
0.83909900
-0.27338300
-0.84916300
-0.50482000
-1.28352700
0.18939900
2.49670800
2.54846100
1.25833300
0.37862300
1.18171600
1.19049400
2.19839800
2.76620500
-0.23822600
-0.44529500
0.70313600
0.72009200
-0.33464200
1.32909100

-0.53886300
0.57185500
-1.37020800
0.84357600
1.23470300
-1.10226100
-2.25198400
0.00680000
1.71969400
-1.77146800
0.21814100
0.14354700
-0.17342100
0.07685200
-0.46663900
1.08965000
-0.41664700

1.00412200
2.89421900
4.24189200
4.78878600
4.86105100
5.91272400
4.12053700
4.58845600
2.79999500
2.24207200
2.14918700
-2.52124500
-1.98739100
-2.05537600
-2.52317400
-2.90390700
-0.65232300
2.34908000
2.95315400
0.79775300
0.36332000
-3.58006000
-4.67840100
-3.31522200
-3.34456300

80

-0.78855100
-1.18577800
0.19176500
-0.62241700
-1.95889400
0.75735300
0.51219500
0.35173000
-0.95171000
1.52285000
0.79545100
-1.96716800
-2.26317800
-2.84587200
-2.35769700
-3.06004800
-3.78074000

-0.12237200
0.50749600
0.81301300
0.27207000
1.80523400
2.04270200

2.51328300
3.31741000
2.19129200
2.72224500
1.16469400
0.18184100
1.53093100
2.07971500
1.04389700
-0.09414100
0.34081200
-0.41582900

-1.28060800

0.81352700
-0.53649200
-1.31677300
-1.19959700
-1.57083500
-2.19132900



OO0OOIITITITOIOIOOOOIIIIOIOOO0OO0OOIIOIIIOIIIOIIIOIIIO

3.67582400
4.09209000
3.43700700
4.49103700
3.78789300
4.42010500
3.58010100
4.40885100
0.83453900
0.70910900
1.56432000
-0.13470000
-1.04778600
-1.14801400
-1.57036600
-1.59691400
3.83256200
-0.96675200
2.79913700
-0.44631900
0.10087700
-1.43276300
-1.61571800
-2.97340400
-1.44777900
-4.09023600
-2.99589700
-3.11915400
-4.03895700
-3.92796500
-5.43824000
-6.16302900
-5.97572600
-7.39184800
-5.75280700
-7.20415300
-5.41819600
-7.91694100
-7.94968200
-7.61400200
-8.88955800
3.88425100
4.99439300
2.64503900

-2.73001600
-3.74340900
-2.63553000
-2.02759200
-1.54457400
-0.92839300
-0.95113200
-2.40358500
-1.70478200
-2.60839000
-1.05946600
-1.18071300
-2.85561100
-3.80324400
-2.08664600
-2.98543400
0.72629900
0.39593600
0.97344900
1.11596700
2.04651700
0.38419100
-0.38692700
-0.15434600
-1.45269900
-0.73789000
-0.59678700
0.93482000
-0.31122500
-1.82645900
-0.48070000
0.65385500
-1.34203600
0.91931900
1.34106600
-1.08038500
-2.24297800
0.05221700
1.81441300
-1.77334700
0.25838100
0.31023200
0.13014900
0.11072900

81

-0.68574600
-0.54564400
-1.75678900
-0.45742500
2.20497100
1.54494800
3.10688900
2.51450300
3.45200000
4.07450900
3.96167500
3.46617700
1.25416800
1.81259100
1.84478400
0.31016000
-0.68895500
1.53674500
0.88011200
-1.78813400
-2.30638800
-2.35814100
-1.13041200
-0.54896000
-1.37110200
-1.38987600
0.46500900
-0.41303400
-2.40756000
-1.49686300
-0.80129600
-1.15066000
0.14989900
-0.57032100
-1.89994600
0.73246900
0.43301000
0.37375700
-0.86287400
1.47392900
0.83041100
-1.97420200
-2.37781100
-2.74193300



INT-1°

h

OIIIOIIIOIIIOIXZIOOOOCOTOOOOOOIOIOIIOIIOOOZ

1.91442500
2.16651900
2.90622300

2.21086200
1.52261000
2.35285400
3.38547700
1.90533900
2.58207700
0.58073300
0.19135800
-0.24786200
-1.29463200
0.19143800
2.04821600
2.28794000
1.01361000
-0.00840800
0.61160100
1.03454400
2.17817100
2.71806200
-0.87401300
-0.55615700
-0.03785000
0.16713800
-1.12888900
0.34257900
3.03182500
3.20521800
2.68186800
4.00630900
3.58505500
3.86281100
4.39958700
3.54309000
0.84646800
0.98813500
1.58028100
-0.15768200
-1.44061000

-0.49665700
1.07590600
-0.37655200

0.26086000
2.36990800
3.45742500
3.25199600
4.75718300
5.59030100
4.98558000
6.00610400
3.91681900
4.10521400
2.59048800
-0.25008200
1.04969400
1.70716000
0.81001200
-0.41319800
0.00647000
1.04595900
0.82576000
1.56830800
0.15803400
-1.65247900
-1.81895300
-1.62622600
-2.53837100
-1.31562700
-1.42721000
-2.29606200
-1.11260800
1.67627100
2.41064400
0.94276100
2.22520600
3.15128600
3.71694500
3.53895800
3.39437000
1.13771200

82

-2.18264800
-2.95651300
-3.68693100

-0.87166500
-1.69346800
-1.97842600
-2.28053800
-1.88988700
-2.09899000
-1.54952400
-1.48719500
-1.28533000
-1.01750300
-1.32630800
2.76583900
2.31169900
2.12788500
2.56903200
2.89507400
0.77604900
-1.94003200
-3.01680000
-1.03245900
-0.61439900
3.36435000
4.43549700
3.23772400
2.83030800
3.04261300
4.12675000
2.68089200
2.57644700
1.99416100
2.76855900
1.92521300
1.03897400
1.87276400
2.81112300
1.14983800
1.49865700
2.71170700



T TIOIIITIOIIITIOOOOIIIOIOIIOOOOIIIIOIIOOOOOIITIOIITIT

-1.62464100
-1.78075900
-2.08636500
2.84081900
-1.54839200
-1.50187900
-0.40357900
0.23180500
-1.33017600
-1.70499000
-3.12810800
-1.55405700
-4.11402000
-3.31320800
-3.28461900
-3.93535200
-3.92017800
-5.53192400
-6.23392600
-6.16410100
-7.53242700
-5.74960500
-7.46196600
-5.62378400
-8.15114900
-8.07083300
-7.94467300
-9.17851200
2.26929000
1.32850500
2.86021500
3.95907900
4.34583300
3.59393000
4.80295300
3.40337700
3.84533800
4.19000700
2.60722000
1.72759700
0.91154100
1.30777000
2.10894300

1.58957000
1.86849000
0.25018900
-0.97828200
1.55267400
2.00805200
-0.88061500
-1.08732600
-1.71921600
-0.74160900
-0.31201200
-1.21080200
-1.41314300
0.56180400
0.03616000
-2.27711700
-1.76413500
-0.96114400
-1.11338900
-0.32572600
-0.64817200
-1.61341800
0.14043300
-0.20235500
-0.01947300
-0.78187500
0.63155800
0.34462400
-2.01356700
-1.94499600
-3.33734100
-3.15810700
-4.14520900
-2.65433800
-2.57476700
-3.98756500
-4.96412800
-3.37309400
-4.15695400
-4.17467400
-4.30274200
-3.72241400
-5.17363100

83

3.70155100
1.96395300
2.64296100
-1.27642500
-1.91674200
-0.23547500
-1.66194500
-2.65480300
-1.15709000
-0.13979800
-0.31566900
0.85282600
0.01847000
0.33723000
-1.35406000
-0.64633200
1.04965100
-0.10237500
-1.29318600
0.96181700
-1.41673000
-2.14021600
0.84264000
1.90833600
-0.34869900
-2.36026700
1.69340000
-0.44357800
-0.76495900
0.01797600
-1.17702500
-2.20084700
-2.49713100
-3.10862300
-1.80258400
0.08546500
-0.16592200
0.55343600
0.82724700
-1.74733200
-1.02024600
-2.65947100
-2.00983000



TS-1°

pzd

h

TOIIIOIIITIOIIIOIIIOIIITIOOOOOTOOOOOOIOIOIOIOO

2.24494200
1.58148400
2.42562200
3.45031500
1.97798100
2.64817000
0.66505800
0.28690400
-0.16434000
-1.19959000
0.26674400
2.09066300
2.31976000
1.03967700
0.02567300
0.65986300
1.11338200
2.24042700
2.80285300
-0.78462300
-0.47325400
0.02617200
0.22825100
-1.06403200
0.42542500
3.08308500
3.18404100
2.77927700
4.07814800
3.61050900
3.84846800
4.44142600
3.58240900
0.84843100
0.97915700
1.58073800
-0.15766300
-1.40964800
-1.59970400
-1.75112900
-2.04794200
3.03554400
-1.55249800

0.68243100
2.60997800
3.69537700
3.49436200
4.98877300
5.82823900
5.20742200
6.22685700
4.13677000
4.31926500
2.81189200
-0.58586000
0.78360100
1.44129200
0.46843600
-0.78415600
0.00294600
1.26639400
1.01613300
1.78258200
0.32791300
-2.09353100
-2.43189300
-2.06151200
-2.87233000
-1.67381400
-2.03246900
-2.54536300
-1.35950300
1.47112100
2.08510000
0.77049400
2.15506000
2.90251900
3.36850900
3.37266300
3.17006000
0.75256000
1.01188600
1.60697700
-0.11155900
-1.24887900
1.89019900

84

-0.65353200
-1.57274900
-1.82280300
-2.15100400
-1.68349600
-1.88724800
-1.28828300
-1.16963200
-1.03578700
-0.72459600
-1.14276500
2.65015100
2.44044800
2.36330500
2.63366700
2.74954900
0.70207500
-1.82407100
-2.87287700
-0.83477300
-0.64809100
2.99543500
4.02560200
2.86613400
2.32443200
2.73937500
3.77764700
2.13547800
2.39814900
2.25827700
3.14251800
2.10400700
1.39465500
2.26877200
3.26109200
1.59418300
1.91640400
2.82232100
3.87771000
2.22084300
2.58724800
-1.23784700
-1.63164700



T ITIOIITITOIIITOOOOIIIOIOIZIOOOOIIIIOIOOOOO™

INT-2°

TO0OZ2

-1.30534100
-0.33705500
0.29233700
-1.29456400
-1.62096300
-3.04365800
-1.43497900
-4.02169000
-3.18542500
-3.24483900
-3.87240900
-3.78862000
-5.44234500
-6.19287800
-6.03055800
-7.49654700
-5.74346400
-7.33348800
-5.45130000
-8.07137200
-8.07372400
-7.78124000
-9.10290100
2.21953700
1.19805800
2.40127600
3.88056400
4.02701900
4.39736100
4.37323400
1.71376200
1.86889100
2.12023900
0.62893700
1.76695600
0.68515100
2.22869800
1.89897800

2.20200300
1.12622300
1.55605900
2.56676800

2.13092000
-0.54736800
-0.60628600
-1.41616600
-0.62788600
-0.16472100
-1.26138600
-1.29843300
0.61563500
0.31740800
-2.07375500
-1.77405800
-0.83912000
-0.86333500
-0.32980200
-0.39655500
-1.26467600
0.13759900
-0.30835600
0.10569400
-0.42963100
0.52828600
0.46998200
-2.08680600
-1.86003100
-3.54391700
-3.85777400
-4.90453900
-3.21346900
-3.72895400
-4.48558400
-5.52732000
-4.39434300
-4.30793200
-3.65518200
-3.44579300
-2.95868700
-4.67857900

1.42533600
3.35911600
4.58285000
4.64127000

85

0.07670200
-1.84980800
-2.86152800
-1.48474300
-0.30166200
-0.34611300
0.58807500
-0.11289600
0.42441700
-1.32094600
-0.88544300
0.85859900
-0.12350700
-1.29395700
1.02990700
-1.31168200
-2.20985100
1.01661300
1.96115100
-0.15578600
-2.24097700
1.93571800
-0.16695400
-0.85760900
-0.14889700
-1.30411500
-1.38220500
-1.69344500
-2.10831300
-0.40423000
-0.33936900
-0.66473100
0.68199900
-0.29082000
-2.68004200
-2.64654300
-3.39756800
-3.06787400

0.11640500
-0.83207600
-1.34359900
-1.75864100



OO O0OOIIOIIITOIIIOIIIOIIIOIIIOOOOOCOITOCOOOOOIOIIOIO

0.73850500
1.09270500
-0.53816800
-1.20796200
-0.97529500
-1.99474000
-0.16271300
2.29476300
2.63939700
1.42577400
0.32952200
0.86392600
1.34333400
2.12526300
2.97869000
-0.76154000
-0.38642200
0.14443500
0.48132600
-0.94193700
0.34362700
3.20782600
3.41398200
2.75894100
4.17023400
3.98637900
4.28191700
4.74436900
4.02040000
1.33948600
1.54987300
2.07860700
0.34125100
-1.07131500
-1.19308900
-1.38162900
-1.77026100
3.30120900
-1.85813000
-0.55973400
-0.25481800
0.36780200
-1.16299800
-1.44529000

5.69154800
6.64512200
5.57608500
6.44088000
4.36208600
4.27818100
3.23063800
-1.65679000
-0.38169700
0.29327700
-0.61438500
-1.80592700
-0.11339600
2.26250300
2.22763600
1.99019500
0.64278700
-3.04798400
-3.86647300
-2.94929700
-3.37304700
-2.71320400
-3.42286100
-3.30124900
-2.31512600
0.19358900
0.21163500
-0.38078700
1.23432200
1.61907500
1.52467000
2.32173900
2.06651800
-0.37033300
-0.56583200
0.67085200
-1.03185500
-1.14547100
2.11386700
1.99935000
0.43873900
0.88059200
-0.54159500
-0.45909300

86

-1.32673500
-1.72738400
-0.80028000
-0.78160600
-0.30764200
0.08494000
-0.29771600
2.09397200
2.59992200
2.92471200
2.69991200
2.17644400
0.71200700
-0.90714800
-1.79218500
0.29985400
-0.25449000
1.84260100
2.50012300
1.96620800
0.80828900
1.62747600
2.44691800
0.81102000
1.28096900
2.74456200
3.80666700
2.19601100
2.38778900
3.56160100
4.64082600
3.15060500
3.46416100
3.08263600
4.16167200
2.91597800
2.55270100
-1.43578400
0.23104500
1.38788000
-1.73148900
-2.64653300
-1.80273800
-0.37201000



T TIOIIITOIIITIOOOOIIIOIOITIOOOOIIIIITIOIO

TS-2¢’

pzd

OIZIOIOIOO

-2.89195300
-1.15551600
-3.78059700
-3.02813600
-3.19023700
-3.62764700
-3.46409900
-5.22435100
-6.03831700
-5.77275900
-7.36466700
-5.62007300
-7.09807700
-5.14352300
-7.89915200
-7.99100300
-7.51334700
-8.94798100
2.23884100
1.21574800
2.02444000
3.32366800
3.63327300
3.20503700
4.14296500
0.91052100
1.12745600
-0.05420200
0.78676300
1.67274600
0.70753500
2.44323000
1.59126700

1.89566500
1.55175200
2.22802300
3.31763800
1.55235700
2.10165400
0.16995100
-0.39058900
-0.50725400

-0.15499900
-1.42378800
-1.34468100
0.15640500
0.70774300
-1.65647500
-2.19616500
-1.04551200
-0.59123700
-1.16457500
-0.26752100
-0.49405500
-0.84207700
-1.52587600
-0.39209900
0.08380100
-0.94858600
-0.14080300
-1.73742700
-1.50808200
-2.83768100
-3.60068900
-4.07764100
-4.39851400
-2.94496100
-3.78472500
-4.30403400
-3.26524300
-4.55852300
-2.13739500
-1.60970600
-1.40352700
-2.87584900

0.77869000
3.19136000
4.36774700
4.32856200
5.54580900
6.45504800
5.55515200
6.47535500
4.39554200

87

-0.14056100
0.08426800
-0.44376200
0.91148800
-0.76473800
-1.49227700
0.18765700
-0.20771100
-1.23952400
1.06535000
-1.00794800
-2.24821100
1.30107300
1.88799700
0.26390700
-1.83390700
2.30806400
0.44759800
-1.50068800
-0.77030100
-2.55028800
-2.71081200
-1.76530700
-3.46212900
-3.03983600
-2.16202300
-1.21296200
-2.05193300
-2.93799900
-3.85243200
-3.78354200
-4.13839400
-4.66737500

-0.86266800
-1.03163600
-1.35519200
-1.43443800
-1.58608500
-1.84466500
-1.49984100
-1.68856400
-1.17930000



h

TTOIOOOOOIIOIIIOIIIOIIIOIIIOIIIOOOOOTOOOOOOI

-1.60033300
0.15506800
2.13276200
2.52711900
1.35248900
0.23636300
0.71415200
1.28333800
2.41643000
3.64534900

-0.71618000

-0.38596400

-0.07014800
0.08904600

-1.14904600
0.23396600
3.02598200
3.16111200
2.60536500
4.01990600
3.91309800
4.39754000
4.51182300
3.96515400
1.31142600
1.48591900
2.08833700
0.33965700

-1.15457100

-1.29129800

-1.41785300

-1.88022300
3.24223400

-1.72182300

-0.86928500

-0.35950700
0.18589200

-1.31481700

-1.48459100

-2.89920800

-1.19699300

-3.83126300

-2.94721000

-3.22710900

4.41446600
3.19461700
-1.19084800
0.18733100
0.97859600
0.07593900
-1.24808800
-0.19849100
2.00145600
2.10123200
2.06431600
0.63696300
-2.49619700
-3.01199500
-2.31762200
-3.20017800
-2.36264200
-2.74412600
-3.18745100
-2.12378800
0.67578700
0.58933800
0.08240600
1.72953800
2.44792500
2.73634800
2.94061300
2.86987600
0.46499400
0.52941100
1.45126700
-0.27405200
-2.07069600
2.25404800
2.17643800
0.07217200
0.25952000
-0.83984600
-0.42290200
0.01294900
-1.26275900
-1.17647500
0.62838900
0.66041500

88

-1.10696200
-0.93569900
2.37462400
2.39842100
2.49841600
2.62761700
2.53271500
0.62796300
-0.84998100
-0.82816500
-0.47855400
-0.73905600
2.59118000
3.55282200
2.48834700
1.79885500
2.35169100
3.37864200
1.75633500
1.95231800
2.31378400
3.30115900
1.60772200
2.01085500
2.64051000
3.69081000
2.03704400
2.34925200
2.90712600
4.00029200
2.50262800
2.53888200
-0.85774300
-0.90183200
0.61061800
-2.12628800
-3.16485400
-1.89252300
-0.51200500
-0.27113300
0.14699400
-0.14426600
0.64470600
-1.10482700



T TITOIIITOIIITOOOOIIIOIOIZIOOOOIIT

TS-2d°

pzd

OO0OO0O0O0OITOIOIOIOON

-3.74208800
-3.50024800
-5.25276600
-6.11048900
-5.73526100
-7.41690800
-5.74372800
-7.04045000
-5.07061300
-7.88625800
-8.07930700
-7.40461200
-8.91940300
2.08795700
1.04648500
1.77182400
3.05251200
3.58400900
2.83274300
3.74364600
0.84860200
1.30532100
-0.11225100
0.63003200
1.08298500
0.10851200
1.69717700
0.90423900

2.21074400
1.56400500
2.48222400
3.54081800
2.03604300
2.74292700
0.67865800
0.30901400
-0.20351000
-1.26245000
0.21173800
2.12762500
2.42775500
1.18223900

-1.80647700
-1.79897700
-0.76217100
-0.63638900
-0.44489700
-0.21084400
-0.88492600
-0.01897000
-0.54334800

0.09926300
-0.12449500

0.21933300

0.43161500
-2.38458500
-1.76930700
-3.62413500
-4.35493800
-4.68274600
-5.25169500
-3.72316500
-4.53383600
-4.84393000
-4.04444700
-5.45201600
-3.17644500
-2.70711100
-2.45285800
-4.04160900

0.86456800
2.54110500
3.59627800
3.37179800
4.89303200
5.72241000
5.13087800
6.15715400
4.07945400
4.28358200
2.74923200
-0.48242300
0.86455300
1.59178800

89

-1.04718700
0.70851200
0.04625900

-1.04104100
1.31186800

-0.86904100

-2.04381500
1.48796500
2.17897000
0.39672500

-1.73593000
2.49213400
0.53487700

-1.10391800

-0.70527200

-1.95357000

-2.28824600

-1.38073600

-2.89103500

-2.86720100

-1.16399900

-0.20731400

-0.93810500

-1.73494500

-3.22981800

-3.02583500

-3.79155300

-3.89045200

-0.81506700
-1.56387200
-1.62536000
-1.78793900
-1.55070000
-1.63251300
-1.36112200
-1.28559900
-1.22383500
-1.03012800
-1.27657100
2.54651200
2.30055300
2.23500300



=

OOO0OIITITIITOIOOO0OO0OOIIOIIIOIIIOIIIOIIIOIIIOOOOOAODON

0.12439500
0.68634300
1.14923100
2.17830800
2.57296100
-0.83564200
-0.50025400
-0.01160600
0.27579500
-1.10400600
0.24975000
3.06401500
3.27512000
2.63936900
4.02474100
3.75411700
4.06499100
4.52954200
3.74380300
1.06461800
1.26376700
1.79050200
0.05851400
-1.29268400
-1.45833700
-1.60054900
-1.97269700
3.17553200
-1.51635300
-1.45734800
-0.37163000
0.25094000
-1.32583100
-1.63895600
-3.06183400
-1.44103100
-4.04371000
-3.19630100
-3.26977200
-3.91122400
-3.80141000
-5.45991200
-6.21458300
-6.03788400

0.68736700
-0.60305900
0.09371800
1.17877600
0.92749100
1.71138300
0.28378300
-1.86077400
-2.20663000
-1.74617600
-2.67247900
-1.61796800
-1.85555200
-2.53065400
-1.41410600
1.47118400
2.05055700
0.71785000
2.17164100
3.05358400
3.56821900
3.44539700
3.35359100
1.05271600
1.38455900
1.88411400
0.20761600
-1.50745200
1.73864800
2.11240800
-0.69206400
-0.83311200
-1.52704900
-0.64228100
-0.18188800
-1.20042200
-1.29557000
0.63853000
0.24919700
-2.10857900
-1.72476400
-0.82240000
-0.85874300
-0.28397500

90

2.54625600
2.67064900
0.62367900
-2.04299600
-3.14835700
-1.01408900
-0.68728900
3.00256600
4.00961800
2.99246100
2.30280200
2.65277500
3.70929700
2.20362200
2.16000900
2.08233800
2.96756000
1.88905300
1.23195100
2.06872500
3.02481000
1.33867400
1.74216100
2.73235800
3.77137600
2.08177100
2.55457600
-1.10716800
-1.89265700
-0.19189700
-1.80731400
-2.81559900
-1.36351300
-0.24656100
-0.30774200
0.68893200
-0.00536800
0.42177600
-1.30513300
-0.74124800
0.98511700
-0.01893500
-1.18655200
1.12626600



I TITOIIITOIIITIOOOOIITIIOIOIO

INT-3¢’

pzd

h

OCOTZOOOOOOIOIOIOIOON

-7.51191100
-5.77336900
-7.33473200
-5.45532300
-8.07657500
-8.09235300
-7.77431300
-9.10317100
2.24865100
1.21560000
2.28028100
3.66183000
3.72853000
4.44383900
3.89298900
1.23113500
0.21236900
1.28160500
1.37974400
2.02123600
2.75665100
2.08731300
1.01533100

-0.62959600
-1.21239300
-2.21549100
-3.21757100
-1.94514600
-2.73819000
-0.66475900
-0.44681000

0.34046700

1.35172100

0.07153800
-1.92260300
-2.16914600
-0.92588200

0.10066600
-0.52363000
-1.24806200
-1.49979800
-2.53527300

-0.37502300
-1.28270300
0.20019100
-0.25190000
0.15633600
-0.41765600
0.61386900
0.53423800
-2.21838400
-1.82757900
-3.71881600
-4.24441600
-5.32150000
-3.72764600
-4.11535600
-4.48239400
-4.13306800
-5.55572100
-4.38982200
-3.85767200
-3.28974100
-4.91626600
-3.49503800

0.93263600
3.23926600
4.15411400
3.78436900
5.50942100
6.22934100
5.95331100
7.02551900
5.04465100
5.39510000
3.68512000
-3.00263100
-2.01559400
-1.46621300
-2.07941900
-3.05789000
-1.06429000
1.78063500
1.39511200

91

-1.20922300
-2.09628600
1.10810600
2.05504900
-0.06126600
-2.13610900
2.02112300
-0.07638700
-0.74112300
-0.11751800
-1.06380200
-0.72672100
-0.95216000
-1.30264200
0.34504900
-0.28700500
-0.51803800
-0.53635600
0.80246000
-2.55352500
-3.14494600
-2.85553400
-2.82333200

-0.51548000
-1.00263100
-1.29405400
-1.53033200
-1.28032700
-1.50205700
-0.98608800
-0.97361900
-0.70151900
-0.46853700
-0.70253600
-1.18157400
-2.20755100
-2.60951100
-1.81991800
-0.97430700
-0.50187400
-1.05208900
-1.60560900



OIOIO0O0O0O0OO0OIIIITIOIOOO0OO0OOIIOIIIONOIIIOIIIOIIIOIIIOOON

1.10701900
0.48030700
0.18981600
0.67377700
0.98774000
-0.48123100
-2.96483100
-3.24145500
-2.63245900
-3.88329000
-3.50801400
-3.92555000
-4.20723100
-3.49538900
-0.68198900
-0.22855300
-1.60247400
0.02257000
1.54974300
1.93274800
1.77814000
2.11923500
-2.89404300
1.90964900
1.58261900
0.24813300
-0.48995300
1.22670300
1.49879900
2.95359600
1.11816400
3.75582900
3.07171000
3.35248900
3.68309800
3.29898700
5.18866500
6.16780600
5.56452000
7.48815100
5.88642000
6.88226700
4.80075200
7.84964700

2.65606600
1.43991000
-3.88470100
-4.74005900
-3.31508700
-4.28520700
-3.79179700
-4.68438500
-4.13851700
-3.20306000
-1.66318700
-2.50481700
-1.46859600
-0.77955100
-0.45623000
-0.93561600
0.04439500
0.31722500
-1.86670700
-2.49826300
-0.82278900
-2.12668600
-0.44489200
3.07442100
2.32663400
1.63561400
2.23984500
0.81184300
0.39600400
0.48162700
-0.63407900
-0.59883200
0.38544900
1.47502700
-0.45931100
-1.58306200
-0.60473700
0.01482500
-1.19643400
0.03934600
0.48394900
-1.17506600
-1.69119000
-0.55583200

92

-0.42719600
0.22093400
0.01300400

-0.48674900
0.51473100
0.78386700

-0.49714000
-1.08305500
0.49182000
-0.35219800
-2.70831500
-3.28590200
-1.88021100
-3.35811200
-3.65591900
-4.53952600
-3.97989200
-3.31369800
-1.99407100

-2.81430500

-2.25693500

-1.08967200

0.77002500
0.20158200

-1.37327100
1.72155200
2.43210800
2.09922300
0.72227700
0.40087700
0.59462500
1.10051900

-0.69420300
0.67221000
2.19344700
0.88057700
0.68080300
1.44837400

-0.52145800
1.02988200
2.39836300

-0.94302300

-1.13615800

-0.16705100



T TIOIIITOIIIOOOOIITIT

INT-3d’

pzd

TITOOO0O0OTJTOOOOOOIOIOIOIOON

8.24622000

7.15992100

8.89276200
-2.20471700
-1.01439000
-2.82002900
-3.65665400
-4.45238400
-4.13718500
-3.04248700
-3.71469500
-4.19792300
-4.50844800
-3.13797200
-1.74811900
-1.15492800
-1.05383800
-2.21220900

1.87050800
1.45097700
2.40021000
3.44320400
2.02316600
2.77170000
0.69602200
0.38128600
-0.23140400
-1.27987700
0.11429800
2.28666400
2.50391600
1.22537900
0.23135800
0.85939700
1.10139500
2.49228600
3.06975300
-0.96844200
-0.63355900
0.22673000
0.44189300
-0.86573800

0.52754700
-1.65253100
-0.54145900

-0.67092600
-1.03506400
-0.58170400

0.67831600

0.70201600

0.73140400

1.58490100

-1.80614900
-1.81380400
-1.81361000
-2.74148700
-0.60165300
-1.52822300

0.24762000

-0.53881100

1.02464900
2.35810100
3.30646600
2.99561900
4.61999600
5.36472700
4.97915400
6.01623600
4.02318400
4.31067600
2.68900200
-0.21767500
1.10183600
1.78750800
0.87508800
-0.39089600
0.15210400
0.40825900
-0.17983800
1.74184000
0.30285300
-1.64131900
-1.81512300
-1.62339900

93

1.65020100
-1.88790200
-0.49642100

1.78869500
1.62900200
3.16603100
3.26697900

2.50741200

4.25720900

3.14446200

3.30171000
4.29225700
2.53765100
3.20461300
4.23286500
4.20036400
4.13244300
5.23030100

-1.21725300
-1.45598000
-1.81572100
-1.93482000
-2.00772700
-2.29087700
-1.83331700
-1.97787400
-1.47124700
-1.33109800
-1.26681300
2.51376600
2.11645800
2.07595200
2.51525200
2.69186300
0.62224300
-2.07180900
-2.87290500
-0.84516400
-0.56727800
3.15391100
4.22242600
3.03752400



OOITITITOIOIOOOOIIIITOIOOO0OO0OOIITIOIIIOIIIOIIIOIIIO™®T

0.61089600
3.27925700
3.40777800
2.96034200
4.26525000
3.78344100
4.12865500
4.57747000
3.68078600
1.05636800
1.26194100
1.74725200
0.03310200
-1.18423600
-1.30120900
-1.55611700
-1.84635200
3.36331500
-1.77083200
-1.42974100
-0.52890700
0.07025100
-1.44811200
-1.74988100
-3.17927000
-1.53505700
-4.14890200
-3.32388100
-3.39189200
-3.96935900
-3.93802900
-5.57351500
-6.26184500
-6.22725700
-7.56720400
-5.76046900
-7.53280200
-5.69899600
-8.20758900
-8.09376900
-8.03260500
-9.24064900
2.32182200
1.18174800

-2.51694500
-1.28589600
-1.46291400
-2.24580300
-1.04000400
1.72907000
2.42443400
0.98791300
2.32434400
3.24220800
3.78116800
3.64560900
3.50479500
1.17861200
1.42988200
2.04053200
0.32232000
-1.56141000
1.81380800
2.16791100
-0.64302100
-0.76626600
-1.50902500
-0.63934500
-0.19590300
-1.20544000
-1.32839100
0.60919600
0.25232100
-2.13966800
-1.75033500
-0.88761400
-0.91205600
-0.39197600
-0.45850200
-1.30279000
0.06217800
-0.36954700
0.03080400
-0.49189800
0.44227300
0.38533100
-2.20962600
-1.76870100

94

2.60568900
2.74216700
3.82412600
2.30413500
2.32640600
1.73565800
2.51941300
1.57263600
0.81299100
1.88181400
2.82355600
1.12561100
1.57603200
2.79853300
3.86670800
2.22735000
2.60292800
-0.44757000
-1.61016200
0.06618200
-1.70930500
-2.73877400
-1.24801300
-0.11355000
-0.15941100
0.81463200
0.11137300
0.58562400
-1.14839200
-0.61676900
1.11155100
0.03485200
-1.17386500
1.15809300
-1.25805200
-2.06728500
1.07842700
2.11874900
-0.13115600
-2.21699200
1.97488900
-0.19504200
-0.48571200
-0.15377900



C 2.36113900 -3.65174200  -0.99468900
C 3.35141400  -4.42012300 -0.14054800
H 3.01881800  -4.47540600 0.91087900
H 3.45871700  -5.45486800 -0.50630500
H 4.34715000  -3.95062200  -0.15547000
C 1.00164900 -4.30936000 -0.93604200
H 0.60323800  -4.33673400 0.09140700
H 0.26581500  -3.78247800  -1.56484300
H 1.06490300 -5.35011200 -1.29634200
C 2.84646100 -3.59847200 -2.43270300
H 2.15611600 -3.01409400 -3.06615900
H 3.84405400  -3.13756400 -2.50526900
H 2.90939100 -4.61411900 -2.85775600

V1. References

[S1] Guimond, N.; Gorelsky, S. I.; Fagnou, K. J. Am. Chem. Soc. 2011, 133, 6449.
[S2] (a) Malapit, C. A.; Caldwell, D. R.; Sassu, N.; Milbin, S.; Howell, A. R. Org. Lett.

2017, 19, 1966. (b) Xia, J.; Kong, L.; Zhou, X.; Zheng, G.; Li, X. Org. Lett. 2017, 19,
5972. (c) Raju, R.; Howell, A. R. Org. Lett. 2006, 8, 2139.

[S3] Frisch, M. J.; Trucks, G. W.; Schlegel, H. B.; Scuseria, G. E.; Robb, M. A
Cheeseman, J. R.; Scalmani, G.; Barone, V.; Mennucci, B.; Petersson, G. A.;
Nakatsuji, H.; Caricato, M.; Li, X.; Hratchian, H. P.; Izmaylov, A. F.; Bloino, J.; S173
Zheng, G.; Sonnenberg, J. L.; Hada, M.; Ehara, M.; Toyota, K.; Fukuda, R.;
Hasegawa, J.; Ishida, M.; Nakajima, T.; Honda, Y.; Kitao, O.; Nakai, H.; Vreven, T,
Montgomery, J. A.; Peralta, Jr., J. E.; Ogliaro, F.; Bearpark, M.; Heyd, J. J.; Brothers,
E.; Kudin, K. N.; Staroverov, V. N.; Keith, T.; Kobayashi, R.; Normand, J;
Raghavachari, K.; Rendell, A.; Burant, J. C.; lyengar, S. S.; Tomasi, J.; Cossi, M.;
Rega, N.; Millam, J. M.; Klene, M.; Knox, J. E.; Cross, J. B.; Bakken, V.; Adamo, C.;
Jaramillo, J.; Gomperts, R.; Stratmann, R. E.; Yazyev, O.; Austin, A. J.; Cammi, R;
Pomelli, C.; Ochterski, J. W.; Martin, R. L.; Morokuma, K.; Zakrzewski, V. G.; Voth,
G. A.; Salvador, P.; Dannenberg, J. J.; Dapprich, S.; Daniels, A. D.; Farkas, O.;
Foresman, J. B.; Ortiz, J. V.; Cioslowski J.; Fox, D. J. Gaussian 09, revision D. 01,
Gaussian, Inc., Wallingford CT, 2013.

[S4] Peverati, R.; Truhlar, D. G. J. Phys. Chem. Lett. 2012, 3, 117.

95



[S5] Dolg, M.; Wedig, U.; Stoll, H.; Preuss, H. J. Chem. Phys. 1987, 86, 866.
[S6] Marenich, A. V.; Cramer, C. J.; Truhlar, D. G. J. Phys. Chem. B 2009, 113, 6378.

96



VII. Copies of 'H, **C and *F NMR spectra

2f-'H NMR (400 MHz, CDCl5)

00070~

9612
€0TT
viee
LeEe
€22

EVE T

8LT
28T

1182
68T

8582
88877
G062
€Z6°C
6E6°Z|

0ETT
9T T
A4
95TET

S

6562

Ph

=202

=00}

S ITE
=91
g0t

=£02

25 20 15 1.0 0.5 0.0

3.0

85 8.0 75 7.0 6.5 6.0 55 “ (f)pm) 4.5 4.0 35
2f-*C NMR (100 MHz, CDCls)

9.0

9.5

10.0

0oLkE—
869'6E—

2¥a'9L
L6'9L
091°LL
8L¥LL

G9E'0EL
88L0€L—
LSBZEL—
BELEE _..\\\.
e5¥ SEL
Z6v okl —

ZZS9Z
8E0°BZI
Legzl
FE66'8Z 1
X

8L0E9L—

|L. [L
30 20 10

40

60

70

80

90
97

100
1 (ppm)

110

120

130

Ph
150 140

160

170

180



2g-"H NMR (400 MHz, CDCl3)

0000-—

v8LL
zoz'L
Q0z'L

EleL

15z 24f
€8z
206

oze'L

Ph

L

R0

1.0

Fisy
=802

15

=iz

=z

25

14

3.0

35

45

=004

5.0

55

=00'L

6.0

6.5

7.0

Ehie
g0

75

8.0

85

1 (ppm)

2g-*C NMR (100 MHz, CDCls)

¥S0Pl—

ivee—

055'82,_
5689z
LPO'LE

243 SA.
z09'5e""

L9l
09V LL
LIV LL

oL LL

9ZH'9ZI
1p5'8ZL
hrh‘mwrv

206951
661281
005 0¥L~"

LZLPIL—

Ph

T
100

T
170

T
180

1 (ppm)

98



3a-'H NMR (400 MHz, DMSO-de)

uu e
04T
6212
ErLT

€522
692T
0822
682T

s1e7
26T
ez
16v'Z |
6vZ |
00521
0521
80521
522
e
092
veLZ

0182
€282
SHaZ

69EE—

699°E—

S0LG
ELLg
9LL's
IZLg
veLg
o7
00Z'L
neL
8ETL
15TL
0T L
987L |
26241
60€°L |
82€'L
86€°L |
LOb LA
8Ly L
VZb L
eV L~
6Ev'L
882

818
G618
6618

siee

LOr'6—

=

Ph

COMe

Feol
oo

Feoz

=60€

=00k

660
22
L'y

=901

L0

001

=160

4.0 35 3.0 25 20 15 1.0 05 0.0

9.0 8.5 8.0 75 7.0 6.5 6.0 5.5 f15(§pm) 4.5
3a-*C NMR (100 MHz, DMSO-ds)

95

10.0

0L o€
4200
¥68'8E:
20168
LLE'BE
0Z5'6€E

uE.ur.
wmm.mmu\-
LN

906'L6—

ZIS§LL—

L28'v2L
v\b.mN_./
0e0'9zL
mww‘ww_.v
are'geL
0L'8zL
S6E'6ZL
Z6V'6Z1
896°0EL
¥90°GEL
mo:.m_.\‘
£08°0VL

698'VSL—

676291 —

0

Iz

Ph

COMe

E‘l) 70
1 (ppm)
99

T
90

T
100

T T T T
160 150 140 130

T
170




3b-'H NMR (400 MHz, DMSO-ds)

0=
85
$F
i
e

=z

Ph

0CO,Me

e

901
E0'L

Froz

=60€
=50

=001

860

—160

0.0

0.5

2.0

35 3.0 25

4.0

45

3b-*C NMR (100 MHz, DMSO-dg)

7.0

9.5 9.0 8.5 8.0 7.5

10.0

f1 (ppm)

651°0€
BEB'VE
68'8€
€01'6€
LLEBE
025'6€
6ZL'6€

9L 0%

628°15—
€EE'SE—

925 LL—

ELOELL—

BRg4dty
viE'LTL
it : 14
92€°8TL
I8zl
856217
192°0€L
PZEGEL—

ELLOVL—

18Z°G5L~
89E°9GL "

EVO'EIL—

=

Ph

0CO,Me

80 70 60 50 40 30 20 10

1 (ppm)

20

160 150 140 130 120 110

170

100



3c-'H NMR (400 MHz, DMSO-dg)

G8Z6—

=

Ph

COMe

=S
STy

TFeoz

=G6'T

160

s

=00t

e6'0

95 9.0 85 80 75 7.0 6.5 6.0 55 . (sﬁgm) 45 4.0 35 30 25 2.0 1.5 1.0 05 00
3¢-*C NMR (100 MHz, DMSO-ds)

10.0

605°02—

651°0E—
LOB'VE:
68'8E"
20L'6E"

LIE'BE
025°6€
6CL'6E
BE6'6E
orL'0

Ly 15—

8EY'LL—

obZ'szL
LE0"9Z1
LE'8zL
60v'8Z1
BES'6ZL
Z19'62L
L9IEL—
120°¥EL—
L9¥EL
98°7EL
6L°07L—

986'vSL—

Zr6T9L—

Ph

0COMe

HN/

30

40

1 (ppm)
101

T T T T T T T T
160 150 140 130 120 10 100 20

T
170




3d-'H NMR (400 MHz, DMSO-ds)

o1y
ot
S6v'2
0052

605°C
95T
985°T
509T
¥29'2

898.'2
vlLT
0642
008C

£2EE—

6e9'E—

860°S
S0L'S
60L'S
rH's
1S
SZL'S
k5
596'9
661°L
9lz'L
Lees
8vz'L
€524
89Z'L
€LTL
¥8Z'L
06Z'L
B0E'L
zie'L
1281
GeE'L
95E°L

€l08
mho.mv

182°6—

==

Ph

0CO;Me

WL

Fes0
=00°L

61T
Faz

=00€

Foot

=0}

oLl
Loiv
fe0z

Feso

9.0 85 80 75 7.0 6.5 6.0 55 f (%p?m) 45 40 35 3.0 25 2.0 1.5 1.0 05 0.0
3d-*C NMR (100 MHz, DMSO-dg)

95

10.0

992'GL—

809°L2—
ZL0E—
LLEVE
emm.wm./.
20l'6E

8E6'6E
vl ov
oreIS—

HLE'BE
0Z5°6€
62L'6E

eV LL—

L9z'szL
12092}
99£°9Z1

[
907'8Z1

199'624
1zo0sL
ZETVEL

e/
€2E0P1~
pO8O¥L~"

B66¥GL—

086291 —

Ph

0

=

CO,Me

20

T
70

T T T T T T T
160 150 140 130 120 110 100 20

T
170

1 (ppm)

102



3e-'H NMR (400 MHz, DMSO-dg)

Z0E'6

COMe

=656

=00¢

001

=001
X43
%nr 14

Ty

=160

0

60 55 50 45 40 35 30 25 20 15 1.0 05 00
11 (ppm)

3e-*C NMR (100 MHz, DMSO-ds)

6.5

95 9.0 8.5 8.0 7.5 7.0

10.0

02 0E
986'0€
LBE'¥E
OF6'¥E
¥68'8E
E0L'6E
Zie6E
029°6€
62L°6E
BEG'GE
LpLop

288 IS —

reyil—

696'vZ1
S.8'S2L
v20'9zL
LSE'9Z1
S90'821
64821
002 82}
WESEH
10t'821
veg6zL<
629'¥EL
z604eL-

£28°0v1 —

POE'LPL—
L20'ssh—

PLLESL—

L]

=

CO,Me

T T T T T T
160 150 140 130 120 110

T
170

1 (ppm)

103



3f-"H NMR (400 MHz, DMSO-dg)

rou @
[11%4
L2V
EELT
9EL'Z
iz

i
zzT
922
8822
9622
eIeT
zzez
L6¥'e
5602
005
5082
805
Lz
59zl

2LLZ
18472
16T

Lez

1zee—

arot—

A%
ZELS
BEL'S
EPLS
8rL's
Z5L'S
651G

T

856'9
861°L
SiglL
89¢L
28T,

062"L
96T L
L0EL
LEL
BLEL
92eL

zio'g

6L08
1808
Sv0'8 N.

99£'6—

0
Ph
0OCO;Me

o

Feaol
Fsou

Feoz

6T

00t

860
s
»zzs
et

=001

Feeo

50 45 40 35 30 25 20 15 10 05 00
1 (ppm)

3f-*C NMR (100 MHz, DMSO-ds)

10.0

9E1°0E

mhw‘wn,/
£68'8€
20L°6E
LLEBE
025°6E

BZL6E
LEB'BE
oFHoF

8.6°15—

669°LL—

nhmé:
v_‘N.m_‘_‘V.
L1gLLL
EFO'BLL

9r0'9C )
00512 ?W
PrESZL
[33.4:143

zsgsel
0598 L~
LoLOvhn,

220851 —
BEGLSL—
Zye'esL—
6EBTL—

Ph

0

0COMe

20

60

1 (ppm)
104

100

T
160

T
170




3f-9F NMR (376 MHz, DMSO-ds)

ZI

(o]

0CO,Me

—-114.448

L

T T
3 20 10 0 -0 -20 -30 40 -50 -60 -70 -80

-90

-110
1 (ppm)

105

T
-130



3g-'H NMR (400 MHz, DMSO-de)

BLYE—

Ph

CO,Me

=

Cl

Frou
Fiok

ooz

F80€

=001

60
> 501
oy
FO0LE

160

Fe60

4.0 35 3.0 25 20 15 1.0 05 0.0

45

5.0
1 (ppm)

5.5

6.0

3g-*C NMR (100 MHz, DMSO-ds)

9.5 9.0 85 8.0 75 7.0 6.5

10.0

TrL'0E
C99VE
¥68'8E
£01°6E
ZIE'6E
025°6€

BZL6T
8E6'6E
irior

Zr0Is—

0L LL—

6092
9zt
£h09eL
60292k
8vE'SzL
Sovaz
9v95zL
et
€091+
vavoel/
564071 —

VeLYSL —

£6e829L—

Ph

Iz

Cl

0CO,Me

20

60

T T T T T T T T
160 150 140 130 120 110 100 80
1 (ppm)
106

T
170




3h-'H NMR (400 MHz, DMSO-d5)

99r'6—

0

=

Ph

0CO;Me

Foo
Feo1

Faz

~v0'E

E=G0'L

~zol
501
ey
SOl
S0k

=00+

860

6.0 55 5.0 45 4.0 35 3.0 25 20 15 1.0 0.5 0.0
1 (ppm)

3h-*C NMR (100 MHz, DMSO-ds)

6.5

9.5 9.0 85 8.0 75 70

10.0

091°0¢
989°VE
¥68'8E
E0L'6E
LLEBE:
0256
BZL6E
BE66E
LrLor

eroes—

P69 LL—

szL9l—
ZE0'9Th
xm.mﬁ,//
618224
296 2L
1e82L
86C'82L
Z65'1EL
9LEEEL \

EPPOEL
ww\.,c.v_‘\

BSIPSI—

9v8'Z9L—

(o]

Iz

Ph

0CO;Me

160 150 140 130 120 110 100 20 80 70 60 50 40 30 20 10
1 (ppm)
107

170



3i-'H NMR (400 MHz, DMSO-ds)

EvL'S
[3:1]

651G

0LL'S

99L'L

als'e
—Nm‘mv

€iv6—

=

Ph

Ph

CO,Me

1

A

Foo
o

o0z

~Z0¢

£00°

00k

=60

20 15 1.0 0.5 0.0

25

6.0 5.5 5.0 45 4.0 35 3.0
1 (ppm)

6.5

3i-*C NMR (100 MHz, CDCl3)

9.5 8.0 85

10.0

6E0'1E—
885°Ge—

806°26—

Y89l
091 LL
8LV LL
G99°LL “

Zrh'ozh
095924
068924
590°.2}
8EL L2)
906'L21
1zz'8zh
LSBT}
959'824
SPLBZH
¥Z8'8Z1
800°'62}
L0621
£L1'624
BE'6ZL
BSLVEL~_
007 LEb~_
wﬂm,sn—w
18561
wnvs_\

FO6'¥SL—

90Z'€9L —

=

Ph

Ph

0CO,Me

30

T T
90 80
1 (ppm)

T
100

108



3j-'H NMR (400 MHz, DMSO-dg)

[F2: A

Ger'e
mwvd“Y

PeLE—

i

Ph

COMe

= /

NC

n

[

L

801
80l

—82%¢

EZIE

=001

=00’
=L
8Ty

oz

Fezo

9.5 9.0 8.5 8.0 75 7.0 6.5 6.0 55 f1?i)npml 4.5 4.0 35 30 25 20 1.5 1.0 0.5 0.0
3j-*C NMR (100 MHz, DMSO-ds)

10.0

18L°08
S€9 Qn/
¥68'8E

£0L'6E

LLE'BE
0Z5'6E
B6ZL°6E
8E6'6E
L

66Z225—

SE6'LL—

€61'90L—

SRS
190'9Z1
19224
Em,mN_W
SZY'ezh
z89°€El
LLB'EEL
TV LEL—
9920k~
L0Z'1pL

BT el —

L1829L—

Ph

=z /

NC

0COMe

T
70

T T T T T T T T
180 150 140 130 120 110 100 90 80
f1 (ppm)

T
170

109



3k-"H NMR (400 MHz, DMSO-dg)

£EE6—

Ph

CO,Me

uuN/

901
80k
e

ez

=00€

=00

6.0

3k-"*C NMR (100 MHz, DMSO-ds)

6.5

7.0

75

9.0 85 8.0

9.5

10.0

3.5 30 25 20 15 1.0 0.5 0.0

4.0

4.5

5.5

1 (ppm)

S60'LE—

80206—
£L6VE:
vmm.mm/.
£0L'6€E
LLE6E"
025°6¢"
6ZL6E
BEBHE-
FAda

088'L5—

S6ELL—

oLLeeh
16Y'ST —/.
€9L°GTL
€091

LYE'8TL
L4 4
862621
Lseeh \
626'EEL
20LLeL

828°0v1
80T Lyl

L06°%5L—

8L0°€9L—

0
Ph
CO,Me

Iz /

1 (ppm)

T T T T T T T T
160 150 140 130 120 110 100 20

T
170

110



3I-*H NMR (400 MHz, DMSO-ds)

995°6—

o

L

I

Ph

0

e =4 _/

]

CO,Me

6oL
Feo't

Fwe

=00€

=00

6610
SOV
+0Zs
=860

=0

960

95 90 85 80 75 70 65 60 55 (5.0) 45 40 35 30 25 20 15 10 05 00
ppm

10.0

31-*C NMR (100 MHz, DMSO-d5)

0T 0E
661 vE
£68'8E
201'6€
LLEBE
025'6€
82L'6E
LE6'6E
L 0F

SeLes—

989 LL—

NS.MNF
QWm.QN_. W
661vZ1

050921

20z°821
09€°8Z1
6LY'8TL \
¥26°0¢1L
S68°VEL
9€L'SEL \
65¥'8EL

mtdv—.\

L09¥SL—

048291 —

=

Cl

Ph

CO,Me

40

70

80

 (ppm)

T T T T T T
160 150 140 130 120 110

T
170

111



3m-"H NMR (400 MHz, DMSO-ds)

0506—

Ph

COMe

Lo
0¢
6L

Fsiz

Feoe

=0k

Feo
L
60
€T

oot

Fero

9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 “ (%gm] 4.5 4.0 35 3.0 25 2.0 1.5 1.0 0.5 0.0
3m-C NMR (100 MHz, DMSO-ds)

10.0

868°LL—

00L0E

eBLYE
€68'8E
20L'6E

LIE'BE
0Z5'6E
BZL6E
LEB'BE
avior

296'L6—

06t LL—

mmo.mmr
whmdﬁ
890722}

€ZE'BZL >

6EV'8ZL
680°0E - \
LIE0E} .\
S59ZEL
Sov'sEl
ZEGGEL \

8L19EL
SSL0vL

266'FSL—

G829 —

Ph

0COMe

e
Lo
e
L 2
~N
L 2
@
Lo
-
Lo
L
L 2
@«
B ~
a
r88 —
=
[=3
=]
2
o
e
=
(=3
Iy
(=]
r<
[=3
F
b
f=3
I ©
e
FR




3n-'H NMR (400 MHz, DMSO-ds)

aruc

1502

2602
90121
0ZL'ey

8ECT
v 2
8522
vieZy
€822

1672
9612

50671
6052
Iz g
0vL2+
£0s 7L

9LLZ
9812~
0082

1282

=

seee

¥e9e—
66—

1689
689
€L0°L
SLLVL
BLLL
S8lL
961°L

vieL
alz's
2oTL
BlZ'L
18T°L

€284
ohg—

19E6—

(o]

=

Ph

COMe

8Lk
1
801

€02

=L0€
~—90'¢

=00'L

060

4.0 35 3.0 25 20 1.5 10 05 0.0

6.5 6.0 5.5 4.5

3n-C NMR (100 MHz, CD0D)

70

95 9.0 85 8.0 7.5

10.0

1 (ppm)

SLE'GL—

—

199'8L—

m@m,mw_.
mmfhw_./

162621
YEE'6ZL
€156ZL
€LS'621
00L0E}

o9zl
195°EEL
0E6°LEL
mrm.mw_.\.

se9 251
18eLoL—
602991,

Ph

0CO;Me

160 150 140 130 120 10 100 90 80 70 60 50 40 30 20 10
1 (ppm)

170

113



30-'H NMR (400 MHz, DMSO-ds)

vouc

6L
1A
€91'T
8L1'Z
SSTT
2T
6.2°C

2067
9lET
ZEeT
T
16T
6T
00521

5052 W

LT
ezl

BPLZ
ZLLT
98LT
0182

0E8'C

62€°¢

289°e—

Los'e

€296 —

0

Cl
B

CO,Me

Feot
f-e0'1

Farz

=00'¢

0

=0t
60'L
Wuv‘v

oot

oo

=560

35 3.0 25 20 15 1.0 0.5 0.0

40

45

6.0 55

30-*C NMR (100 MHz, DMSO-ds)

95 9.0 85 8.0 75 7.0 6.5

10.0

1 (ppm)

891°0¢
000,5/

¥68'8¢
€01°6E
LLE6E

025'6€

L

VLT
8E6'6E
Lyl 0F

1eTee—

YERLL—

0829 —

lagszi
L18'521
§s0°9Z1

pLg9ZIE
£9'821

ey
00L°EEb~.
0E9'PEL—
186'9E1—
155281
EPLOPL

L97'¥51—

ze8egl—

(o]

=

Cl

COMe

J

30

40

: T T T T
120 10 100 90 80 70 60
f1 (ppm)

T
130

T
140

T
170

114



3p-'H NMR (400 MHz, DMSO-d5)

8296—

0

Iz

=

OCOMe

601

Fo01

Forz

e

00

9.5 9.0 8.5 8.0 75 7.0 6.5 6.0 5.5 # (%gm] 4.5 4.0 35 3.0 25 20 15 1.0 0.5 0.0
3p-"*C NMR (100 MHz, DMSO-ds)

10.0

Li10e—
LBLPE

mmm‘mm./
Z0L'6E
LLE'6E-

025°6%
6ZL'6E
LEG'GE
orLor
Lares—

Se9LL—

85551 —

188291 —

0CO,Me

20

30

100 70
1 (ppm)
115

110

T
120

T T
150 140

T
160

T
170



3g-"H NMR (400 MHz, DMSO-d5)

Ph

Iz /

CO,E

=IEE

Ts01
ot

Feoz

104

=00k

6.0

3g-"*C NMR (100 MHz, DMSO-ds)

6.5

w00’k
ez
(444
8L
~50'L

8.0 75 7.0

8.5

9.0

Tu60

8.5

10.0

5.0 4.5 4.0 3.5 3.0 25 20 1.5 10 0.5 0.0

11 (ppm)

55

LIS —

BIZ0E—
9/6'vE
nmm,mm/
ZOL'6E
LLE'6E
0Z5'6E
6ZL6E
LEB'BE
9¥L°0F

28509 —

e LL—

E....‘vmr
mmc‘mw,.
140921
2ez'9zk
G81'8ZL
ose'szl
Srir8zl

0EF6ZL
€Z96CL
£86°0EL
Z86'vEL
zzTleL

areorl

04y ¥SL—

aloegl—

Ph

(o]

0CO,E!

1 (ppm)

T
100

T T
160 150

T
170

116



0000—

-

T

1

LA A

S¥o'leE—

or9'se—

10

20

30

40

50

60

70

80

117

920
f1 (ppm)

Ph
CO,iPr

3r-'H NMR (400 MHz, CDCl3)

o
w0
Lo
o
La o
o —
C 669°¥Z1
L2 mw " )r
o =2
s o
o
2 2
120veL—
. o
s =2 120691 —
zZ
w
2O
[e2]
—
o |
-2 Muw

110 100

120

Ph
COiPr
150 140

160

170

180



3s-"H NMR (400 MHz, DMSO-ds)

Ph

0

= /

COznBu

~00'} -
0€2
ZEY|

T

=00k |

0.0

85 8.0 75 70 8.5 6.0 55 " aﬁgm) 45
3s5-*C NMR (100 MHz, CDCl5)

2.0

9.5

058'EL—

ZLEL—

SHO'LE
£V0" —mw..
¥09°5E—

99.°69—

oL
091744
2IELL

6Ly LL

086521
m.‘m.u«_k
S9TBZI~
8r9'8ZL

ncw.wN—%

9Z5°0EL

PeIPsL—

v —

o]

=z

Ph

OCO;nBu

—_—

30 20 10

40

80 70 60

f1 (ppm)

110 100 20

120

160

170

118



3t-"H NMR (400 MHz, DMSO-ds)

i Lo
o
0
Fro
Le
o pad
E|
0
Fe
| Lo 168'8¢
) o 201°6€
1602 1LEBE
mmq.w © 025'6%
0052 ] Fa 62168
5052 866'6¢
685E LyLop
Sn.m/ Le
EIEE . T Ye6'LG—
mwm,mw -u —8o
156°¢ - Fee
219 o[-
089°E - =v0e
889°¢
L2
3 Al
w
A e LL—
LG £
22es Frag
88ES =0
WES I
056G
£5€'s
o
= —~
© ©
e
1
w
e O
)
pakoy -— Lo S mw
E89 ~ g
BbY SZh
SZE'L veoe 0O owsa
vee'L sy . obLezL
o heozt LPE8Zh~
51\ ~ N e
18yl I mwm.wm_%
) = ¥Za'6eh
LN B ™ = SHO'LEL
e e — =00l 998'¥EL
91 £z O goseer
g Lo mu_ BH LEL
o, S
= ) e
M 206'vS1—
PEEE— -— Fs60 - =
Mo O 8bLZoL—
%)
o
=1 L
- 1
-
(90

70

80

1 (ppm)
119

140 130 120 110 100 90

Ph
CO,Me

=
150

160

170




3u-'H NMR (400 MHz, CDClI3)

0000-—

Ze9'L—

¥L0E
L6O'E:
601°E
9zre

Z8E°C
00r'e
LIr'E
108"
v—@.mv.

8LL'G
18L'S
G6L'S
861°S
2ITS
SIT'S

96€'9—
g9
V6T L
662°L
2S€°L
SiE'L
8eyi—

LE9°L
oro'L
859°L
199°L

9ze'ga—

0
Ph
0CO,Me

=

Ph

_—_

Feot

FuwoL

Foze

Fe60
60

£2°¢
#0'e
bz
bgoy

Fes0

6.0

6.5

7.0

75

8.0

85

9.0

9.5

10.0

3u-C NMR (100 MHz, CDCls)

4.5 4.0 3.5 3.0 25 20 15 1.0 0.5 0.0

5.0
1 (ppm)

55

SoL'or—

968'26—

Zr8'9.L
09L°LL
BLV'LL
S09°LL

L¥6'92L
€20°221
009221
9eLLZL
[A%-R:14%
S¥8'8ZL
016821
L0621
Ly0'62L
SlLe2k

69621
296'624
8Z8'VEL
mwm.cﬂ_.v.
Sm.wm_%
n?.mm_\

V65 6EL

08L'¥S5L—

69829 —

(o]

=

Ph
0OCO;Me

Ph

A

40

80 70 60

f1 (ppm)
120

T
100




3v-'H NMR (400 MHz, DMSO-de)

£88'F
288
868'F

108

0

=

COMe

F0LE

00L

7.0 6.5 6.0 5.5 5.0 4.5 4.0 35 3.0 25 20 15 1.0 0.5 0.0
1 (ppm)

7.5

9.0 85 8.0
3v-3C NMR (100 MHz, DMSO-ds)

9.5

10.0

9105z
1rL's2
189°5Z—
mé.wm\
986'92
£68'8€
20166
1LE'6E
025'6€
62L'6E
1€6'6€
ovL'ov
9z oy
10615 —

9218

wmmww_
RIS
575921
90¥'62Z4

ﬁm,mﬂw
9ZB0EL
VBOVEL,
0 LEL

E¥EVSL—

16291 —

(o]

=

CO,Me

20

40

60

T
70

T
90

T T T T T T
160 1560 140 130 120 110

T
170

1 (ppm)

121



3w-"H NMR (400 MHz, DMSO-ds)

868'%
L06'F
€8P

96

9169
ONm..wV
§....V.

681,

vize
6128
Leze

S¥S6—

Iz

COMe

—09's

oL
—6Lg

=0e

00k

=00k

5610

Feso

9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 ﬁ?.(] ) 4.5 4.0 3.5 3.0 25 2.0 15 1.0 0.5 0.0
Ppm,
3w-C NMR (100 MHz, DMSO-ds)

10.0

¥BE 18—

EEL'OZL
9LL'12)
£61'821

€89'8Z1
:a,mm_W
L9S'0E L

96F'SEL~
800'96L~"

EEB'PSL—

al6z9l—

=

Cl

0COMe

1 (ppm)
122

T T T T T
140 130 120 110 100 90

T
150

T
170




3x-'H NMR (400 MHz, DMSO-de)

z88'F
88w
168'F

006+

£P6'9-

69
B
o

6218~
05Lg"

1896—

0

=

Cl

COMe

=9z's

—s0'e

=00k

=

=€EL

=204

=00k

inn 741 ]

9.5 9.0 8.5 8.0 75 7.0 6.5 6.0 55 ”(5.0) 45 4.0 35 3.0 25 20 1.5 1.0 0.5 0.0
ppm
3x-3C NMR (100 MHz, DMSO-ds)

10.0

520'52
55162
¥69'52—
mS..ﬁA.
£50°12
£68'9¢
Z01°6¢
LEBE

9FL 0
vHE O
volzs—

025°0F
8ZL'6E
LE6'6E

09g°L8—

904 H2 b~y
29 vZL
eLe8eL~
041624

se0eL”
£6LPEL

698'1E TI\.
0ErgEL~"

0L P51 —

Sv629L—

=

Cl

OCO,Me

—

20

1 (ppm)
123




3y-"H NMR (400 MHz, DMSO-ds)

0.0

0.5

10

L‘l ad
25 20 1.5

3.0

35

i

55 50 45 40
f1 (ppm)

6.0

6.5

7.0

32%
oL

S8

SEPE—

75

8.0

AT}
9518
Zie

CO;Me
8.5

9.0

9.5

3y-1*C NMR (100 MHz, DMSO-ds)

10.0

0v8'gk
296 mrv

8L0'lE—
£68'8€
20168
LLE'BE
025'6€
8ZL'6E
LEG'BE
9L 0%

LEG'LS—

v88'18—

926 ¥ZL
eez ez
967921~
20V 621

129 mw:a
L8808
060'vEL 7,
190451

EPEFSL—

£96291L—

CO Me
150 140 130 120 110 100 90 80 70 680
1 (ppm)
124

160

170




3z-'H NMR (400 MHz, DMSO-dg)

980
.80
2890
2680

G689
0ZE'L
62€'L
LPEL
L
YL
Sor'L

I6v'Z
S6r'T
005
505

60S'T

299e—

501G

28e6—

0

==

CO,Me

=gze
6L
Feoz|

Feou
Feotf

=I0E

Foo'L

6.0

6.5

650
0L

h\mo.w

7.5

3z-C NMR (100 MHz, DMSO-ds)

8.5

9.0

E60

9.5

10.0

50 45 40 35 30 25 20 15 1.0 05 00
1 (ppm)

55

70

9Z8EL—

L2612~
60L€C—

656'06—
$E6EE
€016
zIc6e:
0256
6266
866

188°15—

ZeL8L—

amm.a.wr
18161
6079zt
6v1 62t

mmmdm-%
qmmdmv\.
LeEGEL 7
L80°LEL

968'¥51—

SPO'E9L—

=

0CO,Me

20

40

T T T T T T
160 150 140 130 120 10

T
170

125



4a-*H NMR (400 MHz, CD30D)

Ziee
Z5EE
266°€

6SLE
69L€
€LLE
61L€
LeL'E

BpeE-

BG4
z91'4
3198
161°2
L0Z'L
ST L
0€T°Ly
EVTL

18271
29T°Ly
667 L1
BLEL
18871
6EY L
rAL

8Gt "L W
L9¥" LA

LY L
08¥L~

gl
[3::8
168

006°L

COOMe

Ph

20T

960
M_.mwc.m
A¥LE
Wof._.

oLl

=00k

w
(=3
o
w
[=1
o~
w
o~
o
S
w
(23
o
-
w
-t
B
oQ
ne
w
w
<
w
o
- NG)
o
. 0
=0
o N
~ I
=
N e
o
w
P -
[a g
s S
Z
s O
o
1_
S ®©
o<

LEPEE
16 _..vnW
90F'¥E

09e°8Y
€581
L8L81
000°6F
LT 6
herAgdcig
0v9'6Y

0EL'ES
¥06'28—

919'6.—

¥869C)
€2E8CL
eryeet
09821
LLLgeL
190621
rrveTl
cesect
1e6ZEL \.
980°FEL
PLOBEL
zB T —

150891 —

LELL—

I”

COOMe
Ph

HO

T T T T T T T T T T
170 160 150 140 130 120 110 100 90 80
1 (ppm)

T
180

126



4b-*H NMR (400 MHz, CD;0D)

o
K=}
w0
re
L2
bt - 560 12—
6£8'} Lo
Fect
858} P oo
898} Fozz| o
189} 2 ot
0292 - —m2| .
Yeos - o BZLB
4 = el BEEE
5197~ seire
Gy Rl @
ahe ~ oA oiEze—
PSLE) = 560
€876~ = X
LOE'E J )
SOE'E ez ©
e = =10k BlIEoe—
EIEE 10
Liee Lo
vert EirE—
¥oLE
Z9LE | v
8LE ©
98LE ~
. o o m
Ry of
=
0
[ o
LS
i a
n
. Fo @) wEST
v O BLTE
o2 O wo
s wie () ek
ol L - Loez| = T
S == Lz -~ WrEC
s ez N weszl
VgL L T meee—
x&.»N N
e : M S8,
VAL LN, = =90t BIEZPL
06LL" - s S
2 S
3 —
m - ” N
Q
Z 2 nd
°© Lo M ESYOI—
Tz
oLEI—
le O
)
!
2 Q9
o
- 4

127

1 {ppm)

180




Le0'L
6E0°L

¥G0'L
090°Z

29021
890°Z |
81 'L
1L
15127
SV LY
961°L
eI L~
N_&@
8522
8.Z°1

2261
6L
86

€96'L

NH

4c-'H NMR (400 MHz, CD;0D)

COOMe

Ph

HO

I

T

oy
8
S

6Z°€
th‘w [

=80k

T

T

w
=t
£
S8
w0
w
ﬁ)
. 0O
< Q
[+2]
s 0O
O
. =
o
o
CREE o |
0 N
o
s =
zZ
ENNS)
o
—
L= |
s 0O
L

L0v'EE
_.QO,EW
€L YE

29¢°8Y
7L5°8%
98L'8F

000'6%
PiTBb
926y
6E9'6Y

26L'ES
2819 —

98Y'GL—

ZBZ'SLL
vISSH
865'GHL

£28'GH
gze'seh
166'92L
eree fW
SPS6EL
L0¥'1EL
905°1E f%‘

vow.—wfv.

961 Lv1
8agzvl

GOSELL—

COOMe

Ph

——

30

60

. . T T r T T T T
170 160 150 140 130 120 110 100 90
1 (ppm)

180

128



YE_NMR spectrum of 4c (100 MHz, CDs0D)

—008
8538
gs88s8
(N
0
NH
COOMe
F Ph
HO
I
—— M e T
30 20 10 0 -0 -20 30 40 -50 -60 70 -80 0 m P 140 -160 -180 -200 220 -240
ppm

129



4d-*H NMR (400 MHz, CD;0D)

10E't
B
128t
ER
FoBE:
PoT
ST
50T

0BT
LUBT
SERT

HET
05HE~
BLE"y
PRET
BT
62T
BT
BBET
HET
ISET
eE
LT
ZLLE
BBLT

DeEr—

~ A,
_IifCICI Me
HO

|
o

Eeoe

Foo
Fook
o0k
5001
=F0E

Foot

Z0°L
POT
13V r4
Megd

0.0

0.5

85 80 75 70 6.5 60 55 50 45 4.0 35 30 25 20 15
1 (ppm)

9.0

4d-*C NMR (100 MHz, CD;0D)

B9EEE
wmm.nnw
8BEFE

L9E'8
SL5°8Y
88L'8Y

000'6%

6Z16Y
LBy
[clils
LzZv'er
0¥9'6F
SOT'ES

6E8'L9—

BYY'SL—

010°221
88y ._NLr
185821
el6 Bzt
Lr6TL
L5621
0LZ'0EL
£96'6E1
veLor
yi8erl"

2e0L9L—

9ZSELL—

COOMe

Ph

cl

HO

170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10
1 (ppm)

180

130



4e-'H NMR (400 MHz, CD;0D)

evk’L
09L'L
8LLL
961°L
eTLf
L
29TL
18z'L

£6F'L
SiSL
08LL
0082

COOMe

Ph

Br

HO

=oLe

Fuw
F960|
060
60

001

T
6.0

6.5

7.0

S0°€
s0C
=20

75

=060

8.0

85

4e-*C NMR (100 MHz, CD3;0D)

9.5

10.0

5.0 45 4.0 35 3.0 25 20 15 1.0 0.5 0.0
1 (ppm)

55

18EEC
mrm.mnw
00v¥e

19E'87
GLS'8y
8887

B

S

ey
ELT6Y
2Zv6r
0r9'67

LETES

oveL9—

Yor'SL—

8iv'8CL
6zl
cmm‘ﬂ—v.
192°0€L
019°LEL
vL6LEL
ZIE0PL—
P8 TYL—

00 L2k
mnw.huw%

LOL 29—

reL—

COOMe

Ph

Br

HO

40

T T T T T
130 120 10 100 90 80

T
140

T
170

1 (ppm)

131



4f-'H NMR (400 MHz, DMSO-dg)

96k

= Tl

= 860

- o060

PLVL
6l

0zL
¥EZ L
1822
1971

5821

Z8E'L
58€°L
1881
966
£0v'L ]

BL¥L
vl
verlL
Sov'L

£05°L
Peo'L

569°L
80L°L
ELLL
9Ll
740

0.8°L
288°L

COOMe
Ph

HO

Ph

=0l
+L0E

00’k

9.5 9.0 8.5 8.0 75 7.0 6.5 6.0 5.5 5.0 4.5 4.0 35 3.0 25 20 15 1.0 0.5 0.0
1 (ppm)

10.0

4f-*C NMR (100 MHz, DMSO-dg)

96126
9stZE
wﬁ,mmw

LLEBE

025'6€
6ZL6E
LEG'BE
9L oF

ZBEZG—

€L5'99—

9Z8'EL—

oLz'szh
SbL'SZL
B8S6'SZL
SOr'ozZL
568921
00L° 221
€E0'8ZL
08L'8zl
L0E°821
Z5e°8TL

062k
#B60°EEL
125°LEL

EVE6EL
B8E6' LIl
¥9L2rL
299kl

ESEYOL—
¥re Lo —

00L2LL—

COOMe
Ph

HO

Ph

-1

10 100 90 80 70 60 50 40 30 20 10
1 (ppm)

120

170 160 150 140

180

132



4g-"H NMR (400 MHz, CD;0D)

9ze't
€8
6E8'L

€581
S98°
€81

P9z
8292
6v92

6992
v68Z
2162
1262
Bc.m%
zve
asze

60E'E
riee
€95
SSLE
89L€
SLLE
8L¢€

628

NH

COOMe

HO

Frze

=10%€
Foul
bz
660
00l

=10€
00L

1ze
SE'T
uﬂ 10T
@Z

=860

2.0 1.5 1.0 0.5 0.0

25

3.0

3.5

4.0

7.5 7.0 6.5 6.0 55 5.0 4.5
1 (ppm)
49-3C NMR (100 MHz, CD;0D)

8.0

8.5

9.5 9.0

10.0

090° 12—

LEY'EE
9 —m.mnw
20 vE

09€'8Y
Ti5'8Y
S8L'8Y
000'6%
Ziz6r
rerey
LE9'6F
001L°€S

166°29—

9¥9'GL—

L6921
205°821
zeLezl
866821

9EY'6ZL
Voveer)
108°¥€L
O YEL
oreeel
6L8°2PL—

692°89L—

9SLELL—

NH

COOMe

Ph

HO

re
Lo
=]
| o
o~
L9
«
o
=
Lo
3
Lo
3
Lo
R
Lo
«©
E ™
&
|%m o
= —
=z
o
re
o
|3
o
F o
o
i=1
F®
@
=4
Fe
b
=1
o
i=4
[&
o
R
=
o
=]




4h-'H NMR (400 MHz, CDCl5)

0000-—
WLy
€541
294
9L
68L°} 1
208°1 1
S84
28l

e Lo
£98'1 4
188°L
9881~
168'L-]
av]

554
Sﬁwu/
%m.wp

6E6T
296 —

EELE~

PLEE
089 m/

¥6LE
66L°€
128t

9z8'e

NH

Ph

COOMe

HO

Fesz

=61t
(113
1oL

Feol

=00
=20’

00k
TFook

=02
ez
=00

0.0

95 9.0 85 8.0 75 7.0 6.5 6.0 55 “ (5.0 ) 45 4.0 35 3.0 25 20 15 1.0 0.5
Ppm
4h-**C NMR (100 MHz, CDCl3)

10.0

(AW A
BLPZE
09 mmt./n

GLe'es—

00¥'89—
PATA-TA
NE,_.K./
09L°LL
BIVLL

80L0LL—

862921
veastt S
8.9'821
EEL'BZL

SLVIpL~
0E0ZYL~"

SELVLFL—

FIZ6SL—

€8STLL—

|

COOMe

T T T T T T T T
160 150 140 130 120 110 100 90
1 (ppm)

T
170

134



4i-*H NMR (400 MHz, CDCls)

0000-—

388538

LERREERLEEE

98997
8689
151
vS1L
8512
9012
SLV L
Ve
1812
Z61"2
B61'L

02 L)
WEL
vz 1
8521
€Lz
hhw‘h.;

5

6z L]
SE@
205°L

Ph

COOMe

HO

=960
g5t
‘ezz
00}

60 55 50 45 40 35 30 25 20 15 10 05 00
1 (ppm)

6.5

7.0

4i-C NMR (100 MHz, CDCl5)

9.5 9.0 8.5 8.0 7.5

10.0

9SG 0E~_
SPZE~—
Loeee”

69L°66—

18€'89—
661°GL
_.vm.‘o._./.
09 f‘hhw
BLY'LL

(445 143
uno.nu—k
615821
B£9'8Z1
1L ww—\
VEGZEL

SOY' byh~
6E6'ZYL—

LOEE9L—

£8G°ZL —

Ph

COOMe

HO

20

T T T T
120 10 100 90 80
f1 (ppm)

T
130

T T
160 150

T
170

135



4j-*H NMR (400 MHz, CDCls)

0000

£699—

g
o

L

83
N

zoT'L

353§
AN

COOMe

Ph

HO

Fooz
o0z

~BLS
=200
,00°L
<00°L

EE0Y

z60

=00'¢
~6LT

6.0 5.5 5.0 4.5 4.0 35 3.0 25 20 1.5 1.0 0.5 0.0
f1 (ppm)

9.0 85 8.0 75 7.0 6.5
4j-C NMR (100 MHz, CDCl5)

9.5

10.0

064V

42962

890°ES—

Zrie—
662'SL
n..n.EW
091'LL
svisl

801921~
£85'921

azowzl
o0ze'Lel”

EEVIPLI—

205°ES1—

625'991—

BFLELL—

COOMe

Ph

100 90
1 (ppm)

T
110

T
120

T T
160 150

T
170

136



4k-'H NMR (400 MHz, CD;0D)

P

COOEt

Ph

HO

Feve

9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 “ (sbgm) 4.5
4k-**C NMR (100 MHz, CD50D)

9.5

10.0

egTrL—

ZIVEE
_.o.w.v‘mw
205°vE
09€°8Y
.58y
98L'8y
000'6%
[AT44
YZr'er
BE9'6Y
808°C8—

bigLo—

LLEGL—

oov'eziL

£16'921
33&%
198821
qumurw
9EvezL
6E5'6ZL .\
s0o Vel
SE0EEL
189251 —

8¥Z89l —

8ETELL—

COOEt

Ph

HO

50

1 (ppm)

F 8=

T T T T T T T
160 150 140 130 120 110 100

T
170

137



41-*H NMR (400 MHz, CD;0D)

1660
6E0°}
SS0°L
oze'h

€E6'L

156°1

=

—

COOQiPr

Ph

HO

= TE
e

Feez

Fe0'k
0L

€01
90

=00'L

=60

95 90 85 8.0 75 7.0 6.5 6.0 5.5 5.0 45 40 35 3.0 25 2.0 15 1.0 0.5 0.0
1 (ppm)

10.0

41-3C NMR (100 MHz, CD;0D)

vmm,.w
BEL fNV'

L2VEE
wnv,vnw
L98FE

09E'8t
vLS'8Y
BBL'BY

000'6%
[4%44
Eradag

0F9'6l

68619
9180,
95164~

166°9Z1
—mm‘nm_‘./.

SLE°82)
vE0'6ZL
65’621
195°621
C96EEL

810951
8162pl"

06891 —
ELBTLL—

COOQiPr

Ph

HO

10

20

40

50

70

o
]
£ 0
oQ
QW o

170 160 150 140 130 120 110 100

180



4m-*H NMR (400 MHz, CD30D)

COOnBu

Ph

HO

=20

ez

Faz
Froz

Feou
00t
=00t
=890

o0k
Fzoz

00
oL'e
g0t

=00'L

9.5 9.0 8.5 8.0 75 7.0 6.5 6.0 5.5 “ (E;:;gm) 4.5 4.0 3.5 3.0 25 20 1.5 1.0 0.5 0.0
4m-C NMR (100 MHz, CD;0D)

10.0

19BEL—

8€6'61—

955°LE
aopec
erve—r
Ieave
09E'8%
YL58Y
8.8
00061
ZLz6l
9z 6t
0r9'6

98Y'99~—
0v0'89—

B6EP'SL—

L16'921
L1€'82 _W

0S¥'8Zh
688'8Z1
PI0'6Z 1
Wrezi
BES'6TH
BLOVEL ;\‘
Lr0'8E L

606ZYL

282891 —

06E'E€LL—

COOnBu

Ph

HO

T T T T T T T T T
170 160 150 140 130 120 10 100 90 80
f1 (ppm)

T
180

139



COOMe
Ph

HO

4n-'H NMR (400 MHz, DMSO-dg)

(=]
Fe
e}
Fo
Le
E
L@
Le ek
o £01'6€
ZLEBE
0256
— e 6ZL6E
_ : $E6'6E
= 2ot ipLop
-= 00l o
Mo 18825
= =Ll
22
BH0E o
N 695'99—
Fe60 2
<
90£°GL—
| w
<
£
Fag
sy
e T880|
M6
o ~—
L2 ©
<
e O
w0
o M LYB'STl
I (&) m_m‘uﬂ/
=60 ve0'Lel
619 ~ 888Uzl
g0l N igeuzt
~ T eseuz
S19°'6Z)
=00k > exe A
Le 090281
=z60| © O  sreesl
o
n —
fe N~
(=]
e =2
Z  rore—
wn
e O
™ 2 —
a TeLTL
o 1
= c
<

30

40

50

80

140

90
f1 (ppm)

130 120 110 100

COOMe
HO Ph
150 140

160

170




40-*H NMR (400 MHz, CD30D)

89— -

0z6'L

NH

H

MeO

60T
sOVEN
=0l

6.0

6.5

40-3C NMR (100 MHz, CD;0D)

7.0

Z 0L
TE0L
601

75

8.0

8.5

T
9.0

9.5

10.0

5.0 45 4.0 35 3.0 25 2.0 1.5 1.0 05 0.0
1 (ppm)

55

8yo8L—
Silie—

9EELE—
Br0sE—

29e'8t
S.5°8F
18L°8F
000°6%
viZ'6Y

pragdig
BE9 B
C90'ES
AT P

166'6L—

aLz'ezl
Sly'8zh
£69'8Z1

666821
280VEL—

ESHBEL—

250891 —

ovEvil—

MeOC I,

re
L e
E
Lo
S
Lo
8
Lo
2
Lo
3
LR
|y =
@
m. —
Lo <+
[ NN
= —
b
[=]
]
S
L e
L&
(=3
Fe
b
f=3
Fw
8
f=3
F o
2
LR




4p-*H NMR (400 MHz, CD;0D)

olgvr—

COOMe

HO

Fies

Fore

Nvot
oL
—10E
SO0

fla)
288

95 9.0 85 8.0 75 7.0 6.5 6.0 55 “ (.‘;.gm) 45 4.0 35 30 25 20 1.5 1.0 05 0.0
4p-*C NMR (100 MHz, CD50D)

10.0

86EVL—

LL9ET~
0¥z LT
mmw.k.NV
L182TE
_.._vh.NnV
8ZLYE~"

(314
LS8
18181
0006
E1Z6t

nwv.mv
mmw.mv
960°ES

168°29—

ZoL—

L6z'8zZL
09821
EvLBEL

r90'6ZL
890°FEL—

8LL'8EL—

220891 —

VI8ELL—

COOMe

HO

160 150 140 130 120 110 100 90 70
1 (ppm)
142

T
170




49-'H NMR (400 MHz, CD;0D)

vab b
09L'L
1
YA
orT’L
8Tl
45T}
[7x4%

L0E7)

988y

€8z
20e'L
¥2EL

Z9E'L
€LVL
oL
6L
S6Y'L
Le'L
vISL
1684~
6L

MeQ,C H

FeseT
6LE

F90E
Fovi

6.0

6.5

7.0

75

4g-"*C NMR (100 MHz, CD;0D)

9.0 8.5 8.0

9.5

10.0

5.0 4.5

1 (ppm)

55

€6L°LT:
_.—m‘nNW-
09v'LZ:
mww‘mwn\\v
wwm.mm\.
258'vE
08 Lr—
09€°8¥
€45°8%
181°8%

E1Z°6F
Sev'6¥
8E9'6F
WO'es

S6Y L9—

GBY'6L—

869821
¥66 921
20¥EL—

L6L'8ZL
mne.mw_.w

oreel—

¥E0'891L—

e riL—

MeO,C

T
100

T
170

T
180

1 (ppm)

143



7-'H NMR (400 MHz, DMSO-dg)

uvL
PN
09L°L

18211
6L H
208"}
09071

107
8071
£60Z1
w1z
Wz

JLEA N

16¥'2
%62
00s2

G052
€LY

GZE'E

8Ly
8LV
LY
LY

B0ES
e
6211
w124

8ZR'LL

Ph

0
OH

= /

Ph

Fes0

oot

\.ﬂ Fso0z
)
- Foo)

|J Fs60

15 10 105 100 95 90 85 80 75 70 65 “ (Gﬁgm) 55 50 45 40 35 30 25 20 15 10 05 00
13
7-°C NMR (100 MHz, DMSO-ds)

12.0

6¥9'99—

89€°GLL—

e
8¥G'SEL
L9V Q2L
443 F
€SL'ezL
(Lot
192'8Z1
£56'8C1
€69°CEL
LLLPEL
691 LE}
869°LE1
CTIS6EL
6022l

SZhI9L—

0

=z

Ph

Ph

OH

-

: .
100 90
1 (ppm)

10

T T
180 170

T
190

T
200

144



